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IDENTIFICATION

PRODUCT CODE: AC-TO052A-M(

PRODUCT NAME: CJKDIAQ 11/238B SLU LTC REPAIR

PRODUCT DATE: SEPT-81

MAINTAINER: DIAGNOSTIC ENGINEERING
THE INFORMATION IS THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT
NOTICE AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL
EQUIPMENT CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES NO

RESPONSIBILITY FOR ANY ERRORS THAT MAY APPEAR IN THIS
DOCUMENT.

NO RESPONSIBILITY IS ASSUMED FOR THE USE OR RELIABILITY OF

SOF TWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL OR ITS
AFFILIATED COMPANIES.

COPYRIGHT (C): 1982 BY DIGITAL EQUIPMENT CORPORATICN

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:
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APT MA]LBOX~E
ERROR POINTER
INITIALIZE TH
GET VALUE FOR
71 TEST
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13 TEST
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15 TEST
16 TEST
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T10 TEST
T11 TEST
712 TEST
713 TEST
T14 TEST
115 TEST
116 TEST
117 TEST
120 TEST
121 TEST
122 TEST
123 TEST
124 TEST
125 TEST

IONS
8LOCK

TABLE

TABLE
€ COMMON TAGS

SOF TWARE SWITCH REGISTER
ABILITY TO ACCESS SLUY T(CSR
ABILITY TO ACCESS SLU1 TBUF
SLUT TCSR BIT7(DONE) CLEARS WHEN XBUF IS LOADED
THAT SLUT TCSR ‘DONE'' SETS WITH RESET
ABILITY TO ACCESS SLU1 RCSR
ABILITY TO ACCESS SLU1 RBUF

THAT SLU1 BIT6(XMIT INT EN) CAN BE SET & RESET
THAT SLU1 BIT6 OF RCSR CAN BE SET & RESET
ABILITY TO ACCESS SLUZ TCSR
ABILITY TO ACCESS SLUZ TBUF
SLU2 TCSR BIT7(DONE) CLEARS WHEN XBUF IS LOADED
THAT SLU2 TCSR ''DONE'' SETS WITH RESET
ABILITY TO ACCESS SLUZ RCSR
ABILITY TO ACCESS SLUZ2 RBUF

SLU2 BITO(BREAK BIT) CAN BE SET & CLEARED & RESET
THAT SLU2 BITO6(XMIT INT EN) CAN BE SET & RESET
THAT SLUZ2 BITé6 OF RCSR CAN BE SET & RESET

THAT SLU2 RCVR DONE (7) SET & CLEAR PROPERLY
SLU2 THAT READING RBUF CLEARS RECEIVER DONE
ABILITY TO ACCESS LKS

THAT BIT6 OF LKS CAN BE SET & RESET

126 UNIQUE INTERNAL ADDRESS TEST

127 TEST
130 TEST
r31 TEST
132 TEST
733 TEST
134 TEST
T35 TEST
136 TEST
137 TEST
140 TEST
T41 TEST
142 TEST
T43 TEST
T44 TEST
145 TEST
T46 TEST
147 TEST
150 TEST
751 TEST
152 TEST
153 TEST

THAT SLU1 XMIT INTERRUPTS ONLY WHEN ENABLED
SLUT XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED
SLU1 TRANSMITTER FOR DOUBLE INTERRUPTS

THAT SLU1-XMIT INTERRUPT CLEARS WITH LOADING TBUF
THAT SLU2 XMIT INTERRUPTS ONLY WHEN ENABLED
SLU2 XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED
SLU2 TRANSMITTER FOR DOUBLE INTERRUPTS

THAT SLU2 XMIT INTERRUPT CLEARS WITH LOADING TBUF
THAT RCVR INTERRUPTS ONLY WHEN ENABLED

THAT RCVR INTERRUPTS DO NOT OCCUR WHEN DISABLED
SLU2 RECEIVER FOR DOUBLE INTERRUPTS

THAT RCVR INTERRUPT CLEARS BY READING RBUF

SLU2 THAT RESET CLEARS RECEIVE INTERRUPT

SLU2 THAT 'OVERRUN & ERROR'' BITS CAN BE SET
THAT BREAK TRANSMITS ALL ZEROES

THAT “FR'* ERROR CAN BE SET DURING BREAK

DATA PATHS USING WRAP CABLE

THAT THE REAL TIME CLOCK INTERRUPiS PROPERLY
RTC FOR DOUBLE INTERRUPTS

THAT RTC INTERRUPT CLEARS WITH RESET

ALL INTERNAL OPTIONS SIMULTANEOUSLY

END OF PASS ROUTINE

ERROR MESSAGE

TYPEOUT ROUTINE

POWER DOWN AND UP ROUTINES
SCOPE HANDLER ROUTINE
APT COMMUNICATIONS ROUTINE
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39 1.0 GENERAL PROGRAM INFORMATION
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100
}8} 1.1 ABSTRACT
103 THIS PROGRAM TESTS BOTH SERIAL LINE UNITS (SLU'S) AND THE LINE TIME
104 CLOCK (LTC) ON THE M8189 MODULE. ITS MAIN PURPOSE IS TO PROVIDE SCOPE
105 LOOPING FOR REPAIR PERSONNEL.

106 . ERROR TYPE-OUTS IDENTIFY A FUNCTION

107 BEING DONE OR A FUNCTION THAT FAILED AND TO WHAT LOGICAL PORTION OF
108 THE BOARD IT FAILED ON (I.E., TRIED TO SET BIT 6 ON CSR OF SLU1).
109 THIS PROGRAM IS BASICALLY A REWRITE OF THE DL11-wW DIAGNOSTIC AND
110 THEREFORE IS WRITTEN IN MACRO-11 USING THE SYSMAC MACRO PACKAGE. [T
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1S COMPATIBLE WITH ALL EXISTING MANUFACTURING AND FIELD SERVICE AUTO-
MATED TEST SYSTEMS.

1.2 SYSTEM REQUIREMENTS
A. HARDWARE REQUIREMENTS

- 11/238 CPU MODULE
- MINIMUM 8K OF MEMORY
-~ TURN AROUND JUMPER INSTALLED ON SLUZ2

B. SOFTWARE ENVIRONMENTS

- XXDP STAND-ALONE
XXDP CHAIN MODE
APT

ACT

SLIDE

1.3 RELATED DOCUMENTS AND STANDARDS
- DIAGNOSTIC ENGINEERING FUNCTIONAL SPECIFICATION FOR 11/24 ON
BOARD OPTIONS TEST
BGI~79-004-00-U

- STANDARD APT SYSTEM TO PDP-11 DIAGNOSTIC INTERFACE REV. 15
16=-FEBIUARY-76 APT SYSTEM GROUP

- DIAGNOSTIC ENGINEERING STANDARDS AND CONVENTIONS
175-003-009-02
1.4 PREREQUISITE DIAGNOSTICS

THIS PROGRAM ASSUMES THE CORRECT OPERATION OF THE CPU INSTRUCTION SET.
THIS IS TO BE VERIFIED BY EITHER.

CJKDBXX ggFTT-AA CPU DIAGNOSTIC
CJKDEXX F11 QUICK TEST

1.5 ASSUMPTIONS
IT IS ASSUMED THAT THE CONSOLE DEVICE THAT IS CONNECTED TO SLU1 IS OP-

ERATING CORRECTLY. IF THE TERMINAL IS NOT OPERATING CORRECTLY FALSE
INDICATIONS CAN BE EXPECTED.

2.0 OPERATING INSTRUCTIONS
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2.1 LOADING AND STARTING PROCEDURES
USE STANDARD PROCEDURE FOR PDP-11 ABSOLUTE BINARY FORMATTED TAPES.

2.1.1 STARTING PROCEDURE -

%?SD TH§72?ITCH REGISTER WITH SETTING (SOFTWARE SWITCH REGISTER LOCA-
N =

A.

START AT 200.

AFTER CHECKING THE TRANSMITTER, THE PROGRAM WILL PRINT ITS
IDENTIFICATION AND REPORT THE NUMBER OF DEVICCS UNDER TEST
(NUMBER IS OCTAL). "'END PASS'' IS PRINTED AFTER A FULL PASS
HAS BEEN MADE ON ALL DEVICES UNDER TEST.

START AT 204. xuwkNOTE dunn

THE "ECHO'' TEST WILL BE EXECUTED. AN ''*'' IS PRINTED AT THE
BEGINNING OF THE TEST. THE ECHO TEST READS A CHARACTER FROM
THE TERMINAL, WRITES THAT CHARACTER TO THE TERMINAL, AND RE-
PORTS ANY ERROR FLAGS SET IN THE RECEIVER BUFFER. A
CONTROL=C (~C) HALTS THE TEST AND PRINTS °''STOP’'' AT THE TERMI-
NAL CONTINUING RESTARTS THE ECHO TEST.

START AT 210.

akk kNOTEx*x %

THE TERMINAL QUTPUT TEST WILL BE EXECUTED. DEPRESSING ANY
CHARACTER AT THE TERMINAL HALTS THE TEST. CONTINUING RES-
TARTS THE TEST. THE TEST OUTPUTS 32 CHARACTERS ON A LINE AND
REPEATS THE PATTERN EVERY__THREE LINES. THE PATTERN IS AS
FOLLOWS (OCTAL CODE 040 =--> 377):

THIS BOTTOM LINE COULD BE THE FOLLOWING IF THE TERMINAL DOES
NOT HAVE LOWER CASE:

SABCDEFGHIJKLMNOPQRSTUVWXYZL [UPPER CASE ALPHA]

2.2 PROGRAM OPTIONS

HALT ON ERROR

SCOPE LOOP

INHIBIT ERROR TYPEOUT
UNUSED

UNUSED

INHIBIT ERROR FLAGS TEST
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BIT09 - LOOP ON ERROR

BIT08 = UNUSED

8IT07 - DISABLE SLU2 DATA TEST

BIT06 -~ INHIBIT LTC TESTS

BITO5 - INHIBIT ALL SLU TESTS (BOTH SLUS)
BIT04 - INHIBIT SLU1 TESTING

BIT03 - INHIBIT SLU2 TESTING

BIT02 = UNUSED

BITO1 - UNUSED

817100 = UNUSED

BUILT INTO THE PROGRAM IS THE ABILITY TO DYNAMICALLY CHANGE THE CON-
TENTS OF THE SOFTWARE SWITCH REGISTER DURING EXECUTION. TO DO THIS
THE OPERATOR MUST TYPE A ''CNTL G'' (TYPING A ''G'° WITH THE ‘''CTRL'' KEY
HELD DOWN AT THE SAME TIME). THIS IS PROCESSED AT KEY TIMES DURING
THE PROGRAM (I.E. ON ERRORS, IN BETWEEN EACH TEST). A PROBLEM (AN
OCCUR SINCE THE PROGRAM MAY BE TESTING THE SLU CONNECTED TO THE CON-
SOLE DEVICE . IF THIS HAPPENS IT

SHOULD NOT CAUSE AN ERROR BUT THE ''CNTL G'' MAY BE LOST, SO If THE PRO-
GRAM DOES NOT RESPOND TO THE FIRST ‘'CNTL G’ TYPE A FEW MORE UNTIL THE
sggggngux%a RECEIVED. WHEN THE ''CNTL G'' IS RECEIVED THE PROGRAM WILL

SWR = XXXXXX NEW =
WHERE XXXXXX 1S EQUAL TO THE PRESENT SWITCH REGISTER CONTENTS IN
OCTAL. THE OPERATOR CAN THEN TYPE;

1. <CR> IF NO CHANGES ARE TO BE MADE.

2. 6 DIGITS <CR> TO REPRESENT IN OCTAL THE NEW SWITCH REGISTER
SETTING.

CONTROL-U IF THE OPERATOR MAKES AN ERROR WHILE INPUTTING THE
NEW SWITCH REGISTER SETTING.

AN
.

2.3 EXECUTION TIMES

1ST PASS RUNTIME(WORST CASE).........cc..n.. 15 SECONDS
LONGEST TEST TIME......cocevesasvocnannnanns 12.5 SECONDS
ADDITIONAL RUN TIME(EXTRA UNITS)............ NONE

LONGEST PASS TIME......civirireeecnncnnnnnnn 15 SECONDS

3.0 ERROR INFORMATION

3.1 ERROR REPORTING PROCEDURES
IF A ROUTINE FAILS AND THE INHIBIT ERROR TYPEOUT (BIT13) OF THE SWR IS

SEQ 0008
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279 NOT SET, A PRINTOUT RESULTS IN THE FORM:
281 *'(SOME ASCII MESSAGE)"
282 TEST  ERR PC  RCSR  [ANY APPLICABLE DATA HEADINGS]
582 XXXXXX  XXXXXX  XXXXXX  [ANY APPLICABLE DATA]
285 NOTE: 'RCSR'* IS DEPENDENT ON THE FAILURE THEREFORE
286 COULD BE TCSR, RBUF, TBUR, OR LKS
288 WHERE "'’XXXXXX'' IS AN OCTAL NUMBER.
290 THIS ERROR PRINTOUT OCCURS PROVIDED THE ERROR THAT EXISTS WOULD NOT
291 HINDER THE TYPEOUT.  IN CASES WHERE IT IS NOT POSSIBLE TO PRINT AN
292 ERROR MESSAGF (1.E. ° FATAL "CONSOLE TRANSMITTER FAILURES), A  WALT
233 CCURS. (SEE SECTION 3.2 FOR ERROR HALT INFORMATION.)
295
2% NOTE
298 FOR SOFTWARE SWITCH  OPERATION,  THE
299 SWITCH REGISTER CAN BE HANGED BY TYPING
300 A CONTROL-G AT THE CONSOLE DURING ERROR
301 PRITNOUTS.  AFTER CONTINUING FROM THE
302 ERROR HALT THE OLD SWR CONTENTS IS DIS-
303 PLAYED AND THE NEW CONTENTS CAN BE EN-
304 TERED. IF ERROR HALTS ARE DISABLED, THE
305 CONTROL-G RESPONSE OCCURS IMMEDIATELY
306 FOLLOWING THE TYPEOUT.
307
308
309
310
311
312 3.2 ERROR HALTS
314 THERE ARE & ERRORS IN THIS PROGRAM THAT CAUSE A HALT.  THESE ERRORS
3 ARE IN TESTS 1, 2, AND 3.
|
317 TEST 1 ERROR - ACCESS TO SLUT TRANSMITTER (SR CAUSE TIME-OUT TRAP.
318 THIS PROBLEM WILL PROBABLY CAUSE AN INABILITY OF THE
319 MICRO-ODT TO RUN.
321 TEST 2 ERROR - ACCESS TO SLU1 TRANSMITTER DATA BUFFER CAUSED TIME-OUT
322 TRAP. _ THIS PROBLEM WILL PROBABLY CAUSE AN INABILITY OF
323 THE MICRO-ODT TO RUN.
325 TEST 3 ERROR - THE FIRST ERROR IS THAT DONE DID NOT CLEAR WHEN THE
326 TRANSMITTER BUFFER WAS FILLED AS IT SHOULD.
328 THE SECOND ERROR INDICATES "HAT DONE DID NOT RESET IN A
329 REASONABLE TIME AFTER THE DATA BUFFER WAS FILLED, INDI-
330 CATING THAT THE CHARACTER WAS NEVER TRANSMITTED.  THIS
331 COULD CAUSE_MICRO-ODT TO NOT RUN OR GARBLED OUTPUT FROM

THE MICRO-0DT.
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4.0 PERFORMANCE AND PROGRESS REPORTS
THE ONLY REPORT FROM TH1S PROGRAM OTHER THAN ERROR REPORTS IS THE END
PASS MESSAGE. IT IS IN THE FORM:
END PASS AXXXXX
WHERE XXXXX 1S THE DECIMAL NUMBER OF END OF PASSES COMPLETED.
5.0 DEVICE INFORMATION TABLES

SLUT RCSR
15 14 13 12 11 10 9 8 7 6 S5 4 3 2 1 0
I 1 1 1 I
I 1
1 1
RECEIVER DONE ===========ce=cooococeos I
RECEIVER INTERRUPT ENABLE =---===-=--==---
SLU1 RBUF
15 1% 13 12 11 10 9 8 7 6 5 & 3 2 1 0
I 1 1 1 1 1 1 1 1 1 1 1 11
1 1 1 1 I
I 1 1 1 I
ERROR- I 1 1 I
OVERRUN --= 1 1] I
FRAME ERROR --- 1 1
RECEIVE PARITY ==-- 1
ERROR I
RECEIVED DATA BITS (8,
SLUT XCSR
15 14 13 12 11 10 9 8 7 6 S & 3 2 1 0
I 1 11 I
11
TRANSMITTER READY ====-======c=cc-
TRANSMITTER INTERRUPT ENABLE ===-==-====~ I

SLUT XBUF

SEQ 0010
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15 14 13 12 11 10

1

TRANSMITTER DATA BITS (8)

LTC CSR
15 14 13 12 11 10

I

INTERRUPT ENABLE

SLU2 RCSR

15 14 13 12 11 10

[

RECEIVER DONE —-—

INTERRUPT ENABLE

SLU2 RBUF
15 164 13 12 11 10

1 1 1 1 1

I 1
I 1
ERROR - 1
OVERRUN ===
FRAME ERROR === ]
EECEIVER PARITY ===

mg By B Py
Py b Pg Py

Pt g g g Pmg g B ]

RROR
RECEIVER DATA BITS (8)

SLU2 XCSR
15 14 13 12 11 10

9

SEQ 0011
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TRANSMITTER DONE
INTERRUPT ENABLE
BREAK =—=====—cevccecccecmcscmeecmeessannne

Sy g
g Gy g
g G g Py

SLU2 XBUF
15 14

TRANSMITTER DATA BITS (8) =~--- ———- ———-

6.0 PROGRAM DESCRIPTION

6.1 PROGRAM EXECUTION CHARACTERISTICS

THIS PROGRAM TESTS ALL THE SELECTED DEVICES AS A SINGLE UNIT. IT
FIRST VERIFIES THAT ALL REGISTERS CAN BE ACCESSED, THE WRITEABLE BITS
ARE ABLE TO BE WRITTEN TO AND ARE UNIQUE ON ALL THREE DEVICES. IT
THEN CHECKS EACH DEVICE FOR INTERRUPTS AND FOR DATA RELIABILITY.
FINALLY IT SETS ALL SELECTED DEVICES UP TO GO AT THE SAME TIME ENABLES
INTERRUPTS AND STARTS THEM OFF. THIS TEST CHECKS SYSTEM INTERACTION.
WHEN ALL TESTS HAVE BEEN COMPLETED THE END OF PASS MESSAGE IS TYPED.

6.2 SUBTEST SUMMARIES

TEST1 TEST ABILITY TC ACCESS SLU1 TRANSMITTER CONTROL AND STATUS
REGISTER. HALTS IF ACCESS CAUSES TIMEOUT TRAP.

TEST2 TEST ABILITY TO ACCESS SLU1 TRANSMITTER BUFFER.  HALTS IF
ACCESS CAUSES TIMEOUT TRAP.

TEST3 TEST SLU1 TRANSMITTER BIT7 (DONE) CLEARS WHEN TRANSMITTER
BUFFER IS LOADED. THE BUFFER IS LOADED WHICH SHOULD CLEAR

SEQ 0012
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498 THE DONE BIT. AFTER IT IS VERIFIED THAT 'DONE'' CLEARS THE
499 PROGRAM WAITS TO RECEIVE DONE BACK AFTER THE DATA IS TRANS-
500 FERRED OUT OF THE BUFFER. IF DONE DOES NOT INITIALLY CLEAR
28; OR FAILS TO RESET THE PROGRAM HALTS.

503 TEST4 TEST THAT 3LU1 TRANSMITTER BIT7 (DONE) SETS WITH RESET. THE
504 TRANSMITTER BUFFER 1S LOADED WITH A CHARACTER, AS SOON AS
505 "DONE’‘ SETS A SECOND CHARACTER IS LOADED INTO THE BUFFER.
506 BECAUSE THE FIRST (CHARACTER IS STILL BEING SHIFTED OUT OF
507 THE UART 'DONE'' WILL NOT NORMALLY SET FOR AT LEAST 1 MS (DE-
508 PENDING ON BAUD RATE). THE PROGRAM ISSUES A RESET BEFORE
509 THF TIME IS UP AND IMMEDIATELY CHECKS FOR 'DONE’', IF IT IS

SET THE PROGRAM ASSUMES IT WAS SET BY THE RESET INS/RUCTION.
THIS ERROR DOES NOT CAUSE A HALT.

TESTS TEST ABILITY TO ACCESS SLUT RECEIVER CONTROL AND STATUS RE=~

?éi;ER. AN ERROR IS REPORTED IF ACCESS CAUSES A TIMEOUT

. TEST6 TEST ABILITY TO ACCESS SLU1 RECEIVER BUFFER. AN ERROR IS
REPORTED IF ACCESS CAUSES A TIMEOUT TRAP.

TEST10 TEST THAT SLUT TRANSMITTER INTERRUPT ENABLE (BIT6) (AN BE
SET AND RESET. THIS TEST CHECKS THAT THE BIT CAN BE WRITTEN
éeTg ﬁggcggﬁb. CLEARED BY WRITING A ZERO TO IT AND CLEARED

v -

TESTN TEST THAT SLU1 RECEIVER INTERRUPT ENABLE (BIT6) CAN BE SET
AND RESET. SAME TEST AS FOR TRANSMITTER INTERRUPT ENABLE.

TEST14 SAME AS TEST1 BUT DONE ONSLUZ2 AND ERROR DOES NOT CAUSE HALT.

’ TEST15 SAME AS TESTZ2 BUT FOR SLU2 AND ERROR DOES NOT CAUSE HALT.
TEST16 SAME AS TEST3 BUT FOR SLU2 AND ERROR DOES NOT CAUSE HALT.
TEST17-21 SAME AS TEST4-6 BUT FOR SLUZ.

OB WA= OO YR NS WA= OOV NANINND 2O

NN AN N VAU NN AN NN AN VWD A T LR AN
WWNINUV NN RN NONDNONNDININ R
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540 TEST22 TEST SLU2 BREAK BIT (BITO) CAN BE SET, CLEARED, AND RESET.
562 TEST23-26 SAME AS TEST 10-13 BUT FOR SLUZ.

544 TEST27 TEST ABILITY TO ACCESS LINE CLOCK STATUS REGISTER.  ERROR
545 REPORTED IF ACCESS CAUSES TIMEOUT TRAP.

547 TEST30 TEST THAT LINE CLOCK INTERRUPT ENABLE (BIT6) (*N BE SET,
548 CLEARED, AND °“RESET''.

551 TES132 UNIQUE INTERNAL ADDRESS TEST. THIS TEST WRITES A B8IT INTO
552 ONE OF THE DEVICE REGISTERS AND THEN VERIFIES THAT BIT IS
553 NOT SET IN OTHER REGISTERS. THE TEST IS REPEATED FOR OTHER
ggg REGISTERS.

556 TEST33 TEST THAT SLUY TRANSMITTER INTERRUPTS ONLY WHEN ENABLED.
557 THIS TEST (CHECKS THAT THE TRANSMITTER ONLY INTERRUPTS WHEN

ggg ITS INTERRUPT ENABLE BIT IS SET.

560 TEST34 TEST SLUT TRANSMITTER INTERRUPTS DO NOT OCCUR WHEN DISABLED.
561 THIS TEST (HECKS THAT THE TRANSMITTER DOES NOT INTERRUPT
562 WHEN THE PROCESSOR PRIORITY IS 7 OR THE INTERRUPT ENABLE BIT
ggz IS CLEARED.

565 TEST35 TEST SLUY TRANSMITTER FOR DOUBLE INTERRUPTS.  THIS TEST
566 FIRST (HECKS THAT THE TRANSMITTER CAN INTERRUPT THEN MAKES
567 SURE THAT ONLY ONE INTERRUPT IS REQUESTED FOR EACH SETTING
ggg OF 'DONE'’.

570 TEST36 TEST THAT SLU1 TRANSMITTER INTERRUPT CLEARS WITH LOADING OF
571 TRANSMITTER BUFFER. THIS TEST PUTS THE PROCESSOR AT 7, SETS
572 TRANSMITTER INTERRUPT ENABLE AND FILLS THE TRANSMITTER
573 BUFFER. WHEN ‘DONE'* SETS THE SLU SHOULD HAVE AN INTERRUPT
574 PENDING. THE PROGRAM THEN FILLS THE BUFFER AGAIN WHICH
g;g SHOULD CLEAR THE INTERRUPT.

378

ggg TEST46=57 SAME AS TESTS 33-44 EXCEPT FOR SLU2 INSTEAD OF SLU1

581 TEST60 TEST THAT BREAK TRANSMITS ALL [EROES. PUT ALL ONES INTO RE-
582 CEIVER BUFFER THEN ISSUE A BREAK THE RECEIVER BUFFER SHOULD
ggz CONTAIN ZEROES.

585 TESTHI TEST THAT FRAMING ERROR (BIT13) (AN BE SET DURING BREAK.
586 TRANSMIT A BREAK AND A CHARACTER JUST TO LET US KNOW WHEN TO
587 LOOK FOR THE ERROR BIT. WHEN RECEIVER °‘DONE'’ SETS BOTH
588 BREAK AND CHARACTER SHOULD BE THERE, CHECK FOR BIT 13 IN RE-
ggg CEIVER STATUS REGISTER.

591 TEST6Z TEST SLU2 DATA PATH USING WRAP (CABLE CONNECTOR.  SAME AS
592 TEST 45 ON SLU1.




¢ 2
CJKDIAQO 11/23B_SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 5-1
(JKDIA.P11 20-0CT~81 16:08 SE@ 0015

594 TEST63 TEST LINE TIME CLOCK INTERRUPTS PROPERLY.
TEST64 TEST LINE TIME CLOCK FOR DOUBLE INTERRUPTS.
598 TEST6S TEST THAT LINE TIME CLOCK INTERRUPT CLEARS WITH RESET.

601 TEST70 BLAST TEST. THIS TEST RUNS ALL SELECTED DEVICES SIMULTANE-
602 QUSLY IN_INTERRUPT MODE. AFTER 60 INTERRUPTS FROM THE LINE
603 CLOCK OR 256 (10) BYTES HAVE BEEN TRANSFERRED BY THE SLU'S
604 EVERYTHING IS SHUT DOWN. THE PROGRAM THEN VERIFIES THAT NO
605 INTERRUPTS WERE L"ST ON EITHER SLU AND THAT THE DATA TRANS-
606 FERRED WAS CORRECT.

608 NOTE: IF RUNNING UNDER THE APT ENVIRNOMENT MANY OF THE ABOVE TESTS ARE
609 ONLY EXECUTED DURING FIRST PASS.

6.3 SPECIAL SUBROUTINE DESCRIPTIONS

6.3.1 ECHO TEST =

THIS ROUTINE WILL ECHO ANY CHARACTER TYPED ON EITHER SLU1 OR SLUZ.
620 DEFAULT IS TO THE CONSOLE CEVICE SLU1. THE TEST IS HALTED BY TYPING A
621 CONTROL-C. TEST CAN BE RESTARTED AFTER HALTING BY JUST CONTINUING.

ooooooorOr O OO
— b b b d D ed b
D@ NN NN =

624 6.3.2 TERMINAL OUTPUT TEST -

626 THIS ROUTINE WILL OUTPUT ALL WRITEABLE CHARACTERS FOR THE OCTAL CODE
627 040 --> 377, 32 CHARACTERS ARE PRINTED ON EACH LINE. THE PATTERN IS
628 REPEATED EVERY THREE LINES.

632 7.0 LISTING
634 p4

669 JTITLE CJUKDIAQ 11/23B SLU LTC REPR DIAG
) ;*COPYRIGHT (C) SEPT-81

1) ;«DIGITAL EQUIPMENT CORP.

(N ;*MAYNARD, MASS. 01754

(1) i®

(ap) 3

.
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(JKDIA.P™ 20~0CT-81 16:08 SEQ@ 0016

;*THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMA(C

(*)

M ;+PACKAGE (MAINDEC-11-DZOAC-C5) . JAN, 1981

(1) 000001 §TN=1

(1) 160000 $SWR=160000  ;:HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
670 .SBTTL BASIC DEFINITIONS

(1) ;*INITIAL ADDRESS OF THE STACK POINTER #+x 1100 wxs
(1 001100 STACK= 1100

(1) .EQUIV EMT ERROR ;BASIC DEFINITION OF ERROR CALL
M .EQUIV [OT SCOPE :iBASIC DEFINITION OF SCOPE CALL
(1) ; sMISCELLANEOUS DEF INITIONS

(1) 000011 T= 1 ;CODE FOR HORIZONTAL TAB
(1) 000012 LF= 12 :1CODE FOR LINE FEED

(1) 000015 (R= 15 :1CODE FOR CARRIAGE RETURN
(1) 000200 CRLF= 200 :3CODE FOR_ CARRIAGE RETURN-LINE FEED
(1) 177776 PS= 177776 :PROCESSOR STATUS WORD

1 .EQUIV PS PSW

(1) 177274 STKLMT= 177774 ;STACK LIMIT REGISTER

(1) 177772 PIRQ= 177772 : {PROGRAM_INTERRUPT REQUEST REGISTER
(1) 172570 DSWR= 177570 : {HARDWARE SWITCH REGISTER
@ 177570 DDISP= 177570 : {HARDWARE DISPLAY REGISTER
(1) ; SGENERAL PURPOSE REGISTER DEF INITIONS

(1) 000000 RO= %0 :GENERAL REGISTER

(1) 000001 RI= %1  :GENERAL REGISTER

(1) 000002 Re= X2 :GENERAL REGISTER

(1) 000003 R3= 13 ::GENERAL REGISTER

(1) 000004 Re= %% :1GENERAL REGISTER

(1) 000005 RS= 15 : 1GENERAL REGISTER

(1) 000006 Ré= %6 ::GENERAL REGISTER

(1) 000007 R7= X : :GENERAL REGISTER

(1) 000006 sP= 16 :1STACK POINTER

() 000007 Pc= 17 ::PROGRAM COUNTER

(1) ;*PRIORITY LEVEL DEFINITIONS

() 000000 PRO= 0 ;;PRIORITY LEVEL 0

(1) 000040 PR1= 40 :1PRIORITY LEVEL 1

(1) 000100 PR2= 100 :IPRIORITY LEVEL 2

(1) 000140 PR3= 140 :{PRIORITY LEVEL 3

(1) 000200 PRG= 200 :PRIORITY LEVEL 4

(1) 000240 PRS= 240 :{PRIORITY LEVEL 5

(1) 000300 PRE= 300 “PRIORITY LEVEL &

() 000340 PR7= 340 :IPRIORITY LEVEL 7

{

(1) ;+"'SWITCH REGISTER'* SWITCH DEFINITIONS

(1) 100000 Sw15= 100000

(1) 0460000 SWwld= 40000

(1 020000 SWi3= 20000

(1) 010000 sWig= 10000

(1) 004000 Swil= 4000

(1) 002000 SWio= 2000

(1) 001000 SW09= 1000

() 000400 SW08= 400

\

—

000200 Swo7= 200
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20-0CT-81 16:08 BASIC DEFINITIONS SE@ 0017
000100 swoé= 100
000040 swis= 40
000020 swo4= 20
000010 swo3= 10
000004 sw02= 4
000002 SWo1= %

000001 SW00=

"EQUIV SW00.SWO
;*DATA BIT DSBINITIONS (BITOO TO BIT15)

100000 BIT15= 1000

040000 BIT14= 40000

020000 BIT13= 20000

010000 BIT12= 10000

004000 BIT11= 4000

002000 8IT10= 2000

001000 81709= 1000

000400 BI1T08= 400

000200 B81T07= 200

000100 BIT06= 100

000040 BITO5= 40

000020 BIT04= 20

000010 8IT03= 10

000004 BIT02= 4

000002 BITO01= 2

000001 BIT00= 1
EQUIV BIT09.BITY
EQUIV BIT08,BIT8
EQUIV BIT07.BIT7
EQUIV BIT06,BIT6

JEQUIV BIT02.BIT2
"EQuIv BITO1.BIT1
"EQUIV B8IT00.BITO

;*BASIC ''CPU"' TRAP VECTOR ADDRESSES

000004 ERRVEC= & ;TIME OUT AND OTHER ERRORS

000010 RESVEC= 10 .,RESERVED AND ILLEGAL INSTRUCTIONS
000014 TBITVEC=14 VT BIT

000014 TRTVEC= 14 ::TRACE TRAP

000014 BPTVEC= 14 ; ;BREAKPOINT TRAP (BPT)

000020 JIOTVEC= 20 ;s INPUT/QUTPUT TRAP (IOT) *«SCOPEw+
000024 PWRVEC= 24 ..POUER FAIL

000030 EMTVEC= 30 ;EMULATOR TRAP (EMT) *+ERROR%+

000034 TRAPVEC=34 - "TRAP'* TRAP




—

000014
000016

000042

000174
000176

000200
000204
000210

/238 SLU LTC REPR DIAG
20-0CT-81 16:08

000060

000003

000000

000014
012370
000340

000042
000000

000174
000000
000000

000200

000137 003016
000137 015406
000137 015664

F 2
DNMAC X24.07~-563 02-FEB-B2 16:42 PAGE 5-4
BASIC DEFINITIONS

TKVEC= 60

TPVEC= 64

PIRQVEC=240
ABASE= 176500
AVECT1= 300
AUSWR= 400
$TN= 1
$SWR= 161000
BPT= 000003
.=0

;. TTY KEYBOARD VECTOR
;;TTY PRINTER VECTOR
; ;PROGRAM INTERRUPT REQUEST VECTOR

sTHIS IS THE COMMAND FOR A TRAP
: THROUGH 14 (BPT TRAP)

AR AR AR AR A AN RN AN AR R AR AR RN RN R AN R AR
;%ALL UNUSED LOCATIONS FROM 4-776 CONTAIN A '‘.+2,BPT"
s*SEQUENCE TO CATCH ILLEGAL TRAPS & INTERRUPPTS
;«LOCATION O CONTAINS O TO CATCH IMPROPERLY LOADED VECTORS

=14
.WORD
.WORD

“WORD

DISPREG: . WORD
SWREG:  .WORD

.~200
JMP
JMP
JMP

CATCH
340

42
0

OO —

START
ECHO
ouTTST

;THE BPT TRAP VECTOR POINTS TO THE
; ILLEGAL TRAP HANDLER '‘CATCH"

;DO INTERFACE TEST
;DO ECHO TEST
;DO OUTPUT TEST TO TERMINAL

SEQ 0018
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1" 20~-0CT~81 16:08 BASIC DEFINITIONS SEQ 0019

000500 .= 500
.SBTTL ACT11 HOOKS

1222222222222 23333 2222233233233 23 2228222222000 RdRiRRRRRtRttRRl))

*HOOKS REQUIRED BY ACT11

000500 $SVPC=. ;SAVE PC
000046 .=46
000046 8333%5 $ENDAD ::1)€ET L0C.46 TO ADDRESS OF SENDAD IN .S$EOP
000052 000000 'WORD 0 ::2)SET LOC.52 TO ZERC
000500 "Z$SVPC **“RESTORE PC

.SBTTL APT PARAMETER BLOCK

2222222222232 2222232222222 2322802082000 000ttt tsdddl

SET LOCATIONS 26 AND 44 AS REQUIRED FOR APT

tttt*tttttttttt***tttttttttt*t*ttttttttt*i*tttt*ttt**i****ttttt

000500 .$X=.  ;.SAVE CURRENT LOCATION

000024 .=24 ;;SET POWER FAIL TO POINT TO START OF PROGRAM
000024 000200 200 ;.FOR APT START UP

000044 .=b4 ;sPOINT TO APT INDIRECT ADDRESS PNTR.
000044 000500 $APTHDR ;;POINT TO APT HEADER BLOCK

000500 =.8X  ;;RESET LOCATION COUNTER

T L L T T T T L L
SETUP APT PARAMETER BLOCK AS DEFINED [N THE APT-PDP11 DIAGNOSTIC
JINTERFACE SPEC.

000500 $APTHD:

000500 000000 $HIBTS: .WORD O ;;TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

000502 001100 $SMBADR: .WORD SMAIL  ;:ADDRESS OF APT MAILBOX (BITS 0-15)

000504 000050 $TSTM:  _WORD 50 ..RUN TIM OF LONGEST TEST

000506 000060 $PASTM: _WORD 60 ;RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

000510 000055 SUNITM: _WORD 55 :ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
000512 000030 .WORD SETEND-SHAIL/? ;;LENGTH MAILBOX-ETABLE (WORDS)
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17238 SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 7
1 20-0CT-81 16:08 COMMON TAGS

LSBTTL COMMON TAGS

O
—

P SEQ 0020

':tttttttﬁttttﬁtt'ttﬁtttttt"ﬁ..tt..ﬁﬁ'tt'ﬁtttt"tt"ttttt'tttt"

*%xTHIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM,

001000 .=1000

001000 $CMTAG: ::START OF COMMON TAGS

001000 000000 .WORD 0

001002 000 STSTNM: .BYTE 0 ;:CONTAINS THE TEST NUMBER

001003 000 SERFLG: .BYTE 0 ::CONTAINS ERROR FLAG

001004 000000 SICNT: .WORD 0 *:CONTAINS SUBTEST ITERATION COUNT

001006 000000 SLPADR: .WORD 0 *CONTAINS SCOPE LOOP ADDRESS

001010 000000 SLPERR: .WORD 0 *:CONTAINS SCOPE RETURN FOR ERRORS

001012 000000 SERTTL: .WORD 0 *2CONTAINS TOTAL ERRORS DETECTED

001014 000 SITEMS: .BYTE 0 ::CONTAINS ITEM CONTROL BYTE

001015 001 SERMAX: .BYTE 1 ::CONTAINS MAX. ERRORS PER TEST

001016 000000 SERRPC: .WORD 0 *:CONTAINS PC OF LAST ERROR INSTRUCTION

001020 000000 $GDADR: .WORD 0 ::CONTAINS ADDRESS OF ‘GOOD' DATA

001022 000000 $BDADR: .WORD 0 *:CONTAINS ADDRESS OF 'BAD' DATA

001024 000000 $GDDAT: .WORD 0 :CONTAINS *GOOD' DATA

001026 000000 $BDDAT: .WORD 0 ::CONTAINS 'BAD' DATA

001030 000000 .WORD 0 * *RESERVED--NOT TO BE USED

001032 000000 .WORD 0

001034 000 SAUTOB: .BYTE 0 ; ;AUTOMATIC MODE INDICATOR

001035 000 SINTAG: .BYTE 0 : $INTERRUPT MODE INDICATOR

001036 000000 WORD 0

001040 177570 SWR:  .WORD  DSWR ; ;ADDRESS OF SWITCH REGISTER

001042 177570 DISPLAY: .WORD DDISP ::ADDRESS OF DISPLAY REGISTER

001044 177560 $TKS: 177560 ::TTY KBD STATUS

001046 177562 $TKB: 177562 :TTY KBD BUFFER

001050 177564 $TPS: 177564 *TTY PRINTER STATUS REG. ADDRESS

001052 177566 STPB: 177566 :TTY PRINTER BUFFER REG. ADDRESS

001054 000 SNULL: .BYTE 0 *CONTAINS NULL CHARACTER FOR FILLS

001055 002 SFILLS: .BYTE 2 *CONTAINS # OF FILLER CHARACTERS REQUIRED

001056 012 SFILLC: .BYTE 12 :ZINSERT FILL CHARS. AFTER A 'LINE FEED"

001057 000 STPFLG: .BYTE 0 I TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)

001060 000000 STMPO: .WORD 0 **USER DEF INED

001062 000000 STMP1: .WORD 0 : {USER DEF INED

001064 000000 STMP2: .WORD 0 :1USER DEF INED

001066 000000 STMP3: .WORD 0 :1USER DEFINED

001070 000000 STMPL:  .WORD 0 : $USER_DEF INED

001072 000000 $ESCAPE : 0 :*ESCAPE ON ERROR ADDRESS

001074 077 SQUES:  /SCII /2/ :1QUESTION MARK

001075 015 SCRLF: .ASCII <i5> :1CARRIAGE RETURN

001076 000012 SLF:  .ASCIZ <12> :LINE FEED
::tttt*ititttttttttkt*tttt*t*tttttttitttttttttttttttttttttttttttt
.SBTTL APT MAILBOX-ETABLE
;;ttttttttttttttttttttttttttittttttttttttttt'tttttttttttltttttttt
.EVEN

001100 SMAIL : ; ;APT MAILBOX

001100 000000 SMSGTY: .WORD  AMSGTY ::MESSAGE TYPE CODE

001102 000000 SFATAL: .WORD  AFATAL ::FATAL ERROR NUMBER

001104 000000 STESTN: .WORD ATESTN ::TEST NUMBER

001106 000000 $PASS: .WORD  APASS  ;;PASS COUNI
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CJKDIA.P11 20-0CT-81 16:08 APT MAILBOX-ETABLE SEQ 0021
(2) 001110 000000 $DEVCT: .WORD  ADEVCT ;;DEVICE COUNT
(2) 001112 000000 SUNIT: .WORD  AUNIT  ;;1/0 UNIT NUMBER
«2) 001114 000000 $MSGAD: .WORD  AMSGAD ; ;MESSAGE ADDRESS
(2) 001116 000000 $MSGLG: .WORD  AMSGLG ;;MESSAGE LENGTH
(2) 001120 SETABLE: :;APT ENVIRONMENT TABLE
(2) 001120 000 SENV: .BYTE  AENV ; ;ENVIRONMENT BYTE
(2) 001121 000 $SENVM: _BYTE  AENVM  ;;ENVIRONMENT MODE BITS
(2) 001122 000000 $SWREG: .WORD  ASWREG ;:APT SWITCH REGISTER
(2) 001124 000400 SUSWR: .WORD AUSWR  ;;USER_SWITCHES
(2) 001126 000000 $CPUOP: .WORD  ACPUOP ;.CPU TYPE,OPTIONS
(2) Y BITS 15-11=CPU TYPE
(2) i 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
(2) . 11/70=06,PD0=07,0=10
(2) . * BIT 10=REAL TIME CLOCK
(2) M BIT 9=FLOATING POINT PROCESSOR
(2) i BIT 8=MEMORY MANAGEMENT
(2) 001130 000 $MAMS1: .BYTE  AMAMS1 ;;HIGH ADDRESS.M.S. BYTE
(2) 001131 000 SMTYP1: .BYTE  AMTYP1 ;;MEM. TYPE,BLK#1
(2) i * MEM.TYPE BYTE -- (HIGH BYTE)
(2) A 900 NSEC CORE=001
(2) e 300 NSEC BIPOLAR=002
(2) J* 500 NSEC M0S=003
(2) 001132 000000 $SMADR1: .WORD  AMADR1 ;;HIGH ADDRESS,BLK#1
(2) ;* MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'® ABOVE
(2) 001134 000 $MAMS2: _BYTE  AMAMS2 ;;HIGH ADDRESS .M.S. BYTE
(2) 001135 000 SMTYP2: .BYTE  AMTYP2 ;;MEM.TYPE BLKA2
(2) 001136 00000 SMADR2: .WORD  AMADR? ;;MEM.LAST ADDRESS,BLKA?
(2) 001140 000 $MAMS3: _BYTE  AMAMS3 ; HIGH ADDRESS .M.S.BYTE
(2) 001141 000 SMTYP3: .BYTE  AMTYP3 ;:MEM.TYPE ,BLKA3
(2) 001142 000000 SMADR3: .WORD  AMADR3 ;;MEM.LAST ADDRESS,BLK#3
(2) 001144 000 $MAMS4: BYTE  AMAMS4  ;;HIGH ADDRESS.M.S.BYTE
(2) 001145 000 SMTYP4: BYTE  AMTYP4 ; MEM.TYPE ,BLK#4
(2) 001146 000000 $MADR4: .WORD  AMADR4 ; ;MEM.LAST ADDRESS,BLKN4
(2) 001150 000300 SVECT1: .WORD  AVECT1 ;:INTERRUPT VECTOR#1,BUS PRIORITYA1
(2) 001152 000000 $VECT2: .WORD  AVECT2 ;:INTERRUPT VECTORN2BUS PRIORITYA?
(2) 001154 176500 $BASE: .WORD ABASE  ;;BASE ADDRESS OF EQUIPMENT UNDER TEST
(2) 001156 000000 $DEVM: .WORD  ADEVM  ;;DEVICE MAP
(2) 001160 $ETEND:
2) MEXIT
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001160

001160
001160

001220
001222
001224
001226

001230
001232
001234
001236

001240
001242
001244
001246

001250
001260
001262
001264
001266
001270

001300
001302
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000020

016010

000000

016111
025003
025532
000000

000004

016150
024731
025512
000000

000004

016206
024731
025512
000000

016254
024731
025512
000000
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ERROR POINTER TABLE SEQ@ 0022

.SBTTL

ERROR POINTER TABLE

;«THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
S«THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

;=LOCATI
:*NOTE1:
;=NOTE?Z:

e e N, N,
» RN

SERRTB:
.$SERRTB:

ON SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRP().
EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

EM ;;POINTS TO THE ERROR MESSAGE

DH ;;POINTS TO THE DATA HEADER

DT ;;POINTS TO THE DATA

DF ;;POINTS TO THE DATA FORMAT

.BLKW 20 :THIS BLOCK OF 16 LOCATIONS IS HERE TO PACIFY SYSMAC
EM5 ;SLUT TCSR DONE NOT SET WITH RESET

DH5 ;'TESTH# ERR PC TCSR''

8T5 sSTESTN,SERRPC,CTCSR

EM6 ;SLUT RCSR DID NOT RETURN SSYNC

DHé ;"'TEST# ERR PC RCSR"

3T6 ;STESTN,SERRPC,CRCSR

EM7 ;SLU1 RBUF DID NOT RETURN SSYNC

DH? ;"'TEST# ERR PC RBUF''

8T7 ;STESTN,SERRPC, CRBUF

.BLKW 4 ;MORE PACIFICATION

EM11 ;'CAN _NOT SET BIT2 OF SLU1 TCSR™

DH5 ;'TESTH ERR PC TCSR"

8T5 SSTESTN,SERRPC,CTCSR

BLKW 4 ;STILL MORE PACIFICATION

EM13 ;"RESET DID NOT CLEAR BIT2 OF SLU1 T(CSR''
DH5 ;'TEST# ERR PC TCSR'

8T5 ;STESTN,SERRPC,CTCSR

EM14 ;'BIT6 OF SLU1 TCSR NOT CLEAR AFTER RESETZ
DH5 ;'TESTA# ERR PC TCSR"

8T5 sSTESTN,SERRPC,CTCSR
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CJKDIA.P11 20~0C7-81 16:08 ERROR POINTER TABLE SEQ 0023
761
762 001320 016324 EM15 ;' SLU1 XMIT INTERRUPTED WITH PRIORITY 7°
763 001322 024731 DH5 ;"'TESTH ERR PC T(CSR'
7646 001324 025512 DTS ;$TESTN,SERRPC,CTCSR
;22 001326 000000 0
767 001330 0716372 EM16 ;"'CAN NOT SET BIT6 OF SLUT TCSR™
768 001332 024731 DH5 :'TESTH ERR PC TCSR'
769 001334 025512 DT5 :$TESTN,SERRPC,CTCSR
;;? 001336 000000 C
772 001340 016430 EM17 ;"'CAN _NOT CLEAR BIT6é OF SLU1 TCSR"
773 001342 24731 DH5 :"'TEST# ERR PC T(CSR"
774 001344 025512 DTS5 :$TESTN,SERRPC,CTCSR
;;2 001346 000000 0
777 001350 016470 EM20 ;"RESET DID NOT CLEAR BIT6 OF SLU1 TCSR™
778 001352 024731 DH5 :'TEST# ERR PC TCSR"
779 001356 025512 DT5 :$TESTN,SERRPC,CTCSR
;g? 001356 000000 0
782 001360 016536 EM21 ;'BIT6 OF SLU1 RCSR NOT CLEAR AFTER RESET"'
783 001362 024756 DH6 ;"'TEST# ERR PC RCSR"'
784 001364 025522 DT6 *$TESTN,SERRPC.CRCSR
;gg 001366 000000 0
787 001370 016606 EM22 ;"'SLU1 RCVR INTERRUPT WITH PRIORITY 7"
788 001372 024756 DH6 :'TEST# ERR PC RCSR'’
789 001374 025522 DT6 :$TESTN,SERRPC, CRCSR
;g? 001376 000000 0
792 001400 016652 EM23 ;"'CAN NOT SET BIT6 OF SLU1 RCSR'
793 001402 024756 DH6 :"'TEST# ERR PC RCSR''
794 001404 025522 DT6 *$TESTN,SERRPC, CRCSR
;gg 001406 000000 0
797 001410 016710 EM24 ;''CAN _NOT CLFAR BIT6 OF SLU1 RCSR"
798 001412 024756 DH6 :''TEST# ERR PC RCSR"
799 001414 025522 DT6 *$TESTN,SERRPC, CRCSR
38? 001416 000000 0
802 001420 016750 EM25 ;"'CAN_NOT CLEAR BIT6 OF SLU1 RCSR WITH RESET?
803 001422 024756 DH6 S"'TEST# ERR PC RCSR''
804 001424 025522 DT6 sSTESTN,SERRP(C, CRCSR
382 001426 000000 0
807 001430 017023 EM26 ;"'SLUY RECEIVER DONE NEVER SET'
808 001432 024756 DH6 *"'TEST# ERR PC RCSR'
809 001434 025522 DT6 *$TESTN,$ERRPC, CRCSR
g;? 001436 000000 0
812 001440 017060 EM27 ;"RESET DID NOT CLEAR SLU1 RCVR DONE'’
813 001442 024756 DH6 :"'TEST# ERR PC RCSR"'
814 001444 025522 DT6 {$TESTN,SERRPC, CRCSR
g;g 001446 000000 0




CJKDIAD 11/238 SLU LT, REPR DIAG

(JKDIA.P11

001466
001470

001536

001540
001542
001544
001546

001550
001552
001554
001556

001560
001562
001564
001566

001570
001572
001574
001576

001600

20-0CT-81 16:08

017123
024756
025522
000000

017175

000000

017234
025030
025552
000000

117273
024731
025542
001000

217345
024731
025542
000000

017413
024731
025542
000000

017455
024756
025562
000000

017514
025003
025572
000000

017553
024731
025542
000000

017623
024731
025542
000000

017661
024731
025542
000000

017721

L
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ERROR POINTER TABLE
EM30

2
16:

42 PAGE 7-4
SEQ

'READING SLU1 RBUF DID NOT CLEAR RCVR DONE'’
*TEST# ERR PC RCSR"
STESTN $ERRPC,CRCSR

;SLU2 TCSR DID NOT RETURN SSYNC
:"TESTH ERR "C TCSR™
:STESTN,$ERRPC, TCSR

;SLUZ TBUF DID NOT RETURN SSYNC
:"'TESTA ERR PC TBUF"
:$TESTN, SERRPC, TBUF

;"'SLU2 TCSR DONE NOT CLEARED WITH TBUF FULL'
;"'TESTA4 ERR PC TCSR'
:$TESTN,SERRPC,TCSR

;"'SLU2 TCSR DONE NOT SET AFTER TRANSMIT'
;"'TESTA ERR PC TCSR"
;$TESTN,SERRPC, TCSR

;''SLU2 TCSR DONE NOT SET WITH RESET"
:TESTA ERR PC TCSR"
;$TESTN,ERRPC, TCSR

;''SLU2 RCSR DID NOT RETURN SSYNC'
S“TEST# ERR PC RCSR™
:$TESTN,ERRPC ,RCSR

;SLU2 RBUF DID NOT RETURN SSYNC''
:"'TESTH ERR PC RBUF'
*$TESTN,ERRPC ,RBUF

;'BITO OF SLU2 TCSR NOT CLEAR AFTER RESET"
S'TEST# ERR PC T(SR
:$TESTN,$ERRPC, TCSR

;''CAN NOT SET BITO OF SLU2 TCSR''
;"'TEST# ERR PC TCSR
:STESTN,SERPPC,TCSR

:'‘CAN NGT CLEAR BITO OF SLUZ2 TCSR"
:"'TESTA ERR PC TCSR
:$TESTN,$ERRPC, TCSR

;'RESET DID NOT CLEAR BITO OF SLUZ TCSR"

00¢s
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CJKDIA.P11T

001630
001632
001634
001636

001640
001642
001644
001646

001650
001652
001654
001656

001660
001662
001664
001666

001670
001672
001674
001676

001700
001702
001704
001706

001710
001712
001714
001716

001720
001722
001724
001726

001730
001732

20-0C7-81 16:08

024731
025542
000000

017767
024731
025542
000000

020037
024731
025542
000000

020105
024731
025542
000000

020143
024731
025542
000000

020203
024731
025542
000000

020251
024756
025562
000000

020321
024756
025562
000000

020365
024756
025562
000000

020423

000000

020463
024756
025562
000000

020536
024756

M
DNMAC X24.07-563 02-FEB-82

ERROR POINTER TABLE

DH5
DT31
0

EM44
DH5
DT31
0

EM4S
DH5
DT31
0

EM46
DH5
D131
0

EM47
DH5
DT
0

EM50
DH5
DT31
0

EM5T
DHé
DT36
0

EMS52
DHé
DT36
0

EM53
DHé
D736
0

EM54
DHé
DT36
0

EM55
DH6
D136
0

EM56
DHS

2
16:

42 PAGE 7-5

J'TESTH ERR PC TCSR
sSTESTN,SERRPC,TCSR

J'BIT6 OF SLU2 TCSR NOT CLEAR AFTER RESET?
J'TESTH¥ ERR PC TCSR
:STESTN,SERRPC,TCSR

;''SLU2 XMIT INTERRUPTED WITH PRIORITY 7"
:''TESTH ERR PC TCSR
:$TESTN,SERRPC, TCSR

:"'CAN NOT SET BIT6 OF SLU2 TCSR''
:"'TESTA ERR PC TCSR
:$TESTN, SERRPC, TCSR

:"'CAN NOT CLEAR BIT6 OF SLU2 TCSR'’
“'TEST# ERR PC TCSR
:$TESTN,SERRPC, TCSR

;'RESET DID NOT CLEAR BIT6 OF SLU2 TCSR'
;"'TESTA ERR PC TCSR
;STESTN,SERRPC,TCSR

;'BIT6 OF SLU2 RCSR NOT CLEAR AFTER RESET"
:"'TESTHA ERR PC RCSR™
:STESTN,ERRPC ,RCSR

;''SLU2 RCVR INTERRUPT WITH PRIORITY 7°
J"'TESTA ERR PC RCSR™
;STESTN,ERRP( ,RCSR

;''CAN NOT SET BIT6é OF SLU2 RCSR'
;"'TESTA ERR PC RCSR"
:$TESTN,ERRPC ,RCSR

;''CAN NOT CLEAR BIT6 OF SLU2 RCSR™
:"'TEST# ERR PC RCSR™
:$TESTN,ERRPC,RCSR

;"'CAN _NOT CLEAR BIT6 OF SLU2 RCSR WITH RESETZ
:TESTA ERR PC RCSR™
*STESTN,ERRPC, RCSR

;*'SLU2 RECEIVER DONE NEVER SET"'
:TESTA ERR PC RCSR"

SEQ 0025



CJXKDIAO 11/238 SLU LTC REPR DIAG
16:08
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001734
001736

001740
001742
001744
001746

001750
001752
001754
001756

001760
001762
001764
001766

001770
001772
001774
001776

002000

002006

002010
002012
002014
002016

002020
002022
002024
002026

002030
002032
002034
002036

002040
002042
002044
002046

002050
002052
002054
002056

002060
002062
002064

20-0CT-81

025562
000000

020573
024756
025562
000000

020636

000000

020710
025055
025602
000000

020741
025055
025602
000000

021003
025055
025602
000000

021041
025055
025602
000000

021071
025055
025602
000000

021123
025055
025602
000000

021163
025055
025602
000000

021223
025055
025602
000000

021255
025055
025602

N
DNMAC X24.07-563 02-FEB-82

ERROR POINTER TABLE
DT36
0

EMS7
DHé
DT36
0

EM60
DHé
DT36
0

EM61
DH61
DT61
0

EM62
DH61
DT61
0

EM63
DH61
DT61
0

EM64
DH61
DT61
0

EM65
DH61
DT61
0

EM66
DH61
DT61
0

EM67
DH61
DT61
0

EM70
DH61
DT61
0

EM71
DH61
DT61

2
16:

42 PAGE 7-6
;STESTN,ERRPC,RCSR

;'RESET DID NOT CLEAR SLU2 RCVR DONE'’
S TEST# ERR PC RCSR'
:$TESTN,ERRPC,RCSR

;"READING _SLU2 RBUF DID NOT CLEAR RCVR DONE'’
:"'TESTA ERR PC RCSR"
:STESTN,ERRPC,RCSR

;LKS DID NOT RETURN SSYNC
:"'TEST# ERR PC LKS™
:STESTN,ERRPC,LKS

;'BIT6 OF LKS NOT CLEAR AFTER RESET''
;"'TESTH ERR PC LKS"
‘$TESTN,SERRPC,LKS

:"'LKS _INTERRUPT WITH PRIORITY 7'
:"'TESTH ERR PC LKS"
;STESTN,SERRPC,LKS

;''CAN NOT SET BIT6 OF LKS''
;'TESTAH ERR PC LKS''
;$TESTN,SERRPC,LKS

:"'CAN _NOT CLEAR BIT6 OF LKS''
:"'TEST# ERR PC LkS"
:$TESTN,SERRPC,LKS

;"RESET DID NOT CLEAR BIT6é OF LKS''
:"'TEST# ERR PC LKS''
:$TESTN,SERRPC,LKS

;"BIT7 OF LKS NOT SET AFTER RESETZ
;''TEST# ERR PC LKS"
:$TESTN,SERRPC,LKS

;''CAN NOT CLEAR BIT7 OF LKS"
:"'TESTH ERR PC LKS"
sSTESTN,SERRPC,LKS

;'BIT? OF LKS DOES NOT SET"
;'TEST# ERR PC LKS''
;STESTN,SERRPC,LKS

SEQ 0026
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985
986
987
988
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»H
O 000 ~NON W

002066
002070

002136

002140
002142
002144
002146

002150
002152
002154
002156

002160
002162
002164
002166

002170
002172
002174
002176

002200
002202
002204
002206

002210
002212
002214
002216

002229

000000

021306
025101
025612
000000

000004

000000

021530
024731
025512
000000

021577
024731
025512
000000

021633
024731
025512
000000

021664
024731
025512
000000

021736
024756
025522
000000

022005
024756
025522
000000

022041

16:08

8
DNMAC X24.07-563 02-FEB-82

ERROR POINTER TABLE
0

EM72
DH72
D172
0

.BLKW 4

EM74
DH5
DTS
0

EM75
DHS
DTS
0

EM76
DH5
DTS5
0

EM77
DHS
DTS5
0

EM100
DH5
DTS

0

EM101
DH5
DTS
0

EM102
DH5
DTS

0

EM103
DH6
DT6
0

EM104
DH6
DT6

0

EM105

3
16:

42 FAGE 7-7

;WRITING TO ONE INTERNAL ADDRESS MODIFIED ANOTHER
:"'TESTA ERR PC GOOD BAD GDDATA BDDATA
*$TESTN,SERRPC, $GDADR, $BDADR, $GDDAT , $BDDAT

sTHE LAST IN A LONG LINE OF PACIFICATION

;''SLUY XMIT INTERRUPTS WHEN DISABLED'
:"'TESTA ERR PC TCSR"
:$TESTN,SERRPC, CTCSR

;''SLUT XMIT DID NOT INTERRUPT'
;"'TESTH ERR PC TCSR™
S$TESTN,S$ERRPC,CTCSR

;''SLUT XMIT INTERRUPT AT PRIORITY 7°
:''TESTH ERR PC TCSR™
:$TESTN,SERRPC,CTCSR

;''SLUY XMIT INTERRUPTS WITH ENABLE CLEAR'
*“TEST# ERR PC T(CSR™
S$TESTN,SERRPC,CTCSR

:''SLUY XMIT DID NOT INTERRUPT''
:'TESTH ERR PC TCSR"'
:$TESTN,SERRPC,CTCSR

;U'SLUT XMIT RE~INTERRUPTED"'
;"'TEST# ERR PC T(CSR"
:$TESTN,SERRPC,CTCSR

;"'LOADING SLU1 TBUF DID NOT CLEAR INTERRUPT"
:"'TEST# ERR PC TCSR"
:$TESTN,SERRPC,CTCSR

2*'SLUT RCVR INTERRUPTS WITH ENABLE CLEAR'
:"'TEST# ERR PC RCSR"
:$TESTN,SERRPC, CRCSR

;''SLUT RCVR DID NOT INTERRUPT''
;"'TESTH ERR PC RCSR™
;STESTN,SERRPC,CRCSR

;''SLUT RCVR INTERRUPTS AT PRIORITY 7°'

SEQ 0027
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1041
1042
1043
1044

002240
002242
002244
002246

002250
002252
002254
002256

002260

062266

002270
002272
002274
002276

002300
002302
002304
002306

002310
002312
002314
002316

002320
002322
002324
002326

002330
002332
002334
002336

002340
002342
002344
002346

002350
002352

024756
025522
100000

022104
024756
025522
000000

022165
024756
025522
0000v0

022221
024756
025522
000000

022256
024756
025522
000000

022330
024756
025522
000000

022400
024756
025522
000000

022433
024756
025522
000000

022477
025157
025630
000000

022522
024731
025542
000000

022565
024731
025542
000000

022621
024731

c 3
DNMAC X24.07-563 02-FEB-82 16:

ERROR POINTER TABLE

DH6
DT6
0

EM106
DH6
DT6

0

EM107
DH6
DT6

0

EM110
DH6
DT6

0

EMINM
DHé
DT6
0

EM112
DH6
DT6

42 PAGE 7-8
SEQ 0028

:"'TEST# ERR PC RCSR'’
;STESTN,SERRPC,CRCSR

;"'SLUT RCVR INTERRUPTS WITH INTERRUPT ENABLE (LEAR™
;"'TESTA ERR PC RCSR'’
sSTESTN,SERRPC,CRCSR

:"'SLUT RCVR DID NOT INTERRUPT''
:"'TESTH ERR PC RCSR”
;$TESTN,$ERRPC,CRCSR

;''SLUT RECEIVER RE-INTERRUPTED"
;"'TESTA ERR PC RCSR"
;STESTN,SERRPC,CRCSR

;''SLUT READING RBUF DID NOT CLEAR INTERRUPT''
J"'TESTA ERR PC RCSR"
;$STESTN,SERRPC, CRCSR

;"RESET DID NOT CLEAR SLUT RCVR INTERRUPT''
;"'TESTAH ERR PC RCSR"
JSTESTN,SERRPC,CRCSkK

:"'SLUT *OR' FLAG DID NOT SET"
J"'TESTH ERR PC RCSR"
SJSTESTN,SERRPC,CRCSR

;'°SLUT 'ERROR' NOT SET WITH 'OR' FLAG"
;"'TESTH ERR PC RCSR"
;STESTN,SERRPC,CRCSR

:"'DATA COMPARE ERROR''
"'TESTH ERR PC CRCSR GOOD BAD'*
:$TESTN,SERRPC,CRCSR,GD,BD

:"'SLU2 XMIT INTERRUPTS WHEN DISABLED''
"'TEST# ERR PC TCSR"
:STESTN,SERRPC,TCSR

;''SLU2 XMIT DID NOT INTERRUPT"
;''TESTA ERR PC TCSR"
;$TESTN,SERRPC,TCSR

;'SLU2 XMIT INTERRUPT AT PRIORITY 7°
;'TESTA ERR PC  TCSR™




0 3
CJKDIAO 11/238 SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 7-9

CJKDIA.P1T 20-0CT-81 16:08 ERRO' POINTER TABLE SEQ 0029
1097 002354 025542 DT31 sSTESTN,SERRPC,TCSR
;883 002356 000000 0
1100 002360 (22663 EMm21 ;''SLU2 XMIT INTERRUPTS WITH ENABLE CLFAR'
1101 002362 024731 DH5 ;''TESTH ERR PC TCSR"
1102 002364 025542 D731 :$TESTN,SERRPC, TCSR
;;83 002366 000000 0
1105 002370 022732 EM122 ;"'SLU2 XMIT DID NOT INTERRUPT''
170¢ 002372 024731 DH5 ;"'TESTH ERR PC TCSR"'
1107 002374 025542 DT31 ISTESTN,SERRPC, TCSR
;}83 002376 000000 0
1110 002400 022766 EM123 ;''SLU2 XMIT RE-INTERRUPTED''
1111 002402 024731 DH5 ;"'TESTH ERR PC TCSR''
1112 002404 025542 DT3 ;STESTN,SERRP(C,TCSR
}};2 002406 000000 0
1115 002410 023017 EM124 :"'LOADING SLU2 TBUF DID NOT CLEAR INTERRUPT'
1116 002412 024731 DHS :"'TEST# ERR PC TCSR"
1117 002414 025542 DT31 :$TESTN,SERRPC, TCSR
}}}g 002416 000000 0
1120 002420 023071 EM125 ;''SLU2 RCVR INTERRUPTS WITH ENABLE CLEAR"
1121 002422 024756 DHé ;"'TESTH# ERR PC R(SR"
1122 002424 025562 DT36 ;STESTN,SERRPC ,RCSR
}}52 002426 000000 0
1125 002430 023140 EM126 ;"'SLU2 RCVR DID NOT INTERRUPT''
1126 002432 024756 DHé :'TEST# ERR PC RCSR'
1127 002434 025562 D736 :$TESTN,SERRPC,RCSR
}}Sg 002436 000000 0
1130 002440 023174 EM127 :''SLU2 RCVR INTERRUPTS AT PRIORITY 7°°
1131 002442 024756 DHé ;"'TEST# ERR PC RCSR''
1132 002444 025562 DT36 :$TESTN,SERRPC ,RCSR
;?}2 002446 000000 0
b)
1135 002450 023237 EM130 ;"'SLU2 RCVR INTERRUPTS WITH INTERRUPT ENABLE CLEAR™
1136 002452 024756 DHé S'TEST# ERR PC RCSR"
1137 002454 025562 DT36 $$TESTN,SERRPC,RCSR
}}%g 002456 000000 0
1140 002460 023320 EM131 ;''SLU2 RCVR DID NOT INTERRUPT"
1141 002462 024756 DHé :"'TEST# ERR PC RCSR'
1142 002464 025562 DT36 :$TESTN,SERRPC ,RCSR
}}22 002466 000000 0
1145 002470 023354 EM132 ;"'SLU2 RECEIVER RE=~INTERRUPTED"
1146 002472 024756 DHé STEST# ERR PC RCSR"'
1147 002474 025562 DT36 :STESTN,SERRPC ,RCSR
}}28 002476 000000 0
1150 002500 023411 EM133 ;''SLU2 READING RBUF DID NOT CLEAR INTERRUPT**
1151 002502 024756 DHé :"'TEST# ERR PC RCSR"
1152 002504 025262 D736 :$TESTN,$ERRPC,RCSR
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0 1}/238 SLU LTC REPR DIAG DNMAC X24.07-563 (02-FEB-82 16:42 PAGE 7-10

P 20-0CT~81 16:08 ERROR POINTER TABLE SEQ 0030
002506 000000 0
002510 023463 EM134 :"RESET DID NOT CLEAR SLU2 RCVR INTERRUPT'
002512 024756 DH6 :"'TEST# ERR PC RCSR"
002514 025562 DT36 :$TESTN,SERRP( ,RCSR
002516 000000 0
002520 023533 EM135 :"'SLU2 'OR' FLAG DID NOT SET"
002522 024756 DH6 :"'TEST# ERR PC RCSR''
002524 025562 DT36 :$TESTN,$ERRP(C ,RCSR
002526 000000 0
002530 023566 EM136 :''SLU2 'ERROR' NOT SET WITH 'OR' FLAG"
002532 024756 DH6 :"'TESTH# ERR PC RCSR'
002534 025562 DT36 :$TESTN,SERRPC,RCSR
002536 000000 0
002540 023632 EM137 ;*'SLU2 BREAK DID NOT TRANSMIT ALL ZEROCES'’
002542 025223 DH137 :"'TESTA ERR PC RCSR DATA"
002544 025644 DT137 :$TESTN,SERRP(C ,RCSR,$BDDAT
002546 000000 0
002550 023701 EM140 :"BREAK DID NOT SET FRAMING ERROR''
002552 024756 DH6 :"'TESTH# ERR PC RCSR"
002554 025522 DT6 sSTESTN,SERRPC,RCSR
002556 000000 0
002560 023741 EM141 :"'SLU2 'ERROR' NOT SET WITH 'FR' FLAG''
002562 024756 DH6 J"'TESTA ERR PC RCSR"
002564 025562 DT36 :STESTN,SERRPC ,RCSR
002566 000000 0
002570 024005 EM142 :"DATA COMPARE ERROR WITH CABLE'’
002572 025260 DH142 :"'TEST# ERR PC RCSR 600D BAD'"
002574 025656 DT142 ;STESTN,S$ERRPC ,RCSR,GD,BD
002576 000000 0
002600 024043 EM143 :*RTC INTERRUPT AT PRIORITY 7°°
002602 025055 DH61 :"'TEST# ERR PC LKS"
002604 025602 DT61 ;STESTN,SERRPC,LKS
002606 000000 0
002610 024077 EM144 :*RTC INTERRUPTS WHEN DISABLED'’
002612 025055 DH61 JTESTA ERR PC  LKS"
002614 025602 DT61 ;STESTN,$SERRPC,LKS
002616 000000 0
002620 024134 EM145 :"RTC INTERRUPT DID NOT OCCUR''
002622 025055 DH61 'TESTH ERR PC LKS"'
002624 025602 DT61 JSTESTN,SERRPC ,LKS
002626 000000 0
002630 024170 EM146 :"RTC INTERRUPT DID NOT OCCUR"
002632 025055 DH61 :"'TEST# ERR PC LKS"
002634 025602 DT61 :STESTN,SERRPC ,LKS

002636 000000 0
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01

Pl 20-0CT~81 16:08 ERROR POINTER TABLE SEQ 003"
002640 024224 EM147 :'RTC DOUBLE INTERRUPT''
002642 025055 DH61 ;'TEST# ERR PC LKS''
002644 025602 DT61 ;STESTN,SERRP(,LKS
002646 000000 0
002650 024251 EM150 ;'RESET DID NOT CLEAR RTC INTERRUPT"
002652 025055 DHé1 ;'TESTH ERR PC LKS"
002654 025602 DT61 ;STESTN,SERRPC,LKS
002656 000000 0
002660 024313 EM151 ;'RTC_INTERRUPT DID NOT CLEAR WITH BIT7 OF LKS''
002662 025055 DH61 ;'TESTH ERR PC  LKS''
002664 025602 DT61 ;$TESTN,SERRPC ,LKS
002666 000000 0
002670 024422 EM153 ;''SLUY RECEIVER STATUS ERROR''
002672 025157 DH115 ;'TESTHA ERR PC (CRCSR GOOD BAD''
002674 025630 DT115 ;STESTN,SERRPC,CRCSR,$GDDTA,$BDDAT
002676 000000 0
002700 024455 EM154 ;SLU2 RECEIVER STATUS ERROR
002702 025260 DH142 ;'TESTN ERR PC RCSR GOOD BAD'’
002704 025656 DT142 ;STESTN,SERRPC ,RCSR,$GDDAT, $BDDAT
002706 000000 0

002710 026545 EM156 ;''SLUT DATA COMPARE ERROR IN EXERCISER"’
002712 025157 DH115 J"'TESTA ERR PC CRCSR  GOOD BAD"'
002714 025630 DT115 sSTESTN,SERRP(C,CRCSR,GD,BD
002716 000000 0
002720 024612 EM157 :"'INCORRECT RECEIVE COUNT SLU2
002722 025361 DH155 J'TESTA ERR PC RCSR TRANS  RCV'"'
002724 025670 DT157 sSTESTN,SERRPC ,RCSR,XMTCT2 ,RCVCT2
002726 000000 0
002730 024647 EM160 ;''SLU2 DATA COMPARE ERROR IN EXERCISER''
002732 025260 DH142 ;"'TESTH ERR PC RCSR GOOoD BAD"'
002734 025656 DT142 ;$TESTN,SERRPC ,RCSR,GD,BD
002736 000000 0
002740 024714 EM161 ;"'TRAP CATCHER''
002742 025425 DH161 J'TEST#  ERR PC OLDPC TRAP ADR"
002744 025704 DT161 sSTESTN,SERRP(C,OLDPC,BDVECT
002746 000000 0

;REGISTER ADDRESSES OF INTERNAL ON BOARD OPTIONS
002750 176500 RCSR:  .WORD 176500 ;SLU2 COMMAND/STATUS REGISTER
002752 176502 RBUF:  .WORD 176502 ;SLU2 RECEIVER BUFFER
002754 176504 TCSR:  .WORD 176504 ;SLU2 TRANSMITTER COMMAND/STATUS REGISTER
002756 176506 TBUF:  .WORD 176506 ;SLU2 TRANSMITTER BUFFER
002760 177560 CRCSR: 177560 ;SLUT RECEIVER COMMAND/STATUS REGISTER
002762 177562 CRBUF : 177562 ;SLUT RECEIVER BUFFER
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003072
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005037
005037
005037
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001102
001100
001104
001156

001000
001040
001000

013114
000340
012420
00034)
015326
000340
012736
000340
012270
001072
000001
003156
003164

000004
003232
177570
177570
177777

003240

000020
000022
000030
000032
000034
000036
000024
000026
012262

001015
001006
001010

000004
001040
001042
175612

G
DNMAC X24.07-563 02-FEB-82

ERROR POINTER TABLE

CTCSR: 177564
CTBUF: 177566
LKS: .WORD

177546

3
16:42 PAGE 7-12

sSLUT TRANSMITTER COMMAND/STATUS REGISTER
2SLUT TRANSMITTER BUFFER
LTC COMMAND/STATUS REGISTER

;VECTOR ADDRESSES FOR ON BOARD OPTIONS

100
102

$FATAL
$MSGTYP
$TESTN
$DEVM

#S$CMTAG RO
(RG)+
#SUR R6 ;

#1000 sP

MOV
;INITIALIZE A FEW VECTORS
MOV #$SCOPE ,@#I0TVEC ;10T VECTOR FOR SCOPE ROUTINE
#340,a#0TVEC+2 ;:LEVEL 7
#SERROR ,@#EMTVEC :;EMT VECTOR FOR ERROR ROUTINE
#340,#EMTVEC+2 ;. LEVEL 7
#STRAP ,@#TRAPVEC ;;TRAP_VECTOR FOR TRAP CALLS
#340 ,@a#TRAPVEC+2; LEVEL 7
#SPWRDN,a#PWRVEC .;POWER_FAILURE VECTOR
#340,@#PWURVEC+2 ;;LEVEL 7

RVECT: .WORD
RPSW: .WORD
TVECT: .WORD
TPSW: . WORD
CRVECT: 60
CRPSW: 62
CTVECT: 64
CTPSW: 66
RTCVT: .WORD
RTCPSW: .WORD
START: (LR
(LR
CLR
CLR
1%:
.SBTTL
;:CLEAR
MOV
CLR
CMP
BNE
MOV
Mov
MoV
MoV
MOV
Mov
MOV
[ [0)"
CLR
MOVB
[ [0)]
MoV

;;SIZE FOR A HARDWARE SWITCH REGISTER.

;;EQUAL TO A "-1'", SETUP FOR A SOFTWARE SWITCH REGISTER.

MOV
MoV
Mov
MOV
cmMp
BNE

BR
MOV
RTI

648:

$ENDCT,SEOPCT
$ESCAPE
#1,SERMAX
#.,SLPADR

#. SLPERR

@#ERRVEC,~(SP)
#648 ,ANERRVEC
#DSWR, SWR

#DDISP,DISPLAY

#-1,aSWR
663

653
#65%, (SP)

;DONE?

JRECEIVER INTERRUPT VECTOR
;TRANSMITTER INTERRUPT VECTOR

s CLEAR ERROR NO.

s CLEAR MESSAGE TYPE

;CLEAR TEST NO.

;CLEAR FLAGS INDICATING DEVICES UNDER TEST

INITIALIZE THE COMMON TAGS

THE COMMON TAGS ($CMTAG) AREA

;. FIRST LOCATION TO BE CLEARED
;s CLEAR MEMORY LOCATION

;. LOOP BACK IF NO

;;SETUP THE STACK POINTER

;s SETUP END-OF ~PROGRAM COUNTER

;;CLEAR THE ESCAPE ON ERROR ADDRESS
:;ALLOW ONE ERROR PER TEST

2o INITIALIZE THE LOOP ADDRESS FOR SCOPE
2 2SETUP THE ERROR LOOP ADDRESS

IF NOT FOUND OR IT IS

s sSAVE ERROR VECTOR

;:SET UP ERROR VECTOR

;;SETUP FOR A HARDWARE SWICH REGISTER
;;AND A HARDWARE DISPLAY REGISTER

;o TRY TO REFERENCE HARDWARE SWR
;,BRANCH If NO TIMEOUT TRAP OCCURRED
;;AND THE HARDWARE SWR IS NOT = -1
;;BRANCH IF NO TIMEQUT

;;SET UP FOR TRAP RETURN
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(2) 003240
(2) 003246
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0 000176
0
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0
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INITIALIZE THE COMMON T

658%:
66%:

67%:
.SBTTL

68S$:
69$:

2%:

3s:

4%:

MoV
MOV
MOV

CLR
BIT8
BEQ
MOV

#SWREG, SWR s;POINT TO SOF TWARE SWR
#DISPREG,DISPLAY

(SP)+,3#ERRVEC ;;RESTORE ERROR VECTOR

$PASS ;s CLEAR PASS COUNT

#APTSIZE ,SENVM ; TEST USER SIZE UNDER APT
67% :;YES,USE NON-APT SWITCH
#$SWREG, SWR ;NO,USE APT SWITCH REGISTER

GET VALUE zgR SOFTWARE SWITCH REGISTER

,,ARE WE RUNNING UNDER XXDP/A(T?
683 ;BRANCH IF YES

SENV, #1 ::ARE WE RUNNING UNDER APT?

68% :;BRANCH IF YES

SWR,#SWREG ;2SOFTWARE SWITCH REG SELECTED?

69 ; ;BRANCH [F NO

698 :;GET SOFT=-SWR SETTINGS

#1,3AUT0B ::SET AUTO-MODE INVICATOR
#BIT4L!BITS,aSWR ;IS SLUT TO BE TESTED

23 ;IF EITHER BIT IS SET THEN DON'T TEST IT
#BIT0,$DEVM SET DEVICE FLAG TO TEST SLU1
#BIT3IBITS,aSWR ;IS SLU2 TO BE TESTED

3s :1F EITHER BIT IS SET THEN DON'T TEST IT
#BI1T1,8DEVM ;SET DEVICE FLAG TO TEST SLUZ2

#BIT6,a3SWR ;IS LTC TO BE TESTED

43 :JF BIT 1S SET THEN DON'T TEST IT.
#BI1T2,$DEVM :SET DEVICE FLAG TO TEST LTC
#BITO,SDEVM ;IS SLUY UNDER TEST

TST1 :1F YES TEST XMIT REG. BEFORE TYPING TITLE
D :IF NO SKIP TESTS AND TYPE IT NOW

SEQ 0033
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CJKDIA.P 20-0CT-81 16-08 GET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0034
1302
1303
1304 DN RN R AN R RN AR AR AR RN NIRRT AR NNAR AN RO RO EE
(3 ;*TEST 1 TEST ABILITY TO ACCESS SLU1 T(SR
(3) ;"tttttttttttttttttttttttttttttttttttttttttt!tttttttttttt.tttt.tt
(2) 003430 000004 TST1: SCOPE
(2) 003432 012737 000001 001104 MOV #1,8TESTN s¢SET TEST NUMBER IN APT MAIL BOX
1305 003440 013703 000004 MOV a#s4 R3 ;SAVE TIMEOUT VECTOR
1306 003444 012737 003460 000004 MOV 818,344 ;SET UP TIMEOUT VECTOR
1307 003452 005777 177306 TST aCTCSR JREFERENCE THE XMIT COMMAND/STATUS REG.
1308 003456 000405 BR 23 : GO TO END OF TEST
1309 003460 022626 1%: CMP (SP)+,(SP)+ ;RESTORE SP AFTER T]IMEQUT
1310 003462 004737 013304 JSR PC.SATYS ;;ONLY REPORT A FATAL ERROR
(1) 003466 000001 1 ;s THE ERROR NUMBER (FROM APT LIST)
1311 00340 000000 HALT
}%}% 003472 010337 000004 2%: MOV R3.a44 JRESTORE TIMEOUT VECTOR
1314
1315
1316 IR AR R AR R AR R AR R AN A AN AR R AN RN TR AR RN R AR R R RSN RN RS
(3 ;*TEST 2 TEST ABILITY TO ACCESS SLUT TBUF
3 AR AR AR AR AR R R R AR AR AR R RRARR AR R R ARRR AR AR RRR AN RAANNNS
(2) 003476 000004 TSTZ: SCOPE
(2) 003500 012737 000002 001104 MoV #2,8TESTN ;:SET TEST NUMBER IN APT MAJIL BOX
1317 003506 013703 000004 MOV a4 ,R3 ;SAVE TIMEOUT VECTOR
1318 003512 012737 003526 000004 MOV #1844 JSET UP TIMEOUT VECTOR
1319 003520 005777 177242 TST aCTBUF ;REFERENCE THE XMIT BUFFER
1320 003524 000405 B8R 23 ;G0 TO END OF TEST
1321 003526 022626 1%: CMpP (SP)+,(SP)+ ;RESTORE SP AFTER TIMEOUT
1322 003530 004737 013304 JSR PC,8ATY4 :2ONLY REPORT A FATAL ERROR
(1) 003534 000002 l ;o THE ERROR NUMBER (FROM APT LIST)
1323 003536 000000 HALT
}gsg 003540 010337 000004 28: MOV R3.a#é4 JRESTORE TIMEOUT VECTOR
1326
1327 IIRRRRARRRARRR AN AR RN AR A RRAA R AR AN RRNAAAARN R A RARARARARRAAARARARARR
(3) S*TEST 3 TEST SLUT TCSR BIT7(DONE) CLEARS WHEN XBUF IS LOADED
(3) IR AR AR R AR AR R R R AR RN R AR R AR RN AN AR RN AN RAANRE AR AN
(2) 0035446 000004 TST3: SCOPE
(2) 003546 012737 000003 001104 MOV #3,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
1328 003554 032737 000001 001120 8IT #1,I4SENV ;ARE WE RUNNING UNDER APT
1329 003562 001405 BEQ 708 ;1F NO THEN DO TEST
1330 003564 005737 001106 TST a#SPASS ;IS THIS FIRST PASS
1331 003570 001402 8EQ 708 ;IF YES THEN DO THIS SERJES OF TESTS
1332 003572 000137 004402 JMP SLUZRT :IF NO THEN SKIP THIS SERIES OF TESTS
1333 003576 005077 177164 708 : CLR aCTBUF LOAD XBUF
1334 003602 105777 177156 TSTB aCTCSR . CHECK DONE
1335 003606 100011 8PL 1% ;BR IF CLEAR
1336 :FILL SECOND BUFFER, BECAUSE REFRESH COULD CAUSE
1337 ; FIRST TEST TO FAIL
1338 003610 005077 1727152 (LR a(TBUF ;FILL DOUBLE BUFFER
1339 003614 105777 177144 TST8 aCTCSR ;CHECK DONE
1340 003620 100004 8PL 18 ;B8R IF CLEAR
1341 003622 004737 013304 JSR PC,8ATY4 :;ONLY REPORT A FATAL ERROR
(1) 003626 000003 3 ::THE ERROR NUMBER (FROM APT LIST)
1342 003630 000000 HALT ;TCSR ‘'DONE’' NOT CLEARED WITH TBUF FULL
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CJKDIA P11 20-0CT~81 16:08 TEST SLUT TCSR BIT7(DONE) CLEARS WHEN XBUF 1S LOADED SEQO 0035
1343 003632 005000 18: CLR RO ;CLEAR TIMER
1344 003634 105777 177124 2s: 1578 aCTCSR ;CHECK FOR XMIT DONE
1345 003640 100407 am] 1D :1F DONE SETS, BR TO END OF TEST
1346 003642 005200 INC RO :INCREMENT TIMER
1347 003644 001373 BNE 2$ :BR IF TIMER NOT DONE
1348 003646 004737 013304 JSR PC,$ATY4 :;ONLY REPORT A FATAL ERROR
(1) 003652 000004 4 ::THE ERROR NUMBER (FROM APT L]ST)
1349 003654 000000 HALT
1350 003656 000416 BR TST4 :BR TO NEXT TEST, AND SKIP THE TYPEOUT THAT FOLLOWS
}%g; : BECAUSE OF THIS FAILURE
1353 003660 023737 000042 000046 1ID: CMP ane2 ,anié ;UNDER ACT11?
1354 003666 001412 BEQ 6% :1F YES, SKIP IDENT. TYPEOUT
1355 003670 005737 001106 TST $PASS ;1S THIS THE FIRST PASS?
1356 003674 001007 BNE 63 :IF NOT BR TO NEXT TEST & SKIP THE IDENTIFICATION TYPEOU
1357 003676 005737 001110 TST $DEVCT ;1S THIS THE FIRST SUBPASS?
1358 003702 001004 BNE 63 :1F NOT, BRTO NEXT TEST
1359 003704 104401 TYPE :TYPE PROGRAM INDENTIFICATION
1360 003706 025476 M1
1361 003710 104401 TYPE :TYPE NUMBER OF DEVICES UNDER [EST
1362 003712 025510 M2
}%22 003714 6$:
1365 '-:ttttttttttttttltttttttttttttttttttttttttttttttttttttttttttttttt
(3) *TEST 4 TEST THAT SLU1 TCSR ‘DONE'' SETS WITH RESET
(3) '-:ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
(2) 003714 000004 TST4: SCOPE
(2) 003716 012737 000004 001104 MOV #6,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
1366 003724 032737 000001 001156 BIT #BITO,a#SDEVM ;DO THESE TESTS FOR THIS DEVICE?
(1) 003732 001002 BNE 99 ;F YES CONTINUE WITH TESTS
g}i 88§;28 000137 004402 995 JMP SLUZRT ;IF NO GO TO START OF NEXT SET OF TESTS.
1367 003740 005077 177022 CLR a8CTBUF :LOAD TRANSMIT BUFFER
1368 003744 105777 177014 1%: TSTB aCTCSR :WAIT FOR DONE
1369 003750 100375 8PL 1
1370 003752 005077 177010 CLR aCTBUF ;LOAD SECOND BUFFER
1371 003756 000240 NOP
1372 003760 000005 RESET ;CLEAR DONE WITH RESET
1373 003762 105777 176776 1ST8 aCTCSR ;CHECK FOR DONE SET
}ggg 003766 100401 BMI TSTS :BR TO NEXT TEST IF DONE SET
}%;g 003770 104005 ERROR 5 :TCSR 'DONE’‘ DOES NOT SE) WITH RESET
1378
1379
1380 '-_'tttttttt*Qttttttttttt*tttttttttttl*tttttttttttt*ttttttttttttttt
(3 J*TEST 5 TEST ABILITY TO ACCESS SLU1 RCSR
(3) '-,-tQtttttttttttttltttttttttttttttttt*tttttttttttt*ttlQtt.iitttttt
(2) 003772 000004 TSTS: SCOPE
(2) 003774 012737 000005 001104 MoV #5,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
1381 004002 013703 000004 Mov aké ,R3 ;SAVE TIMEOUT VECTOR
1382 004006 012737 004022 000004 MOV 418, N :SET UP TIMEOUT VECTOR
1383 004014 005777 176740 TST aCRCSR ;ACCESS RCSR
}ggé 004020 000402 BR 3 :BR TO END OF TEST
1386 004022 022626 1%: CMP (SP)+,(SP)+ ;RESTORE SP AFTER TIMEOUT




|
|

KDIAC
P

CJ
CJKDIA
1387

1388
1389

—_——
NN
0O
-0

AN AN NN N ™ o~
N O O O ONINI NN
NN NN~ e

— e d D e ed D D b e D a2
£ NN
OV VO
OO0~

N N N N N N N N N N N N N N N N N N N N N N N N N N R W
WHNWIWNWRLIN RONNUNONINININ) 2 0 = 2w S 0 a2 a0 O0OONNIWWOOOOO
B AN 2O OO NI WNN = OO0 NP NN = OO0 VO~ ~ v N N =

— D e d e b el i b ek od d e d ) e b o —d o e D d —d nd e

1

004024
004026

004060

004062
004064
004066

004072
004074
004102
004110
004114
004122
004126
004130
004136
004140

004142
006144
006146

004150
004156
004164

004166
004170
004176

004204
004206

004210

20-0CT~81 16:08

104006
010337

022626
104007
010337

000004
012737
062777
017703

104014
000402

022626
104015

052777
032777
001001

104016

042777
032777
001401
104017

000004

000006
000004
004062
176702

000094

000007
000100
176672
004144
012356

000100

000100
000100

000100
000100

117238 _SLU LTC REPR DIAG

001104
000004

001104
176654

176664

176626

176606
176600

176566
176560

K 3
?NHAC X246.07-563 02-FEB-82 16:42 PAGE 8-2

5 TEST ABILITY TO ACCESS SLU1 RCSR
ERROR 6 sCAN NOT ACCESS RCSR
2%: MOV R3,8%¢ JRESTORE TIMEOUT VECTOR

':ttttti*tttttttttttttttttttttttttttttt'ttttttttttttttttttttttttt

SeTEST 6 TEST ABILITY TO ACCESS SLU1 RBUF

':titttttttttttttQttttttttttttttttQttttt*ttttittit'ttitilttttttit

TST6:  SCOPE
MOV #6,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
MOV aré ,R3 :SAVE TIMEOUT VECTOR

MOV 218,304 *SET UP TIMEOUT VECTOR

TST aCRBUF ;ACCESS RBUF
BR 2% ;BR TO END OF TESY

1$: CMP (SP)+,(SP)+ JRESTORE SP AFTER TIMEOUT
ERROR 7 s CAN NOT ACCESS RBUF

2%: MoV R3,a#6 JRESTORE TIMEOUT VECTOR

':ttttt'itt*ttttttttttttttttttttt"ttt"tttttltttttttttittttilttt

S*TEST 7 TEST THAT SLUY BIT6(XMIT INT EN) CAN BE SET & RESET

;;'ttttttttttttttttttttttttttﬁttt'ttt'ttttttttttttttttttttt*tlttt

TST7:  SCOPE
MOV #7,STESTN ;SET TEST NUMBER IN APT MAIL BOX

BIC #BI1T6,aCTCSR JMAKE SURE BIT UNDER TEST IS INITIALIZED
MOV aCTVECT,R3 ;SAVE XMIT VECTOR
MOV #18,3CTVECT JSET UP INTERRUPT VECTOR FOR ERROR REPORT
JSR PC.WRPSW ;SET PSW TO PRIORITY=7
.WORD 340
BIT #B176,aCTCSR ;TEST BIT6 OF TCSR
BEQ 28 :BR IF ZERO
ERROR 14
;BIT6 IN TCSR NOT CLEAR AFTER RESET
BR 23
18: CMP (SP)+,(SP)+ :RESTORE SP AFTER INTERRUPT
ERROR 15
;XMIT INTERRUPT OCCURRED PRIO=7
2%: BIS #B176,aCTCSR ;SET BIT6 OF TCSR
BIT #8IT6,a8CTCSR ;TEST BIT6 OF TCSR
BNE 33 ;BR, IF SET
ERROR 16
;CANNOT SET BIT6 OF TCSR
3s: BIC #B176,aCTCSR ;CLEAR BIT6 OF TCSR
BIT #BIT6,aCTCSR ;TEST BIT6 OF TCSR
BEQ 43 :BR IF CLEAR
ERROR 17
;CANNOT CLEAR BIT6 OF TCSR
48

SEQ 0036
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001401
104020
010377

000004

012777
004737
000340
032777
001404
104021

000402
022626
104022

052777
032777
001001

104023
042777
032777
001401

104024

052777
000005
032777
001401

104025
010377

000100
000100

176550
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176522
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000100
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000100
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17 TEST THAT SLU1 BIT6(XMIT INT EN) CAN BE SET & RESET

5%:

8IS
RESET
8IT

13

ERROR
MoV

#8176 ,8CTCSR

#BIT6,aCTCSR
5%

20
R3,aCTVECT

3
16:42 PAGE 8-3

;SET BIT6 OF TCSR
:CLEAR BIT6 WITH RESET
sTEST BIT6 OF TCSR

:BR IF CLEAR

;CANNOT CLEAR BIVG OF TCSR WITH RESET
JRESTORE XMIT VECTOR

2122223322233 32233 3232332333233 232323232332832323233823332280 0323330202320 %80R 43/

TEST THAT SLU1 BIT6 OF RCSR CAN BE SET & RESET

tTEST 10

2172222323333 322333 2333332232333 23 223323332223 2332383220 3332002000020 1203/

TST|0

1%:

2%:

3%

4%

5%:

SCOPF
MOV
8]C
MOV
MOV
JSR

8IT
BEQ
ERROR
BR
CMP
ERROR

BIS
8IT
BNE

ERROR
BIC
8IT
BEQ

ERROR

BIS
RESET
BIT
BEQ

ERROR
MOV

#10,STESTN
#BIT6,aCRCSR
aCRVECT ,R3
#1$ ,aCRVECT
PC,WRPSW
.WORD 340
#8176 ,aCRCSR
2%

21

2%

(SP)+,(SP)+
22

#B1T6,3CRCSR
§?1T6.8CRCSR

23

#BIT6,9CRCSR
ngT6.8CRCSR

24
#BIT6,aCRCSR
#B1T6,3CRCSR
5%

25
R3,aCRVECT

;.SET TEST NUMBER IN APT MAIL BOX

JMAKE SURE BIT UNDER TEST IS INITIALIZED
sSAVE RECEJVE VECTOR

:SET UP INTERRUPT VECTOR FOR ERROR REPORT
:SET PSW TO PRIORITY=7

;TEST 8IT6 OF RCSR
;BIT6 OF RCSR NOT CLEAR AFTER RESET

;RESTORE SP AFTER INTERRUPT
;RCVR INTERRUPT WITH PRIORITY=7
;SET BIT6 OF RCSR

JTEST BIT6 OF RCSR

:BR, IF SET

;CANNOT SET BIT6 OF RCSR

;CLEAR BIT6 OF RCSR

JTEST B8IT6 OF RCSR
;BR, IF CLEAR

;CANNOT CLEAR BIT6 OF RCSR

;SET BIT6 OF RCSR

:CLEAR BIT60F RCSR WITH RESET
:TEST BIT6 OF RCSR

:BR, IF CLEAR

;CANNOT CLEAR BIT6 OF RCSR WITH RESET
tRESTORE RECEIVE VECTOR
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110 TEST THAT SLUT1 BIT6 OF RCSR CAN BE SET & RESET

SLUZRT:

':Ittttt.tt.Itttttitttttttttttttttttttttttttttttttttt‘ttttttttttt

SRTEST 11 TEST ABILITY TO ACCESS SLU2 TCSR

';tttt.ttt.tt.tttttttttttttttttttttttttttttttttttttttt'ttttttt..t

T§T11: SCOPE

MOV~ #11.STESTN .:SET TEST NUMBER IN APT MAIL BOX
BIT  #BIT1.3#SDEVM  -DO THESE TESTS FOR THIS DEVICE?
BNE 998 “F YES CONTINUE WITH TESTS
oy, P LTCRT “1F NO GO TO START OF NEXT SET OF TESTS.
MOV a4.R3 .SAVE TIMEOUT VECTOR
MOV #1S ak% “SET UP TIMEOUT VECTOR
ST aTCSR “REFERENCE THE XMIT COMMAND/STATUS REG.
/ &R 28 "€0 TO END OF TEST
18! e {SP)+.(sP>+  -RESTORE SP AFTER TIMEOUT
ERROR 31 XMIT CSR ADDRESS DOES NOT RETURN SSYNC
28: MOV R3.akd "RESTORE TIMEOUT VECTOR

';ittttttit*tittitititttitttttttttttttttttttttttttitiitttttttttit

TRTEST 12 TEST ABILITY TO ACCESS SLU2 TBUF

':tt.tttttt*tttttttt*ttttttittttttt.tttttt.ittttttt.ttttttttttit.

T§T12: SCOPE

MOV #12,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
MOV a#4 R3 ;SAVE TIMEOUT VECTOR
MoV #18,346 ;SET UP TIMEOUT VECTOR
TST aTBUF JREFERENCE THE XMIT BUFFER
BR 2% ;GO TO END OF TEST
1$: CMP (SP)+,(SP)+ JRESTORE SP AFTER TIMEOUT
ERROR 32 JXMIT BUFFER ADDRESS DOES NOT REUTRN SSYNC

2%: MoV R3,ax6 SJRESTORE TIMEOUT VECTOR

':ttttttttttttttttttttttttttttttitttttttttttttttttttttttitttttitt

S*TEST 13 TEST SLU2 TCSR BIT7(DONE) CLEARS WHEN XBUF IS LOADED

Y 2223223232228 2822223 3223323233333 3233323282230 ¢228300 008200000 dd )

T§T13: SCOPE

MOV #13,8TESTN ;.SET TEST NUMBER IN APT MAIL BOX

BIT #1, INSENV JARE WE RUNNING UNDER APT

JEQ 708 ;1F NO THEN DO TEST

TST @FSPASS ;1S THIS FIRST PASS
208 BNE TST14 ;IF NO THEN SKIP TO NEXT TEST

CLR o TBUF :LOAD XBUF

TSTB aTCSR s CHECK DONE

8°L 1% :BR IF CLEAR

JFILL SECOND BUFFER, BECAUSE REFRESH (OULD CAUSE
‘ ; FIRST TEST TO FAIL

CLR o TBUF ;FILL DOUBLE BUFFER

TST8 al (SR s CHECK DONE

8PL 18 :BR IF CLEAR

ERROR 33 sTCSR "DONE'* NOT CLEARED WITH TBUF FULL
18: CLR RO ;CLEAR TIMER
2s: TST8 aTCSR sCHECK FOR XMIT DONE

SEQ 0038
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(JXDIAO 11/238_SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB- 82 16:42 PAGE 9-1

CJKDIA.PNM 20-0CT1-81 16:08 T13 TEST SLU2 TCSR BIT7(DONE) CLEARS WHEN XBUF IS LOADED SEQ 0039
1524 004600 100473 BMI TST17 :1F DONE SETS, BR TO NEXT TEST
1525 004602 005200 INC RO ;s INCREMENT TI"ER
1526 004604 001373 BNE 23 BR IF TIMER NOT DONE
12%; 004606 104034 ERROR 34 :XMIT DONE BIT DOES NOT RESET AFTER TRANSMIT
1529
1530 Qﬁtﬁﬁtﬁtﬁ..'ﬁ....t.’ﬁ"ﬁ.’ﬁ'ﬁﬁtﬁﬁﬁﬁ‘.‘ﬁﬁﬁﬁﬁﬁﬁ..ﬁﬁﬁﬁ‘..ﬁﬁﬁﬁﬁﬁﬁﬁ.’ﬁﬁﬁ

(3 *TEST 14 TEST THAT SLU2 TCSR 'DONE'' SETS WITH RESET
(3) Qtti'ﬁﬁﬁﬁﬁ..ﬁﬁ'..tﬁﬁﬁﬁ‘ﬁﬁﬁ"ﬁﬁ‘ﬁ‘.ﬁﬁﬁﬁﬁﬁﬁ‘ﬁﬁﬁﬁ...‘.ﬁ'ﬁﬁﬁﬁﬁﬁ'ﬁﬁﬁ
(2) 004610 000004 75714 SCOPE
(%) 004612 012737 000014 001104 MOV #14,8TESTN :;SET TEST NUMBER IN APT MAIL B0OX
1531 004620 032737 000001 001120 BIT #1, SNSENV ;ARE WE RUNNING UNDER APT
(1) 004626 001403 BEQ 708 ;IF NO THEN DO TEST
(1) 004630 005737 001106 TST a#SPASS :1S THIS FIRST PASS
(2) 0046346 001015 BNE TST1S :1F NO THEN SKIP TO NEXT TEST
(1) 004636 70%:
1532 004636 005077 176114 CLR aTBUF :LOAD TRANSMIT BUFFER
1533 004642 105777 176106 18: TST8 aTCSR :WAIT FOR DONE
1534 004646 100375 BPL 1%
1535 004650 005077 176102 CLR aTBUF :LOAD SECOND BUFFER
1536 004654 000240 NOP
1537 004656 000005 RESET :CLEAR DONE WITH RESET
1538 004660 105777 176070 TST8 aTCSR CHECK FOR DONE SET
1538 004664 100520 BM] TST20 BR [0 NEXT TEST IF DONE SET
1541 004666 104035 ERROR 35 :TCSP "DONE'* DOES NOT SET WITH RESET
1543
1544
1545 IR RRE AR AR AN A ARE AR AR AR AR AR AR RANRR AR AN R RN RARR RN
(3) LeTEST 15 TEST ABILITY TO ACCESS SLU2 RCSR
(3) AR ANEANER AR AR TR AR R AN RN RAA AR RE AR R RN RRRR RN AR AR AR
(2) 004670 000004 TST15: SCOPE
(2) 004672 012737 000015 001104 MoV #15,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
1546 004700 013703 000004 MOV a#64 R3 ;SAVE TIMEOUT VECTOR
1547 004704 012737 004720 000004 MOV ”Ss ., ané :SET UP TIMEOUT VECTOR
1548 004712 005777 176032 TST aRCSR JACCESS RCSR
}ggg 004716 000402 BR 29 ;BR TO END OF TEST
1551 004720 022626 18: CMP (SP)+,(SP)+ :RESTORE SP AFTER TIMEOQOUT
1552 004722 104036 ERROR 36 :CAN NOT ACCESS RCSR
}ggz 004724 010337 000004 2%: MoV R3, a4 RESTORE TIMEOUT VECTOR
1555
1556
1557 AR RN R AR RAR AR R AR RENRAR RN AN RARRRARRRRRRRRRRARRAANRARAN
(3 *TEST 16 TEST ABILITY TO ACCESS SLUZ2 RBUF
(3) ,'ttttttttttttttttttttttttttttttttttttttttlttttttttttt!tttttttttt
(2) 004730 000004 TST16: SCOPE
(2) 004732 012737 000016 001104 MOV #16.8TESTN :SET TEST NUMBER IN APT MAIL BOX
1558 004740 013703 000004 MOV a#4 ,R3 SAVE TIMEOUT VECTOR
1559 004744 012737 004760 000004 MOV #18,an6 SET UP TIMEOUT VECTOR
1560 004752 005777 175774 TST aRBUF ACCESS RBUF
}gg; 004756 000402 BR 2% “BR TO END OF TEST
1563 004760 022626 1%: CMP (SP)+,(SP)+ :RESTORE SP AFTER TIMEOQUT
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DNMAC X24.07-563 02-FEB-82 16:42_ PAGE 9-2
T16 TEST ABILITY TO ACCESS SLUZ RBUF

37
R3,a#4

sCAN NOT ACCESS RBUF
sRESTORE TIMEOUT VECTOR

';'Qit"ttttttt'ttttQQttttttt"'tttQQQQQ'QQtttﬁtttttttttttﬁtttttt

TEST SLU2 BITO(BREAK BIT) CAN BE SET & CLEARED & RESET

':Qt't'tt'ttt't't'ttQt'tttt"Q'Qtttt't""tttt'ttt'tt"ttt'tttttt

ERROR
2$: MOV
SeTEST 17

7§T17: SCOPE
MOV

18: BIS

2s: BIC

3s:

708 :

#17,8TESTN
#81T0,@TCSR
1§110.a1csn

40
#B170,aTCSR
#BITO,aTCSR
2%

41
#8170,aTCSR
#BITC,aTCSR
3s

42

#1, SNSENV
708

aNSPASS
TST20

#BITO,aTCSR

#3IT0,aTCSR
TST20
#BITO0,aTCSR
43

;:SET TEST NUMBER IN APT MAJL BOX
sMAKE SURE BIT UNDER TEST IS INITIALIZED
sCHECK BITO OF TCSR CLEAR

;BR IF CLEAR

;BITO WAS NOT CLEAR AFTER RESET
;SET BITO IN TCSR

;TEST BITO OF T(CSR

;BR IF SET

;BITO OF TCSR WILL NOT SET

;CLEAR BITO OF TCSR

;TEST BITO OF TCSR

;BITO OF TCSR WILL NOT CLEAR

;ARE WE RUNNING UNDER APT

;IF NO THEN DO TEST

;1S THIS FIRST PASS

;IF NO THEN SKIP TO NEXT TEST

;SET BITO IN TCSR
;CLEAR BITO WITH RESET
sTEST BITO CLEAR
:BR IF CLEAR
;CLEAR BITO, TO PRINT ERROR
;RESET DID NOT CLEAR BITO OF TCSR

':ttttttttttttttttttt'Itttt'ttttttttttttttttttttt'ttttttttﬁtttttt

TEST THAT SLU2 BIT6(XMIT INT EN) CAN BE SET & RESET

':ttttttttttt'tttttt'ttttttttttttttttttttttttttt'tttttttttttttttt

LeTEST 20

TST20: SCOPE
MOV
8IC
MOV
MoV
JSR

BIT
BEOQ
ERROR
BR

1%: (mMp
ERROR

#20,$TESTN
#BIT6,aTCSR
aTVECT ,R3
#18 ,QTVECT
PC,WRPSW
.WORD 340
lg1T6.0TCSR

2
44
2%

(SP)+,(SP)+
45

;.SET TEST NUMBER IN APT MAIL BOX

JMAKE SURE BIT UNDER TEST IS INITIALIZED

;SAVE XMIT VECTOR

;SET UP INTERRUPT VECTOR FOR ERROR REPORT
:SET PSW TO PRIORITY=7

;TEST BIT6 OF TCSR
;BR IF ZERO

;B1T6 IN TCSR NOT CLEAR AFTER RESET

JRESTORE SP AFTER INTERRUPT
;XMIT INTERRUPT OCCURRED PRIO=7

SEQ 0040
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16:42 PAGE 9-3

CJXKDIAC 11/238_SLU LTC REPR DIAG DgBAC X24.07-563 02- FEB-82

CIKDIA.P11  20-0CT-81 16:08 TEST THAT SLU2 BITE(XMIT INT EN) CAN BE SET & RESET SEQ 0041

1607 005204 052777 000100 175542 28:  BIS  #BIT6,@TCSR  :SET BIT6 OF TCSR

1608 00512 032777 000100 175534 BIT  #BIT6.aTCSR  :TEST BIT6 OF TCSR

1609 005220 001001 BNE 38 :BR, IF SET

1611 005222 104046 ERROR 46

1612 :CANNOT SET BIT6 OF TCSR

1614 005226 042777 000100 175522 3$: BIC  #BIT6,RTCSR L CLEAR BIT6 OF TCSR

1615 005032 032777 000100 175514 BIT  #BIT6.aTCSR  :TEST BIT6 OF TCSR

1616 005240 001401 BEQ 48 “BR IF CLEAR

1617 005242 104047 ERROR 47

1618 :CANNOT CLEAR BIT6 OF TCSR

1620 005244 032737 000001 001120 4$: BIT  #1,@4SENV :ARE WE RUNNING UNDER APT

1621 005252 001403 BEQ 70§ “1F NO THEN DO TEST

1622 005254 005737 001106 TST  a#S$PASS *1S THIS FIRST PASS

1623 005260 001071 BNE 5§ *1F NO THEN SKIP TO END OF TEST

1624 005262 70s:

1625 005262 052777 000100 175464 BIS  #BIT6.aTCSR ;SET BIT6 OF TCSR

1626 005270 000005 RESET “CLEAR BIT6 WITH RESET

1627 005272 032777 000100 175454 BIT  #BIT6.3TCSR  :TEST BITé OF TCSR

1628 005300 001401 BEQ 5§ *BR IF CLEAR

1630 005302 104050 ERROR 50

1631 :CANNOT CLEAR BIT6 OF TCSR WITH RESET

1632 005304 010377 175466 58 : MOV R3,GTVECT *RESTORE XMIT VECTOR

1634

12%5 R 3222223832223 33323 3323233323223 3 3833222323333 2232222322282223 02122
(3 SATEST 21 TEST THAT SLU2 BIT6 OF RCSR CAN BE SET & RESET
(3) X 2223222222222 223 3222283233 23323823323232382223233232338323222282433% 2]
(2) 005310 000004 7§721:  SCOPE

(2) 005312 012737 000021 001104 MOV #21,STESTN ::SET TEST NUMBER IN APT MAIL BOX
1636 005320 042777 000100 175422 BIC  #8176.3RCSR  :MAKE SURE BIT UNDER TEST IS INITIALIZED

1637 005326 017703 175440 MOV  @RVECT.R3 *SAVE RECEIVE VECTOR

1638 005332 012777 005362 175432 MOV #1$,@RVECT SET UP INTERRUPT VECTOR FOR ERROR REPORT
1639 005340 004737 012356 JSR  PC,WRPSW “SET PSW TO PRIORITY=7

1640 005344 000340 _WORD 340

1641 005346 032777 000100 175374 BIT  #BIT6,3RCSR ;TEST BIT6 OF RCSR

1642 005354 001404 BEQ 23

1643 005356 104051 ERROR 51

1604 :BIT6 OF RCSR NOT CLEAR AFTER RESET

1645 005360 000402 BR 28

1647 005362 022626 1$: CMP (SP)+,(SP)+  :RESTORE SP AFTER INTERRUPT

1648 005364 104052 ERROR 52

1649 :RCVR INTERRUPT WITH PRIORITY=7

1651 005366 052777 000100 175354 2$:  BIS  #BIT6.aRCSR  ;SET BIT6 OF RCSR

1652 005374 032777 000100 175346 BIT  #BIT6.aRCSR  :TEST BIT6 OF RCSR

1653 005402 001001 BNE 3§ :BR, IF SET

1655 005404 104053 ERROR 53

1656 :CANNOT SET BIT6 OF RCSR

1658 005406 42777 000100 175334 38: BIC  #BIT6.aRCSR  ;CLEAR BIT6 OF RCSR



CJKDIAO 11/238 SLU LTC REPR DIAG

| CIKDIA. P11

1659
1660
1661
1662
1663
1664
1665
1666
1667
1668
1669
1670
1671
1672
1673
1674
1675
1676
1677
1678
1679
1680
1681
(3)
(3)
(2)
(2)
1682
1683
1684
1685
1686
1687
1688
1689
1690
1691
1692
1693

—~ A NTNNN N
NMNU“DCNDS?D
e NO N SN
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005422

005424

005426
005434
005436
005442
005444
005444
005452
005454
005462

005464
005466

005472
005474
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20-0CT-81 16:08

032777
001401

104054

032737
001403
005737
001011

052777
000005
032777
001401

104055
010377

000004
012737
005077
005000
005077
105777
100403

104056

032737
001403
005737
001005

000005
105777
001401
104057

005777

000004

000100

000001
001106

000100
000100

175300

000022
175244

175242
175230

000001
001106

175174

175166

175326

001120

175276
175266

001104

001120

DNHAC X24.07-563 02-FEB- 82
T TEST THAT SLUZ BIT6 OF RCSR CAN BE SET & RESET

8IT
BEQ

ERROR

48 BIT
BEQ
TST
BNE

BIS
RESET
8IT
8EQ
ERROR

5%: MOV

708:

#81T6,aRCSR
‘s
54

#1 ,aNSENV
708
ANSPASS
5%

#BIT6.aRCSR
#BIT6,aR(SR
5%

55
R3,aRVECT

4
16:42 PAGE 9-4

JTEST BITé OF RCSR
;BR, IF CLEAR

;CANNOT CLEAR BIT6 OF RCSR

;ARE WE RUNNING UNDER APT

;IF NO THEN DO TEST

;1S THIS FIRST PASS

:1F NO THEN SKIP TO END OF TEST

;SET BIT6 OF RCSR

;CLEAR BIT60F RCSR WITH RESET
;TEST BIT6 OF RCSR

;BR, IF CLEAR

;CANNOT CLEAR BIT6 OF RCSR WITH RESET
sRESTORE RECEIVE VECTOR

R 2223322222222 222022 2003280000322 202 80803 300000 d8fi0R00dt020200R 1]

TEST THAT SLUZ RCVR DONE (7) SET & CLEAR PROPERLY

2333222322322 2828223232232302382 3230232323283 223232230202823232822232232 2]

*TEST 22
TST22 SCOPE

MOV #22.8TESTN
CLR aRBUF
CLR RO
(LR aTBUF
WDONE: TSTB aRCSR
8MI] 18
INC RO
B8NE WDONE
ERROR 56
1%: BIT #1,a#SENV
8EQ 708
ST aNSPAS S
B8NE 2
708 :
RESET
TST8 aR(SR
8EQ 2%
ERROR 57
2s: TST aRBUF

;ARE WE

;o SET TEST NUMBER IN APT MAIL BOX
;INITIALIZE REGISTER BEFORE TESTING
;CLEAR TIMER

;LOAD TRANSMIT BUFFER

s CHECK FOR RECEIVER DONE

;BR, IF DONE

s INCREMENT TIMER, IF NOT DONE
sCONTINUE WAIT IF TIME REMAINS

JRECEIVER DONE NEVER SET

RUNNING UNDER APT

:IF NO THEN DO TEST

;1S THIS FIRST PASS

;IF NO THEN SKIP TO END OF TEST

;CLEAR DONE WITH RESET
;CHECK FOR DONE CLEAR

JRESET DID NOT CLEAR RCVR DONE
;CLEAR RECEIVER BUFFER

*ttt**t'tt'itttﬁtiﬁﬁﬁﬁtttitttttttttttttttttitttt!ttt!tttttttttt

TEST SLUZ THAT READING RBUF CLEARS RECEIVER DONE

222222223883 2223222323232322222202222222802330R 00023020000 20000d0dH

tTEST 23
TST23: SCOPE

SEQ 0042
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CJKDIAD 11/238_SLU LTC REPR DIAG ?ZM;AC X24.07-563 02-FEB-82 16:42 PAGE 9-5

CIXDIA.P11 ~ 20-0CT-81 16:08 TEST SLU2 THAT READING RBUF CLEARS RECEIVER DONE SEQ 0043
(2) 005566 012737 000023 001104 MOV #23,$TESTN ::SET TEST NUMBER IN APT MAIL BOX
1708 005574 005077 175152 CLR aRBUF *INITIALIZE REGISTER BEFORE TESTING
1709 005600 005077 175152 CLR aTBUF *LOAD TRANSMITTER
1710 005604 105777 175140 18: TSTB  @RCSR *WAIT FOR RECEIVER DONE
1711 005610 100375 BPL 1$
1212 005612 017700 175134 MOV aRBUF .RO ;READ RECEIVE BUFFER
1713 005616 105777 175126 TSTB  @RCSR *CHECK FOR RECEIVE DONE CLEAR
1714 005622 001401 BEQ TST24 ‘BR, IF CLEAR TO NEXT TEST
1715 005624 104060 ERROR 60
1716 :READING RBUF DID NOT CLEAR RCVR DONE
;;}; 005626 LTCRT:
1719 IR AN R AR R R AR AR R A RR AR R RN R AR AT AANAA AR AN AN AN AN
(3) SRTEST 24 TEST ABILITY TO ACCESS LKS
(3) ""ttttttttttitii*tttttttttttttitttttttttttttttttttttiittttitttttt
(2) 005626 000004 TST24: SCOPE
(2) 005630 012737 000024 001104 MOV #24,$STESTN ;:SET TEST NUMBER IN APT MAIL BOX
1720 005636 032737 000004 001156 BIT #B8]T2.3#8DEVM  -DO THESE TESTS FOR THIS DEVICE?
(1) 005644 001002 BNE 998 *F YES CONTINUE WITH TESTS
2}; 8822?3 000137 006100 oo JMP UNIQUE “IF NO GO TO START OF NEXT SET OF TESTS.
1721 005652 013703 000004 ) MoV ax4 ,R3 ;SAVE TIMEOUT VECTOR
1722 005656 012737 005672 000004 MOV M1, an “SET UP TIMEOUT VECTOR
1723 005664 005777 175100 TST aLkS *ACCESS LKS
};§§ 005670 000402 B8R 28 *NO TIMEOUT - BR TO END OF TEST
1726 005672 022626 1%: CMP (SP)+, (SP)+ :RESTORE SP AFTER TIMEOUT
};gg 005674 104061 ERROR 61 *CAN NOT ACCESS LKS
};gg 005676 010337 000004 28: MOV R3,ak4 ;RESTORE TIMEOUT VECTOR
1731 ""tttttttttttttittttttttttttttttttttttttttttitttttttttttittiitttt
(3) S*TEST 25 TEST THAT BIT6 OF LKS CAN BE SET € RESET
(3) ;"ttttttttttttttttttttt*tttittttttttttttttttt*ttttttttttttttttttt
(2) 005702 000004 78§125: SCOPE
(2) 005704 012737 000025 001104 MOV #25,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
1732 005712 042777 000100 175050 BIC #B176,3LKS ‘MAKE SURE BIT UNDER TEST 1S INITIALIZED BEFORE TESTING
1733 005720 017703 175066 MOV aRTCVT,R3 “SAVE LINE CLOCK VECTOR
1734 005724 012777 005754 175060 MOV #18,aRTCVT “SET UP INTERRUPT VECTOR FOR ERROR REPORT
1735 005732 004737 012356 JSR PC,WRPSW ‘SET PSW TO PRIORITY 7
1736 005736 000340 LWORD 340
1737 005740 032777 000100 175022 BIT #BIT6,aLKS ;TEST BIT6 OF LKS
1738 005746 001404 8EQ 2
1739 005750 104062 ERROR 62
1740 :BIT6 OF LKS NOT CLEAR AFTER RESET
};2; 005752 000402 BR 2
1743 005754 022626 1%: CMP (SP)+,(SP)+ :RESTORE SP AFTER INTERRUPT
1744 005756 104063 ERROR 63
11;22 :LKS INTERRUPT WITH PRIORITY=7
1747 005760 052777 000100 175002 2%: BIS #BIT6.aLKS ;SET BIT6 OF LKS
1748 005766 032777 000100 174774 BIT #B1T6.aLKS “TEST BIT6 OF LKS
};gg 005774 001001 BNE 3$ ‘BR IF SET
1751 005776 104064 ERROR 64
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17238 SLU LTC REPR DIAG
1 20-0CT-81

16:08

000100
000160

000001
001106

000100
000100

174726

000026
000001

001106

000340

006066
006066

000005

000100
006066
000005
000100

174724
174714

177776

000000

F
DNMAC X24.07-563 02-FEB-82

125

3s:

43

708 :

5%:

DADTBL: .

TBLEND: .

UNIQUE :

4
16:42 PAGE 9-6

TEST THAT BIT6 OF LKS CAN BE SET & RESET

#BIT6,3LKS
#81T6,aLKS
43

65
#1,3N8ENV
70$

aNSPASS
5%

#BIT6,3LKS
#BIT6,aLKS
5%

66

R3,aRTCVT
UNIQUE

s CANNOT SET BIT6 OF LKS

;CLEAR BIT6 OF LKS
JTEST BIT6 OF LK

;CANNOT CLEAR BIT6é OF LKS

;ARE WE RUNNING UNDER APT

;IF NO THEN DO TEST

;1S THIS FIRST PASS

;IF NO THEN SKIP TO END OF TEST

;SET BIT6 OF LKS

;CLEAR BIT6 OF LKS WITH RESET
;TEST BIT6 OF LKS

;BR IF CLEAR

;CANNOT CLEAR BIT6 OF LKS WITH RESET
JRESTORE LINE CLOCK VECTOR
;G0 TO NEXT TEST

'ttt'ttttttttttttttt'iittitt'ttttttttttttttttttitttttttititittt

tTEST 26

TST26:

70%:

1%:

2s:

3¢:
(%

SCOPE

UNIQUE INTERNAL ADDRESS TEST

X22ZT222222323332222822223 23222020022 220020000000 0000 adRtdasddd)

#26,$TESTN
#1, INSENV
708
S#SPASS
TST27

#340,PS

#DADTBL ,RO
#DADTBL ,R3

#5.R1
a(R3)+
R1,2$
#BIT6,a(RO)
#DADTBL ,R1

#5,R2
agxrs,a<a1)+

5
R2.3$

;2SET TEST NUMBER IN APT MAIL BOX
JARE WE RUNNING UNDER APT

;IF NO THEN DO TEST

;1S THIS FIRST PASS

;IF NO THEN SKIP TO NEXT TEST

;WE WILL BE PLAYING WITH BITé

;S0 LOCK OQUT EXTRAINEQOUS INTERRUPTS
*GET LOCATION OF FIRST REGISTER ADDRESS
*MAKE R3 POINT TO LOCATION OF FIRST
:REGISTER ADDRESS

;SET LOOP COUNTER TO CLEAR ALL REG.
;CLEAR A REGISTER

$LOOP UNTIL ALL REGISTERS CLEARED

;SET TEST BIT IN DEVICE REGISTERS

:GET LOCATION OF FIRST REGISTER ADDRESS
:SET UP TEST LOOP COUNTER

;1S TEST BIT SET IN THIS REGISTER

;1F YES GO SEE IF THERE IS AN ERROR
*LOUP UNTIL ALL REGISTER CHECKED

SEQ 0044
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CJKDIA.PT 20~0C7-81 16:08 126 UNIQUE INTERNAL ADDRESS TEST SEQ 0045
1800 006202 005030 CLR 3(RO)+ ;CLEAR REGISTER JUST TESTED AND POINT
1801 ;TO NEXT ONE
1802 006204 020027 006076 CMP RO,#TBLEND
1803 006210 001421 BEQ 7$
1804 006212 000752 BR 1% sCONTINUE TESTING
1805 006214 021041 5%: cmp (RO),=(R1) ;DID WE COMPARE THE REGISTER TO ITSELF?
1806 006216 001413 BEQ 63 ;1F YES GET OVER ERROR CALL
1807 006220 011037 001020 MOV (RO) , $GDADR ;I1F NO SET UP ERROR INFORMATION
'808 006224 011137 001022 MoV (R1) ,$BDADR
1809 006230 017037 000000 001024 MoV @ (RO) ,$GDDAT
1810 006236 017137 000000 001026 MOV a(R1) ,$BDDAT
1811 006244 104072 ERROR 72 JWRITE TO 1 INTERNAL ADDRESS MODIFIED
1812 ;ANOTHER SO ADDRESS NOT UNIQUE
1813 006246 062701 000002 6%: ADD #2,R1 JRESTORE POINTER
1814 006252 000752 BR 33 :GET BACK IN TEST LOOP
1815 006254 005000 7%: CLR RO
1816 006256 005200 8%: INC RO
18}; 006260 001376 BNE 8%
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006262

006262
006264
006272
006300
006302
006306
006310
006314
006314
006322
206324
006330
006330
006332
006340
006344
006352
006356
006360
006364
006366

006370
006372

006374
006402
006410

006412

006414
006422
006424

006430
006432
006440
006446
006452
006454
006460

006504

20-0CT1-81 16:08

000004
012737
032737
001405
005737
001402
000137

032737
001002
000137

000005
042777
017703
012777
105777
100375
004737
000140
000402

022626
104074

012777
052777
000240

104075

042777
022626
010377

000004
012737
042777
004737
000340
017703
012777
105777
100375
052777
000240
000402

000027
000001

001106
007016
000001
007016
000100
174642
006370
174406

012356

006414
000100

000100
174356

000030
000100
012356

174326
006506
174272

000100

001156

174424
174434

174404
174354

174342

174320

174262
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UNIQUE INTERNAL ADDRESS TEST

126

SLUNIT:

-;t!tttttttttiitiititttittiiittttttttttttttitttQtttttttttttttttt'

TEST THAT SLU1 XMIT INTERRUPTS ONLY WHEN ENABLED

S*XTEST 27

’;ttttttttttttttttttttttttttttittttttttttttttttttttt!ttttttt!t!tt

TS127:

70%:

99%:

1%:

2%:

3s:

4%:

SCOPE
MOV
BIT
BEQ
TST
BEQ
JMP

8IT
BNE
JMP

RESET
BIC
MOV
Mov
T1STB
8PL
JSR

BR

cMP
ERROR

MOV
BIS
NOP

ERROR
8IC

CMP
MOV

#27,$TESTN
#1,INSENV
70%
S¥SPASS
708

stuelr
#BITO,a#SDEVM
998

SLu2IT

#B176,aCTCSR
aCTVECT ,R3
#2%,aCTVECT
aCTCSR
1%
PC,WRPSW
. WORD

3$

(SP)+,(SP)+
74

W48 ,aCTVECT
#8IT6,aCTCSR

140

75

#8176,aCTCSR
(SP)+,(SP) ¢+
R3,aCTVECT

;. SET TEST NUMBER IN APT MAJL BOX

;IF _NOT UNDER APT

; THEN RUN THIS SERIES OF TESTS

; ELSE IF FIRST PASS

: THEN RUN THESE TESTS

H ELSE DO NOT RUN THESE TESTS

;DO THESE TESTS FOR THIS DEVICE?
;F YES CONTINUE WITH TESTS
;IF NO GO TO START OF NEXT SET OF TESTS.

;CLEAR THE WORLD

;CLEAR TRANSMIT INTERRUPT ENABLE
sSAVE XMIT VECTOR

JPOINT XMIT VECTOR TO ERROR REPORT
;WAIT FOR DONE

;SET PSW TO PRIORITY 3

JRESTORE SP AFTER INTERRUPT

sXMIT INTERRUPTS WITH INTERRUPT ENABLE CLEAR
;SET XMIT VECTOR TO LND OF TEST
JENABLE INTERRUPTS

;XMIT DID NOT INTERRUPT
sDISABLE INTERRUPTS

JRESTORE SP AFTER INTERRUPT
SJRESTORE XMIT VECTOR

';ttttttit*ttttt*tttttttit*tiitttttttttittttitttttttttttttttttttt

S*TEST 30

757130:

1$:

SCOPE
MOV
BIC
JSR

MOV
MOV
TSTB
BPL
BIS
NOP
BR

TEST SLUT XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED

(SE 2332388222823 20202R00 002 2232008030222 f300 000030000 40)

#30,$TESTN
#BIT6,aCTCSR
PC,WRPSW
.WORD 340
aCTVECT,R3
#28 ,aCTVECT
aCTCSR

1$
#BIT6,aCTCSR

3$

;;SET TEST NUMBER IN APT MAIL BOX
;DISABLE INTERRUPTS
;SET PSW TO PRIORITY 7

;SAVE XMIT VECTOR

;POINT XMIT VECTOR TO ERROR REPORT
;WAIT FOR DONE

JENABLE INTERRUPT

;CONTINUE TEST

SEQ 0046
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22626
04076

=0

000240
000402

022626
104077

010377

000004
012737
062777
017703
017704
012777
012777
004737
000140
105777
100375
052777
000240

104100

022626
012777
004737
000140
000240
042777
000402

022626
106101

010377
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042777
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006540
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174236
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006670
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1746260
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TEST SLUT XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED SEQ 0047
28: CMP (SP)+,(SP)+ JRESTORE SP AFTER INTERRUPT
ERROR 76
JXMIT INTERRUPTS AT PRIORITY=7
3s: 8IC #BIT6,3CTCSR ;CLEAR INTERRUPT ENABLE
MOV #48 ,aCTVECT ;POINT XMIT VECTOR TO_ERROR REPORT
JSR PC,WRPSW ;SET PSW TO PRIORITY 3
.WORD 140
NOP
BR 5% :BR TO END OF TEST-NO INTERRUPT
48: CMP (SP)+,(SP)+ JRESTORE SP AFTER INTERRUPT
ERROR 77
:XMIT INTERRUPT OCCURES WITH BIT6 CLEAR
5%: MoV R3,a8CTVECT JRESTORE XMIT VECTOR

(SR EE22I220 2332082222200 20 22202 020R00R0RR iRttt RRRtRRRdRtRRdtRllR 2]

';TEST 31 TEST SLUT TRANSMITTER FOR DOUBLE INTERRUPTS

3 8332323223323 3323322233882 3232328d 803 220RRRRR30dRRRR0 2R 2R

TST31 SCOPE

MOV #31,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
8IC #BIT6,8CTCSR  -CLEAR INTERRUPT ENABLE
MOV aCTVECT,R3 *SAVE XMIT VECTOR
MOV aCTPSW, R4 ‘SAVE XMIT PSW VECTOR
MOV 428, 3CTVECT “SET UP XMIT VECTOR
MOV #340,3CTPSW ‘SET PIO 7 AFTER INTERRUPT
JSR PC,WRPSW “SET PSW TO PRIORITY 3
.WORD 140
1$: TSTB  aCTCSR ;WAIT FOR DONE
B8PL 1$
BIS #BIT6,3CTCSR  ;ENABLE INTERRUPTS
NOP
ERROR 100
:XMIT INTERRUPT DID NOT OCCUR
28: CMP (SP)+, (SP)+ *RESTORE SP AFTER INTERRUPT
MOV #48,aCTVECT *POINT XMIT VECTOR TO ERROR
JSR PC,WRPSW *SET PSW TO PRIORITY 3
LWORD 140
NOP :GIVE TIME FOR ANY INTERRUPTS
8IC #8IT6.3CTCSR  :DISABLE INTERRUPTS
B8R 5$ *BR TO END OF TEST
48: CMP (SP)+, (SP)+ :RESTORE SP AFTER INTERRUPT
ERROR 101
;XMIT RE=~INTERRUPTED
58 : MOV R3,3CTVECT "RESTORE XMIT VECTOR
MOV R&.aCTPSW *RESTORE XMIT PSW VECTOR

AN AR AR AN R AN AR R R AN R R AN AN N RN RN RN RN R RN RN RN RN R AN
*TEST 32 TEST THAT SLUT XMIT INTERRUPT CLEARS WITH LOADING TBUF
R I T T e T e
TST32: SCOPE
MoV #32,STESTIN ;.SET TEST NUMBER IN APT™ MAIL BOX
8IC #BIT6,aCTCSR ;DISABLE INTERRUPTS
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P11 20~0CT-81 16:08 132 TEST THAT SLUT XMIT INTERRUPT CLEARS WITH LOADING TBUF
006722 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 7
006726 000340 .WORD ~ 34
006730 017703 174052 MOV aCTVECT,R3 ;SAVE XMIT VECTOR
006734 012777 007006 174044 MOV #28,aCTVECT :POINT XMIT VECTOR TO ERROK
006742 052777 000100 174014 BIS #8176,8CTCSR  :ENABLE INTERRUPTS
006750 005077 174012 CLR aCTBUF :LOAD TBUF
006754 105777 174004 18: TSTB  aCTCSR WAIT FOR DONE (INTERRUPT)
006760 100375 BPL 18
006762 005077 174000 CLR aCTBUF :FILL SECOND BUFFER TO RESET INT.
006766 004737 012356 JSR PC.WRPSW :ALLOW INTERRUPTS
006772 000140 .WORD ~ 140
006774 000240 NOP :GIVE TIME FOR ANY INTERRUPTS
006776 042777 000100 173760 BIC #81T6,3CTCSR  :DISABLE INTERRUPTS
007004 000402 BR 38 :BR TO END OF TEST
007006 022626 28: cMP (SP)+,(SP)+ :RESTORE SP AFTER INTERRUPT
007010 104102 ERROR 102
;LOADING TBUF DID NOT CLEAR INTERRUPT.
007012 010377 173770 3s: MOV R3,aCTVECT :RESTORE XMIT VECTOR
007016 SLU2IT:
::ttttttttttttitttttttiittttttttttttttitttttttttttitttitttttttttt
ATEST 33 TEST THAT SLU2 XMIT INTERRUPTS ONLY WHEN ENABLED
:;ttitiitiittttittttiit*ittititttttttiittittttttttttiittttttiiitt
007016 000004 TST33:  scoPe
007020 012737 000033 001104 MOV #33,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
007026 032737 000002 001156 BIT #B171,a#SDEVM  :DO THESE TESTS FOR THIS DEVICE?
007034 001002 BNE 998 *F YES CONTINUE WITH TESTS
007036 000137 010762 008 JMP LTCIT *IF NO GO TO START OF NEXT SET OF TESTS.
007042 042777 000100 173704 BIC #81T6,aT(SR ;CLEAR TRANSMIT INTERRUPT ENABLE
007050 017703 173722 MOV aTVECT,R3 SAVE XMIT VECTOR
007054 012777 007100 173714 MOV #28 ,ATVECT :POINT XMIT VECTOR TO ERROR REPORT
007062 105777 173666 18: TSTB  aTCSR *WAIT FOR DONE
007066 100375 BPL 18
007070 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 3
007074 000140 .WORD ~ 140
007076 000402 BR 3s
007100 022626 28: CMP (SP)+,(SP)+ ;RESTORE SP AFTER INTERRUPT
007102 104116 ERROR 116
;XMIT INTERRUPTS WITH INTERRUPT ENABLE CLEAR
007104 012777 007124 173664 3$: MOV #4$,ATVECT :SET XMIT VECTOR TO END OF TEST
007112 052777 000100 173634 8IS #8176,3TCSR :ENABLE INTERRUPTS
007120 000240 NOP
007122 104117 ERROR 117 ;XMIT DID NOT INTERRUPT
007124 042777 000100 173622 4$: BIC #81T6,aTCSR ;DISABLE INTERRUPTS
007132 022626 CMP (SP)+.(SP)+ *RESTORE SP AFTER INTERRUPT
007134 010377 173636 MOV R3,aTVECT RESTORE XMIT VECTOR

::tttt*ttittttﬁttttiittttttttttitttttiitttttitttttitttttttttttttt
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007270
007276
007302
007306
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20-0CT-81

000004
012737
042777
004737
000340
017703
012777
105777
100375
052777
000240
000402

022626
104120

042777
012777
004737
000140
000240
000402

022626
104121

010377

000004
012737
042777
017703
017704
012777
012777
004737
000140
105777
100375
052777
000240

104122

022626
012777
004737
000140

16:08
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000100
007250
012356

173516
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000100
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007350
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173420
000100

007400
012356
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TEST SLUZ2 XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED

134

s*TEST 34

75734

13:

2%:

3s:

4%

5%:

SCOPE
Mov
BIC
JSR

MoV
MOV
TSTB
BPL
BIS
NOP
BR

CMP
ERROR

BIC
MOV
JSR

NOP
BR

CMP
ERROR

MoV

TEST SLU2 XMIT INTERRUPTS DO NOT OCCUR WHEN DISABLED

BE 2322222222232 222 2222322222232 222 R2RR2RRRRRRRRRRRRRRRRRRRR RS RE)

#34 ,STESTN
#BIT6,aTCSR
PC,WRPSW
.WORD 340
JTVECT,R3
#28 ,TVECT
aTCSR

1%
#BIT6,aTCSR
3s

(SP)+,(SP)+
120

#BIT6,aTCSR
#468 ,QTVECT
PC,WRPSW
.WORD 140
5%

(SP)+,(SP)+
121

R3,aTVECT

ssSET TEST NUMBER IN APT MAIL BOX
;DISABLE INTERRUPTS

;SET PSW TO PRIORITY 7

JSAVE XMIT VECTOR

JPOINT XMIT VECTOR TO ERROR REPORT
JWAIT FOR DONE

;ENABLE INTERRUPT

;CONTINUE TEST

JRESTORE SP AFTER INTERRUPT

JXMIT INTERRUPTS AT PRIORITY=7
;CLEAR INTERRUPT ENABLE

;POINT XMIT VECTOR TO _ERROR REPORT
;SET PSW TO PRIORITY 3

:BR TO END OF TEST-NO INTERRUPT
JRESTORE SP AFTER INTERRUPT

;XMIT INTERRUPT OCCURES WITh BIT6 CLEAR
JRESTORE XMIT VECTOR

';tttttttttttttttttttttttttttttttttttitttttttttttttttttttttitttti

LRTEST 35

TS135:

1%:

’%:

SCOPE
MOV
8IC
MoV
MOV
MOV
MOV
JSR

TST8
BPL
BIS
NOP

ERROR

CMP
MOV
JSR
.WORD

TEST SLU2 TRANSMITTER FOR DOUBLE INTERRUPTS

':tttiitttttttttttttt'tttttttitttttttttttttttttttitt*ttttttttt'ti

#35,8TESTN
#BIT6,3TCSR
aTVECT,R3
aTPSW, R4
#28 aTVECT
#340,aTPSW
PC,WRPSW
LWORD 140
aTCSR

1%
#BIT6,aTCSR

122

(SP)+,(SP)+
#6S ,0TVECT

PC ,WRPSW
140

;:SET TEST NUMBER IN APT MAIL BOX
;CLEAR INTERRUPT ENABLE

;SAVE XMIT VECTOR

JSAVE XMIT PSW VECTOR

;SET UP XMIT VECTOR

;SET PIO 7 AFTER INTERRUPT

;SET PSW TO PRIORITY 3

;WAIT FOR DONE
;ENABLE INTERRUPTS

JXMIT INTERRUPT DID NOT OCCUR
JRESTORE SP AFTER INTERRUPT
;POINT XMIT VECTOR TO_ERROR
;SET PSW TO PRIORITY 3

SEQ 0049
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135 TEST SLU2 TRANSMITTER FOR DOUBLE INTERRUPTS

4

5%:

NOP
8IC
BR

CMpP
ERROR

Mov
MoV

#BIT6.QTCSR
5%
(SP)+,(SP)+
123

R3,aTVECT
R4 ,aTPSW

4
16:42 PAGE

;GIVE TIME FOR ANY INTERRUPTS
;DISABLE INTERRUPTS
;BR TO END OF TEST

JRESTORE SP AFTER INTERRUPT
JXMIT RE-INTERRUPTED

JRESTORE XMIT VECTOR
JRESTORE XMIT PSW VECTOR

2222222832233 2 3822222222233 02 800 0d0 02 Rt RRR R RRtRRtRtldd

TEST THAT SLUZ XMIT INTERRUPT CLEARS WITH LOADING TBUF

*TEST 36

"tttttttttﬁQtttttttttttttttttttttttttttttttttttttﬁﬁtttttttt'tttt

75T36:

708 :

1%:

2s:

3s:

SCOPF
MoV
8IT
BEQ
TST
BNE

8IC
JSR

MoV
MoV
BIS
CLR
TSTB
BPL
CLR
JSR

NOP
8IC
BR

CMP
ERROR

CLR
INC
BNE
TST
MoV

#36,8TESTN
#1, SINSENV
70%
AASPASS
1ST137

#BIT6,aTCSR
PC,WRPSW
.WORD 340
aTVECT,R3
#28 ,@TVECT
#81T6,a8TCSR
aT8UF

aTCSR

18

aT8UF
PC,WRPSW
.WORD 140

#BIT6,ITCSR
3$
(SP)+,(SP)+
124

aRBUF
R3,aTVECT

;:SET TEST NUMBER IN APT MAL BOX
;ARE WE RUNNING UNDER APT

s1F NO THEN DO TEST

;IS THIS FIRST PASS

;IF NO THEN SKIP TO NEXT TEST

;DISABLE INTERRUPTS
;SET PSW TO PRIORITY 7

;SAVE XMIT VECTOR

sPOINT XMIT VECTOR TO ERROR
JENABLE INTERRUPTS

;LOAD TBUF

:WAIT FOR DONE (INTERRUPT)

JFILL SECOND BUFFER TO RESET INT.
;ALLOW INTERRUPTS

;GIVE TIME FOR ANY INTERRUPTS
;DISABLE INTERRUPTS
;BR TO END OF TEST

JRESTORE SP AFTER INTERRUPT

;LOADING TBUF DID NOT CLEAR INTERRUPT.

sINITIALIZE LOOP COUNTER

: INCREMENT LOOP COUNTER
SUNTIL LOOP COUNTER EQUALS 0
;CLEAR RECEIVER BUFFER
:RESTORE XMIT VECTOR

1222223322223 2228222222232 8323338223233 2333232002330 80222 dtd)

TEST THAT RCVR INTERRUPTS ONLY WHEN ENABLED

*TEST 37

2222323323232 2222232223232 3 28233222222 220 d ittt isd )

TST37

SCOPE
MOV
8IC
BIC
Mov

#37 ,STESTN

#B1T6,aTCSR
#BIT6,aRCSR

SRVECT ,R3

;.SET TEST NUMBER IN APT MAIL BOX
;DISABLE TRANSMIT INTERRUPTS
:DISABLE RECEIVER INTERRUPTS
*SAVE RECEIVE VECTOR

SEQ U ¢
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CJKDIA.P11 20-0CT7-81 16:08 137 TEST THAT RCVR INTERRUPTS ONLY WHEN ENABLED SEQ 0051
2053 007606 012777 007636 173156 MOV #28 ,aRVECT :POINT RCV VECTOR TO ERROR REPORT
2054 007614 004737 012356 JSR PC.,WRPSW :SET PSW TO PRIORITY 3
2055 007620 000140 .WORD 140
2056 007622 005077 173130 CLR aTBUF :SEND A CHARA(CTER
2057 007626 105777 173116 1%: 1S18 aRCSR :WAIT FOR RECEIVER DONE
2058 007632 100375 BPL 1% _

5828 007634 000402 BR 3s JCONTINUE TEST

2061 007636 022626 2s: cMp (SP)+,(SP)+ sRESTORE SP AFTER INTERRUPT

2062 007640 104125 ERROR 125

%822 RECEIVER INTERRPUTS WITH INT. ENABLE CLEAR

2065 007642 012777 007662 173122 3%: MOV #4$ ,aRVECT :POINT RCV VECTOR TO END OF TEST

2066 007650 052777 000100 173072 BIS #BIT6,a8RCSR ;ENABLE RCV INTERRUPTS

2067 007656 000240 NOP :GIVE ANY INTERRUPTS TIME

2068 007660 104126 ERROR 126

5893 :RCVR DID NOT INTERRUPT

2071 007662 042777 000100 173060 4$: BIC #BIT6,3RCSR ;DISABLE INTERRUPTS

2072 007670 022626 CMP (SP)+,(SP)+ RESTORE SP AFTER INTERRUPT

58;2 007672 010377 173074 MOV R3,aRVECT RESTORE RECEIVE VECTOR

2075

2076 AN AR AR AN AN RN A AN RN AR AR AR AN AR AN AR AN AR AN AR R AR AR AR
(3) 'TEST 40 TEST THAT RCVR INTERRUPTS DO NOT OCCUR WHEN DISABLED
(3) R 2R AR R R 2222222322332 2382 233 X232233023822380223308238808028200 fR¢%31
(2) 007676 000004 TST40: SCOPE
(2) 007700 012737 000040 001104 MOV #40,STESTN ::;SET TEST NUMBER IN APT MAIL BOX

2077 007706 004737 012356 JSR PC,WRPSW :SET PSW TO PRIORITY 7

2078 007712 000340 .WORD 340

2079 007714 017703 173052 MOV dRVECT ,R3 ;SAVE RECEIVE VECTOR

2080 007720 012777 007752 173044 MOV #28 ,8RVECT :POINT RCVR VECTOR TO ERROR REPORT

2081 007726 005077 173024 CLR aTBUF JSEND A CHARACTER

2082 007732 105777 173012 18: 1ST8 3RCSR :WAIT FOR RECEIVER DONE

2083 007736 100375 8PL 18

2084 007740 052777 000100 173002 8IS #BI1T6,3RCSR ;ENABLE INTERRUPTS

2085 007746 000240 NOP :GIVE TIME FOR INTERRUPT

2086 007750 000402 BR 3s ;CONTINUE TEST

2087 007752 022626 2%: CMP (SP)+,(SP)+ :RESTORE SP AFTER INTERRUPT

2088 007754 104127 ERROR 127

5833 :RCVR INTERRUPTS AT PRIORITY 7

2091 007756 042777 000100 172764 3$: BIC #BIT6,3RCSR :CLEAR INTERRUPT ENABLE

2092 007764 012777 010004 173000 MOV #48 ,3RVECT “POI*T RCVR VECTOR TO ERROR REPORT

2093 007772 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 3

2094 007776 000140 .WORD 140

2095 010000 000240 NOP :GIVE TIME FOR ANY INTERRUPT

5839 010002 000402 BR 5% “BR TO END OF TEST, IF NO INTERRUPT

2098 010004 022626 48: CMP (SP)+,(SP)+ ;RESTORE SP AFTER INTERRUPT

2099 010006 104130 ERROR 130

2100 ;RCVR INTERRUPT REQUEST PASSED WITH BIT6 CLZAR

518} 010010 010377 172756 5%: MoV R3,aRVECT RESTORE RECEIVE VECIOR

2103

2104 ,-:tttttttttttttttttttttttttttttttttlttttttttttttttttttttttttttttt




(JKDIAQ 11/238 SLU LTC REPR DIAG

CJKDIA. 20-0CT-8

(3
(3)
(2)

~n
[

[ASJAST NI, N1 ST NToS I NT ST NI NTAN TN ] ST N1 O N1, N T VT, N 1,8 1,81 NT,81,8 1,87, ST ST, VT, V1.

—t D d e e D D ) D b b b ek d D Dk N o o D D ) d e ) b d d D h D e d ) D h b b D D D D d D e e d b b b

VNS B8N IS 58S B S B B WD PO NN N N N N N NN PO N O NN NNV =S D = a0 = 0 a2 = a2 00000
N2 O OB NO NS WO VDN~ — v N W= O VDN NHIWN 2O O N NS W = O 000 N

MONLAINLALNINL AL NI ALV NV PV PO N

P11

[eleolalelolalols)
—d d d D D od d

010056

v Qs G ur e G Ghurd
O OO0 OOCO
pasr Q@i Qhur G Gunr G P
WWNIN) = 20O
SOOI

—

OO0 OOOO0OOOO
—h
W
o

10140
010142

[ele BN olelelelalelelalelelalelolalele]
— b — e ek d D e D d d —d b —h ek
[eleBNolelelalelalolelolelelelolels o]

PO PROMPRORINLNLNINININ) D =
BB PWNWNNIN) == 2 S ONNO NN

£HSN OO O OOSNOOO

000004
012737
017703

000240
104131

022626
012777
004737
000140
000240
042777
010477
000402

022626
104132

010377

000004
012737

000402

022626
106133

1 16:08

000u41
172742
172740
012356

172674
172662

000100

172624

O— ==00—= OO
oo HOOMNNY O

000100

001104

172652

172660

172620

172510

N &
DNMAC X24.07-563 02-FEB-82 16:42 PAGE 10-6
TEST SLU2 RECEIVER FOR DOUBLE INTERRUPTS

TEST SLUZ2 RECEIVER FOR DOUBLE INTERRUPTS

T41

J«TEST 41

B 2223322233233 232X2323R3232230RXRRRR2RRRRRRRRARRRRRRRARRRRRRSRQ)

T§141:

1%:

2%:

3s:

4%:

SCOPE
MOV
MOV
MOV
MOV
MOV
JSR

CLR
TST8
BPL
BIS
NOP

ERROR

CMP
MOV
JSR
. WORD
NOP
8IC
MoV
BR

cMP
ERROR

Mov

#61,STESTN
@RVECT ,R3
aRPSW, R4
#2% ,8RVECT
#340,aRPSW
PC,WRPSW
.WORD 140
aTBUF

aR(SR

1%
#BIT6,3RCSR
13

(SP)+,(SP)+
#3%,aRVECT
PC ,WRPSW
140

#BIT6,akCSR
R4, aRPSW
43
(SP)+,(SP)+
132

R3,aRVECT

;.SET TEST NUMBER IN APT MAIL BOX
sSAVE RECEIVE VECTOR

;SAVE RECEIVE PSW VECTOR

JPOINT RCV VECTOR _TO CONTINUE TEST
;SET PRIORITY TO 7 AFTER INTERRUPT
;SET PSW TO PRIORITY 3

;SEND A CHARACTER
;WAIT FOR RCVR DONE

;ENABLE RCV _INTERRUPTS
;GIVE SOME TIME

JRCVR INTERRUPT DID NOT OCCUR

;sRESTORE SP AFTER INTERRUPT
JPOINT RCV VECTOR TO ERROR REPORT
JRESET PSW TO PRIORITY 3

;GIVE SOME TIME

;CLEAR INTERRUPT ENABLE
JRESTORE RECEIVE PSW VECTOR
JBR TO END OF TEST

JRESTORE SP AFTER INTERRUPT

JRECEIVER RE-INTERRUPTED
JRESTORE RECEIVE VECTOR

':ttttttttttttttttttttttttttt*tttttttttttttttttttt*ttttt*tttttttt

TEST THAT RCVR INTERRUPT CLEARS BY READING RBUF

LeTEST 42

;;tt**ttt*t*ttttttttttt*ttttttttttttttttttttttttttttittttttttittt

TST42:

1%:

2s:

SCOPE
MOV
JSR

MoV
MOV
BIS
CLR
TSTB
BPL
TST
JSR

NOP
BIC
BR

tMp
ERROR

H62,8TESTN
PC,WRPSW
.WORD 340
ARVECT ,R3
#2$ ,aRVECT
#BIT6,aRCSR
aTBUF

aRCSR

1$

aRBUF
PC,WRPSW
.WORD 140

#BIT6,aRCSR
3s

(SP)+,(SP)+
133

:.SET TEST NUMBER IN APT MAIL BOX
;SET PSW PRIORITY T0 7

;SAVE RECEIVE VECTOR

JPOINT RCV VECTOR TO ERROR REPORT
;SET RCVR INTERRUPT ENABLE

;SEND A CHARACTER

;WAIT FOR DONE (INTERRUPT)

sREAD RBUF 7O CLEAR PENDING INTERRPUT
;SET PSW TO PRIORITY 3

;ALLOW TIME FOR ANY ERRONEOUS INTERRUPT
;NO INTERRUPT~CLEAR INT. ENABLE

JRESTORE SP AFTER INTERRUPT
JREADING RBUF DID NOT CLEAR INTERRUPT

SEQ 0052
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LASLaN YN 1aNT N1 N IACTAN I N1 ST N1, N 1 N N1, 1, VT,V 1 N 1, V1, N1, VT, N 1 V],V

NINLRNLNLNL NN PV NUNL NNV N

P 20-0CT-81 16:08 T42 TEST THAT RCVR INTERRUPT CLEARS BY READING RBUF SEQ 0053

010246 010377 172520 3s: MOV k3,8RVECY ;JRESTORE RECEIVE VECTOR
:"tttttttttttttttttt"tttt'tt.tQttﬂQ.'.QQ'Q...QQQ"'.“'"Q...""
J*TEST 43 TEST SLU2 THAT RESET CLEARS RECEIVE INTERRUPT
;:ttttittttttttlt.ﬁtitttttQttitttttttttttQiiiﬁtttttttittttt.t.ttt

010252 000004 TST43: SCOPE

010254 012737 000043 001104 MOV #43,STESTN ;. SET TEST NUM3ER IN APT MAJL 80X

010262 032737 000001 001120 8IT #1, INSENV ;ARE WE RUNNING UNDER APT

010270 001403 8EQ 70% ;IF NO THEN DO TEST

010272 005737 001106 TST SFSPASS ;1S THIS FIRST PASS

010276 001037 BNE TST44 ;I1F NO THEN SKIP TO NEXT TEST

010300 70$:

010300 000005 RESET ;CLEAR EVERYTHING

010302 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 7

010306 000340 .WORD 340

010310 017703 172456 MOV aRVECT R3 ;SAVE RECEIVE VECTOR

010314 012777 010366 172450 MOV #2% ,aRVECT sPOINT RCV VECTOR TO ERROR REPORT

010322 052777 000100 172420 8IS #BIT6,aRCSR ;SET RCV INTERRUPT ENABLE

010330 012777 000377 172420 MOV #377,aTBUF ;SEND AN ALL 1°S CHARACTER

010336 105777 172406 18: 1ST8 aRCSR ;WAIT FOR RCV DONE

010342 100375 BPL 1%

010344 000005 RESET ;CLEAR RCV INTERRUPT & RBUF

010346 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 3

010352 000140 .WORD 140

010354 000240 NOP ;ALLOW TIME FOR AN ERRONEOUS INTERRUPT

010356 042777 000100 172364 BIC #BI1T6,aRCSR sNO INTERRUPT~CLEAR INT. ENABLE

010364 000402 BR 3s ;CONTINUE TEST

010366 022626 28: CMP (SP)+,(SP)+ JRESTORE SP AFTER INTERRUPT

010370 104134 ERROR 134 JRESET DID NOT CLEAR RCVR INTERRUPT

010372 010377 172374 3s: Mov R3.3RVECT JRESTORE RECEIVE VECTOR
;;ttittt.tttt*t*ttttﬁttttttti.ttttttitttttttttttttttttttttttttttt
JTEST 44 TEST SLU2 THAT "'OVERRUN & ERROR'' BITS CAN BE SET
::tiitiQtttittitttttt'tt'ttttittttttttttttit'tﬁﬁttllttttllltltttt

010376 000004 fST44: SCOPE

010400 012737 000044 001104 MOV #44 ,STESTN ;.SET TEST NUMBER IN APT MAIL BOX

010406 032777 002000 170424 BIT #81T710,asSwR ;1S THIS TEST DISABLED

010414 001023 BNE TST45 ;1F NOT ENABLED, BR TO NEXT TEST

010416 012700 000003 MoV #3,R0 ;SET CHARACTER COUNT TO SEND 3 CHAR.

010422 005077 172330 1%: CLR a8 TBUF ;LOAD TRANSMIT BUFFER

010426 105777 172322 2%: 1ST8 aTCSR ;WAIT FOR TRANSMIT DONE

010432 100375 BPL 2%

010434 005300 DEC RO ;DECREMENT CHARACTER COUNT

010436 001371 BNE 1% ;BR IF ALL CHARACTERS NOT TRANSMITTED

010440 032777 040000 172304 BIT #B1T14,aRBUF ;TEST FOR "'OR'' ERROR FLAG

010446 001001 BNE 3% ;BR, IF SET

010450 104135 ERROR 135

;"'OR'" ERROR FLAG DID NO™ SET
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DNMAC X24.07-563_ 02- rea-az 8
T44 TEST SLU2 THAT "OVERRUN & ERROR™ BITS CAN 9E SET
3s: BIT #8IT15,aRBUF  ;TEST “ERROR'’ FLAG
BNE 48 :BR, IF SET
ERROR 136
p :"ERROR'* FLAG DID NOT SET WITH "OR'’ FLAG
X222 222232323232 2233882232233 233222323233¢8808822323833323233238328242823328232828¢2§2/
SATEST 45 TEST THAT BREAK TRANSMITS ALL ZEROES
BEITTSE22ET22Z23233233 3222323222222 2323328 3302022338388 200002328288R202X¢28
T57145: SCOPE
MOV #45,STESTN ;:SET _TEST NUMBER IN APT MAIL BOX
MOV #-1,aTBUF :TRANSMIT ALL ONES TO RCVR
18: IS8 GRCSR *WAIT FOR RCVR DONE
L
TST INBUF ;CLEAR DONE (LEAVING ALL ONES IN RBUF)
BIS #BIT0,3TCSR :TRANSMIT BREAK
CLR RO ICLEAR A TIMER
28: ISTB  QRCSR *WAIT FOR RCVR DONE
BM] CONT41 *BRIF DONE
INC RO :IF NOT, INCREMENT TIMER
BNE 28 ‘BR IF TIME REMAINS
BIC #BIT0,aTCSR ; CLEAR BREAK BITS
ERROR 137 :BREAK DID NOT TRANSMIT ANYTHING
CONT41: TSTB  @RBUF ;CHECK RECEIVE BUFFER FOR ZERO
BEQ 33 :BR, IF ZERO
BIC #BITO,aTCSR ; CLEAR BREAK BITS
ERROR 137 :BREAK DID NOT TRANSMIT ALL ZEROES
38: BIC #BIT0,ATCSR ; CLEAR BREAK BITS
B 222323233 X2333 3322222333223 2332222323222332322233232%232222¢82 02
'rEsr 46 TEST THAT "FR'* ERROR CAN BE SET DURING BREAK
2 E22X22X32 022202233223 R28028223280 2800800000200 2008000000820t 824/
$§746: SCOPE
MOV #46,$TESTN ;;SET TEST NUMBER IN APT MAIL BOX
BIT #81710,asWR 1S THIS TEST DISABLED
BNE 1ST47 BR TO NEXT TEST, IF DISABLED
8IS #B1T0,aTCSR *SEND BREAK
CLR aTBUF :TRANSMIT A CHARACTER TO TIME BREAK
18: IS8 GRCSR ‘WAIT FOR RCVR DONE
L
BI( #8170 ,QTCSR :CLEAR BREAK BITS
BIT #8IT15,3RBUF  ;CHECK FOR FRAMING ERROR FLAG
BNE 2$ :BR, IF SET
ERROR 140
:BREAK DID NOT SET FRAMING ERROR
28: BIT #BIT1S5,3RBUF - TEST 'ERROR'FLAG
BNE 38 :BR, IF SET
ERROR 141

SEQ 0054
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CUKDIA.P11 20-0CT-81 16:08 T46 TEST THAT “'FR'* ERROR CAN BE SET DURING BREAK SEQ 0055
2245 :“ERROR'® FLAG DID NOT SET WITH 'OR’* FLAG
2246 010664 38
2247 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

(3) TRTEST 47 TEST DATA PATHS USING WRAP CABLE

(3) X 2123222232332232323333232332233323323232323233332338232323332322332332332342323323434;/
(2) 010664 000004 8747 SCOPE

(2) 010666 012737 000047 001104 MOV #47,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX

2248 010674 032777 000200 170136 8IT #B177.35WR +1S THIS TEST ENABLED

2249 010702 001027 BNE TSTS0 ‘8R, IF NOT

2250 010704 005001 CLR R1 *CLEAR REGISTER FOR TEST DATA

2251 TRANSHIT A BINARY COUNT PATTERN -~ UP

2252 *TO THE BIT POSITION INDICATED BY THE

2253 *CONTENTS OF LOCATION ''SUSWR'

2254 010706 105201 18: INCB  RI “INCREMENT THE TEST DATA

2255 010710 010177 172042 MOV R1,aTBUF “XMIT A CHARACTER

2256 010714 005000 LR RO ‘CLEAR A TIMER

2257 010716 105777 172026 28: ISTB  @aRCSR “WAIT FOR RECEIVER DONE

2258 010722 1004 BMI 3$ *BR IF DONE

2259 010724 005200 INC RO “INCREMENT TIMER IF NOT

Sgg? 010726 001373 BNE 23 ‘BR IF TIME REMAINS

gggg 010730 104056 ERROR 56 :RECEIVER DONE NOT SET

2264 010732 017702 172014 38 MOV aRBUF ,R2 - :GET RECEIVED CHARACTER

2265 010736 020102 CMP R1,R2 *COMPARE DATA

2266 010740 001003 BNE 48 *BR, IF NON-COMPARE

2267 010742 105701 TSTB  R1 ‘TEST XMIT DATA FOR ZERO

2268 010744 001406 BEQ TST50 ‘BR, IF FINISHED

2269 010746 000757 BR 13 *CONTINUE IF NOT

2270 010750 010137 001024 4%: MOV R1,$GDDAT *STORE EXPECTED DATA

55;} 010754 010237 001026 MOV R2. $BDDAT *STORE RECEIVED DATA

%%;z 010760 104142 ERROR 142 :DATA COMPARE ERROR WITH WRAP CABLE

2275

55;9 010762 LTCIT:

2278 I 2222322222323 332332323223 32222232322223223232232222322222322202¢%22 2]
(3) ZiTEST 50 TEST THAT THE REAL TIME CLOCK INTERRUPTS PROPERLY
(3) 2222282220223 3222232323223 23 3328232232333 2323232323223232222323233;
(2) 010762 000004 $8750:  SCOPE
(2) 010766 012737 000050 001104 MOV #50,$TESTN :sSET TEST NUMBER IN APT MAIL BOX

2279 010772 032737 000004 001156 BIT #BIT2.3#$DEVM  :DO THESE TESTS FOR THIS DEVICE?
(1) 011000 001002 BNE 998 *F YES CONTINUE WITH TESTS
(1) 011002 000137 011474 JMP BLAST “IF NO GO TO START OF NEXT SET OF TESTS.
(1) 011006 99 :

2280 011006 005000 CLR RO

2281 011010 004737 012356 JSR PC,WRPSW ;SET PSW TO PRIORITY 7

2282 011014 000340 LWORD ~ 340

2283 011016 017703 171770 MOV 3RTCVT,R3 :SAVE LINE CLOCK VECTOR

2284 011022 017704 171766 MOV aRTCPSW, R4 “SAVE LINE CLOCK PSw VECTOR

2285 011026 012777 011060 171756 MOV #28 ARTCVT “SET RTC INTERRUPT VECTOR TO ERROR REPORT

gggg 011034 012777 000340 171752 MOV #340,3RTCPSW  :KEEP PRIORITY AT 7

2288 011042 052777 000100 171720 BIS #BIT6,3LKS sSET INTERRUPT ENABLE

2289 011050 005200 18: INC RO
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CJKDIA.P11 20~-0CT~81 16:08 150 TEST THAT THE REAL TIME CLOCK INTERRUPTS PROPERLY SEQ 0056
2290 011052 001376 BNE 13
2291 011054 000240 NOP :GIVE TIME FOR ANY INTERRUPTS
gsg% 011056 000402 BR 3s ;8R, IF NO INTERRUPT OCCURS
2294 011060 022626 2s: CMP (SP)+,(SP)+ ;RESTORE SP AFTER INTERRUPT
5532 011062 104143 ERROR 143 ;RTC INTERRUPTS AT PRIORITY 7
2297 011064 005077 171700 3s: CLR aLKS ;DISABLE RTC INTERRUPTS
2298 011070 005000 CLR RO
2299 011072 012777 011110 171712 MOV #XXX, ARTCVT ;SET RTC INTERRUPT VECTOR FOR ERROR
2300 011100 004737 012356 JSR PC,WRPSW ;CHANGE PSW TO PRIORITY 5
2301 011104 000240 .WORD 240
2302 011106 104146 ERROR 146
2303 011110 012777 011134 171674  XXX: MoV #48,3RTCVT
2304 011116 106427 000240 MTPS #240
2305 011122 005200 208: INC RC
2306 011124 005700 TST RO
2307 011126 100375 BPL 20%
2308 011130 000240 NOP ;GIVE TIME FOR ANY INTERRUPT
Sg?g 011132 000402 BR 5% ;IF NO INTERRUPT - BR TO CONTINUE TEST
2311 011134 022626 4%: CMP (SP)+,(SP)+ JRESTORE SP AFTER INTERRUPT
%;}% 011136 104144 ERROR 144 JRTC INTERRUPTS WITH INTERRUPTS DISABLED
2314 011140 012777 011170 171644 5S: MoV #78,3RTCVT ;POINT RTC VECTOR TO END OF TEST
2315 011146 005000 CLR RO
2316 011150 052777 000100 171612 BIS #RTT6,aLKS JALLOW INTERRUPTS
2317 011156 005200 6$: INC RO
2318 011160 005700 TST RO
2319 011162 100375 BPL 6$
S%g? 011164 000240 NOP ;GIVE TIME FOR INTERRUPT
%%%% 011166 104145 ERROR 145 sRTC INTERRUPT DID NOT OCCUR
2326 011170 022626 78: CMP (SP)+,(SP)+ JRESTORE SP AFTER INTERRUPT
2325 011172 042777 000100 171570 BIC #BIT6,aLKS ;DISABLE INTERRUPTS
2326 011200 010377 171606 MoV R3,3RTCVT SRESTORE LINE CLOCK VECTOR
sggg 011204 010477 171604 MOV R4 ,3RTCPSW sRESTORE LINE CLOCK PSW VECTOR
2329
2330
2331 :.'tttit*tttttt**ttt*tttttitttii*tttttttttiittttttttitttttttttttti
(3) ;*TEST 51 TEST RTC FOR DOUBLE INTERRUPTS
(3) ;"tt**ttttttttttttttttttttttttit*ttttttitittttitt*ttttttttttttttt
(2) 011210 000004 TST51: SCOPE
(2) 011212 012737 000051 001104 MoV #51,8TESTN ;;SET TEST NUMBER IN APT MAIL BOX
2332 011220 032737 000001 001120 BIT #1, aNSENV ;ARE WE RUNNING UNDER APT
(1) 011226 001403 BEQ 708 ;1F NO THEN DO TEST
(1) 011230 005737 001106 TST INSPASS ;1S THIS FIRST PASS
2?; 8}}5%2 001050 208 BNE TST52 ;IF NO THEN SKIP TO NEXT TEST
2333 011236 017703 171550 MoV aRTCVT,R3 ;SAVE LINE CLOCK VECTOR
2334 011242 017706 171546 MOV aRTCPSW, R4 JSAVE LINE CLOCK PSW VECTOR
2335 011246 012777 011312 171536 MOV #28 ,aRTCVT ;SET UP RTC INTERRUPT VECTOR
2336 011254 012777 000340 171532 MOV #340,aRTCPSW ;DISALLOW INTERRUPTS AFTER THE INTERRUPT
2337 011262 004737 012356 JSR PC.WRPSW ;SEY PRIORITY TO 5
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ZJKD]
“JKDIA.PT1 20-0CT-81 16:08 751 TEST RTC FOR DOUBLE INTERRUPTS SEQ 0057

§3§ 011266 000240 .WORD 240

2340 011270 005000 CLR RO

2341 011272 052777 000100 171470 BIS #BIT6,3LKS JENABLE CLOCK INTERRUPTS

2342 011300 005200 18: INC RO

2343 011302 005700 TST RO

2364 011304 100375 8PL 1$

% 2 011306 000240 NOP ;GIVE TIME FOR ANY INTERRUPT

3 2 011310 104146 ERROR 146 sRTC INTERRUPT DID NOT OCCUR

2349 011312 022626 28: CMP (SP)+,(SP)+ SRESTORE SP AFTER INTERRUPT

2350 011314 012777 011334 171470 MOV #38 ,3RTCVT JPOINT RTC VECTOR TO ERROR REPORT

2351 011322 004737 012356 JSR PC,WRPSW :SET PSW TO PRIORITY 5

2352 011326 000240 .WORD 240

2353 011330 000240 NOP ;GIVE SOME TIME FOR AN INTERRUPT

S 2 011332 000402 BR 48 ;NO INTERRUPT - BR TO END OF TEST

2356 011334 022626 3s: CMP (SP)+,(SP)+ ;RESTORE SP AFTER INTERRUPT

2357 011336 104147 ERROR 147 s INTERRUPT SEQUENCE DID NOT CLEAR

S g s INTERRUPT REQUEST

2360 011340 042777 000100 171422 4$: BIC #BIT6,aLKS ;DISABLE CLOCK INTERRUPTS

2 011346 010377 171440 MoV R3,aRTCVT JRESTORE LINE CLOCK VECTOR

S 011352 010477 171436 MOV R4 ,3RTCPSW JRESTORE LINE CLOCK PSW VECTOR

2

2 ;:tttttitttttttttttltttﬁttﬁ'tttttttttttttttt*ttttttttttttti!ttttt
;*TEST 52 TEST THAT RTC INTERRUPT CLEARS WITH RESET

LA L U N AN g L At U Al L AN N NN AN L AN o~ o o N S o o AN U N N U AN U U U AN U U AN U U N N N AN U AN AN N AN NN
NI AR 2 OO O N NR) 2 OO N — = O ' o T N B R = OO0 00 O N ISR = OO0 NN WA = O 00 >

6
6
6
6
3
3 :;'tt"t'ﬁt'ttttttt"i't"ttt"ttﬁii"t'ttﬁtﬁ"'t't'ttt'ttttttttt
2) 011356 000004 TST52: SCOPE
2) 011360 012737 000052 001104 MOV #52,3TESTN ;.SET TEST NUMBER IN APT MAIL BOX
2366 011366 032737 000001 001120 BIT #1, INSENV ;ARE WE RUNNING UNDER APT
1) 011374 001403 BEQ 708 ;IF NO THEN DO TEST
1) 011376 005737 001106 TST INSPASS ;1S THIS FIRST PASS
? 8}}285 001034 208 BNE TST53 ;IF NO THEN SKIP TO NEXT TEST
2367 011404 004737 012356 JSR PC,WRPSW ;SET PRIORITY 70 7
2368 011410 000340 .WORD 340
2369 011412 017703 171374 MOV aRTCVT R3 sSAVE LINE CLOCK VECTOR
S ; 011416 012777 011464 171366 MoV #2% . aRTCVT ;POINT RTC VECTOR TO ERROR REPORT
2372 011424 005000 CLR RO
2373 011426 052777 000100 171334 BIS #BIT6,8LKS ;ENABLE (LOCK INTERRUPTS
2374 011434 005200 1$: INC RO
2375 011436 005700 TST RO
2376 011440 100375 8PL 18
2377 011442 000005 RESET ;CLEAR PENDING INTERRUPT WITH RESET
2378 011444 004737 012356 JSR PC,WRPSW JSET PRIORITY 10 5
2379 011450 000240 .WORD 240
2380 011452 000240 NOP ;GIVE TIME FOR ANY INTERRUPT
2381 011454 042777 000100 171306 8IC #BIT6,aLKS ;DISALLOW INTERRUPTS
S g 011462 000402 BR 3s ;BR TO END OF TEST
2384 011464 022626 2s: CMP (SP)+,(SP)+ ;RESTORE SP AFTER INTERRUPT
2385 011466 104150 ERROR 150 JRESFT DID NOT CLEAR INTERRUPT
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DNMAC X24.07-563 02-FEB-82

152 TEST THAT RTC INTERRUP

3s: MOV
BLAST:

R3,a3RTCVT

42 PAGE 10-12
CLEARS WITH RESET

JRESTORE LINE CLOCK VECTOR

‘:tttt'ttttttttttttttt'itttttt'tttttiittttttttQttttttttttttttttt'

TEST ALL INTERNAL OPTIONS SIMULTANEOUSLY

'"tttttitttttittttttti.tt.Itttttitttttttttttt'ttttttttttttitttttt

LeTEST S3

7$T53: SCOPE

708: RESET

Mov

8IS
38: MOV

CLR
WAITIO: WAIT

BR

TICKER: INC
JMP

XMIT2: INC
INC
MOV
CMP
BLT

1%: JMP
REC2: INC

#53,8TESTN
#BITO,INSENV
70%

aNSPASS

708

$EOP

#340,PS
aTVECT,STMPO
SRVECT ,$TMP1

dCTVECT ,$TMP?
@dCRVECT,$TMP3

aRTCVT ,$TMP4
XMTCT2
RECCT2
COUNT

#XMIT2, QTVECT

#340, aTPSW

#RECS, SRVECT

#340, @RPSW

#TICKER, @RTCVT
#340, SRTCPSW

#8176, ATCSR
#BIT6, ARCSR
#BUF2, R3
#BIT6, BLKS
#-1, R1

PS

WAITIO

COUNT

10HAND
XMTCT2

R1

R1, QTBUF
XMTCT2, #400

18
#BIT6, ATCSR
I0OHAND

RECCT2

;:SET TEST NUMBER IN APT MAIL BOX
;ARE WE RUNNING UNDER APT
;IF NO DO TEST

;IS THIS FIRST PASS

;IF YES DO TEST
;IF NO DO NOT DO TEST

;CLEAR EVERY BODY

;SET PROCESSOR PRIORITY TO 7

;SET UP SLU2 TRANSMIT VECTOR
;AND PSW

;SET UP SLUZ2 RECEIVER VECTOR
;AND PSW

;SET UP RTC VECTOR

:AND PSW

JENABLE SLU2 XMIT INTERRUPT
;ENABLE SLU2 RECEIVER INTERRUPT
;SET UP RECEIVER BUFFER

JENABLE RTC INTERRUPTS

JINITIALIZE DATA FOR SLU2(1ST CHR.

;DROP PROCESSOR PRIORITY TO ZERO
JWAIT FOR INTERRUPT

;UPDATE COUNT
;60 TO INTERRUPT HANDLER

;UPDATE XMIT INTERRUPT COUNT
;UPDATE XMIT DATA

sSEND NEXT CHARACTER

sIF 256 CHARACTERS HAVE NOT
;BEEN TRANSFERRED CONTINUE
JELSE NO MORE XMIT INTERRUPTS
;GO TO INTERRUPT HANDLER

;UPDATE RECEIVER INTERRUPT COUNT

0

SEQ 0058



(JXDIAQ 11/23B SLU LTC REPR DIAG

CJKDIA.PIT
2638 011766
2639 011772
2640 011774
2641 012002
2642
2643 012004
2644 012010
2645 012012
2666 012020
2647 012022
2448 012030
2449 012032
2450
2651 012036
2452 012044
2653 012046
2454 012054
2455 012062
2456 012070
2657 012072
2458
2459 012074
2660 012100
2461 012104
26462 012110
2463 012112
2464 012114
2465
2466
2467 012120
2468 012126
2669 012130
2470 012132
2671 012136
2472 012140
2473 012144
2674 012146
26475 012150
2676 012154
26477 012160
2678 012162
2479 012164
2480 012166
2481 012170
2482 012176
2483 012204
2684 (12212
2485 012220
2486 012226
2487
2488 012232
2489 012234
2490 012236

20-0CT-81 16:08

005777
I4

000401
000002

005037
012705
062705
001375
000005
012706

023737
001401
104157
012703
005001
013704
122301
001406
114337

170760
170752

026320
177777
177777
170714
012236
000100

000100
000100

177776
140000
000001

001000

012232

026320
012232

001026
001024

001060
001062
001064
001066
001070
012240

001026

00102/
001024

000074
170710

170672
170700

012234

DNMAC X2
153

1$:
3s:
TOHAND :

3s:
WAITER:
1%:

CHECK?:
1%:

2%:

3s:
FINIE:

XMICT2:
RECCT2:
COUNT :

H 5
4.07-563 (02-FEB-82 16:42 PAGE 10-13
TEST ALL INTERNAL OPTIONS SIMULTANEOUSLY

TST
BPL
MoV
RESET

cMP
BGT
MOV
B8R
Mov8
ERROR
MovBs

CMP
BLT
BIC
BIC
8IC
BR

RTI

CLR

JMP

.WORD
.WORD
.WORD

aRBUF
33
aRBUF , $BDDAT

?2. #BUF?2

#-1, $GDDAT

23

-1(R3), $GDDAT
154

SRBUF, (R3)+
COUNT, #74

33

#BIT6, ACTCSR
#BIT6, QATCSR
#BIT6, aLKS
WAITER

PS

#-40000, R5
#1, RS

1$

#1000, sP

XMTCT2, RECCT?
1%
157
I?UFZ. R3

R
XMTCT2, R4
(§3)*, R1

3

~(R3), S$BDDAT
R1, SGDDAT
160

$TMPO, QTVECT
$TMP1, SRVECT
$TMP2, QCTVECT
$TMP3, BCRVECT
$TMP4, QRTCVT
$EOP

0
0
0

;BIT 15 SETS IF ANY ERRORS OCCURRED
¢IF BIT IS CLEAR NO ERRORS

:GET ERROR INFORMATION

;CLEAR THE WORLD - STOP ALL

s INTERRUPTS

;WAS MORE THAN 1 WORD TRANSFERRED
;IF YES GET LAST GOOD DATA

:1F NO MAKE GOOD DATA -1

JAND GET TO ERROR REPORT

JGET LAST GOOD DATA RECEIVED
JRECEIVER STATUS ERROR

;GET DATA AND STORE IT

sHAS 1 SEC ELAPSED
sIF NO CONTINUE TEST
sIF YES STOP TRANSMISSIONS

‘TURN OFF LINE CLOCK
:RETURN FROM INTERRUPT TO AWAIT NEXT

;MAKE PROCESSOR PRIORITY 0
;SET UP LOOP COUNTER
;DO LOOP UNTIL R5 = 0

;STOP EVERYONE SHOULD BE DONE
JRESET STACK AFTER LAST INTERRUPT

J#OF XMIT INTERRUPTS = REC INTERRUPTS
;IF YES CHECK DATA

;INTERRUPT COMPARISON ERROR
JINITIALIZE TO FIRST RECEIVED DATA
JINITIALIZE TO FIRST XMIT DATA

sGET # OF BYTES TRANSFERRED

;1S RECEIVED DATA = EXPECTED DATA

;JIF YES CONTINUE TESTING

sIF NO GET ERROR INFORMATION

;SLU2 DATA COMPARISON ERROR

;1F COONTINUE ON ERROR RESET POINTER
;UPDATE TO NEXT GOOD DATA

;LOOP UNTIL ALL DATA CHECKED
;RESTORE VECTORS

;FINISHED TESTING GO TO END OF PASS
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CUKDIA.P1T 20-0C7~81 16:08 153 TEST ALL INTERNAL OPTIONS SIMULTANEOUSLY SEQ 0060
2493
2494 .SBTTL END OF PASS ROUTINE

'"ttttttt.tttt.ttt.tttttttttttttt'tttttttttttttttt'tttttttttttttt

;*INCREMENT THE PASS NUMBER ($PASS)

;*TYPE "END PASS #XXXXX'' (WHERE XXXXX IS A DECIMAL NUMBER)
;«]F THERES A MONITOR GO TO IT

;«]F THERE ISN'T JUMP TO TST1

1

(2)

(1)

(1)

(M

(1)

(1)

(1) 012240 SEOP:

(') 012240 000004 SCOPE

(1) 012242 005037 001002 CLR STSTNM :;ZERO THE TEST NUMBER

(1) 012246 005237 001106 INC $PASS ; :INCREMENT THE PASS NUMBER

(1) 012252 042737 100000 001106 BIC #100000,8PASS  ;;DON'T ALLOW A NEG. NUMBER

(1) 01¢260 005327 DEC (PC)+ ;.L00P?

(1) 012262 000001 $EOPCT: .WORD 1

(1) 012264 003022 BGT $DOAGN ;2 YES

(1) 012266 012737 MOV (PCY+,a(PO)+ ;:RESTORE COUNTER

(1) 012270 000001 $ENDCT: .WORD 1

(1) 012272 012262 SEOPCT

(1) 012274 104401 012341 TYPE ,SENDMG ::TYPE "END PASS #'

(2) 012300 013746 001106 MOV $PASS, = (SP) ::SAVE SPASS FOR TYPEOUT

(2) 012304 104405 TYPDS ::GO TYPE--DECIMAL ASCII WITH SIGN

(1) 012306 104401 012336 TYPE LSENULL ;:TYPE A NULL CHARACTER

(1) 012312 013700 000042 $GET42: MOV a#42 RO ::GET MONITOR ADDRESS

1) 012316 001405 BEQ $DOAGN ::BRANCH IF NO MONITOR

(1) 012320 000005 RESET :;CLEAR THE WORLD

(1) 012322 004710 SENDAD: JSR PC. (RO) ::GO TO MONITOR

(1) 012324 000240 NOP ::SAVE ROOM

(1) 012326 000240 NOP ;:FOR

(1) 012330 000240 NOP J:ACT1

(1) 012332 $DOAGN:

(1) 012332 000137 JMP a(PC)+ : ;RETURN

(1) 012334 003430 SRTNAD: .WORD  TST1

(1) 012336 377 377 000 S$ENULL: .BYTE -1,-1,0 ::NULL CHARACTER STRING

(1) 012341 015 042412 042116 SENDMG: .ASCIZ <15><12>/END PASS #/

(1) 012346 050040 051501 020123
2£;; 012354 000043
2496 012356 011646 WRPSW: MOV(SP),-(SP) ;COPY RETUN PC
2497 012360 013616 MOV a(SP)+,(sP) :MOVE NEW PSW TO STACK
2498 012362 062746 000002 ADD #2,-(SP) ;ADJUST JSR RETURN
Sggg 012366 000002 RTI :POP RETURN PC £ NEW PSW
%gg} :SUBROUTINE TO REPORT UNEXPECTED OR ERRONEOUS TRAPS OR INTERRUPTS
2503 012370 012600 CATCH: MOV (SP)+,R0 :GET ADDRESS OF TRAP VECTOR + &
2504 012372 162700 000004 suB #4 ,RO :ADJUST TO POINT TO TRAP ADDRESS
2505 012376 010037 012416 MOV RO,BDVECT :STORE TRAP OR INTERRUPT ADDRESS
2506 012402 016637 000002 012414 MOV 2(SP) ,0LDPC :GET PC WHERE TRAP OR INTERRUPT OCCURRED
gggg 012410 104161 ERROR 161 :REPORT ERROR
2509 012412 000000 HALT :PROGRAM MUST BE RESTARTED AT THIS POINT
2510 012414 000000 OLDPC: .WORD O
gg}; 012416 000000 BOVECT: .WORD O




[aS1aST, ST, ST, VI,V 1,1, 1, ST, V1,8
LAV W VIV VAW
o X0 Yo JY NV, IV IV AV IV IV 1V, |
N = O VNN

J 5
/7238 _SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 11-1

on
1 20~0CT-81 16:08 END OF PASS ROUTINE SEQ 0061

P

-—

e A AN AR AR AR R R R R AR AR AR AR AR AR R T AR AR AR AR AR NN AR R AR RN RN RR NS
“*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
*«SAVE THE ERROR ITEM NUMBER AND ADDRESS OF THE ERROR CALL

“*AND GO TO SERRTYP ON ERROR

:«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

PeSW1S= 1 HALT ON ERROR

:*SW13=1 INHIBIT ERROR TYPEOUTS

: *SW09=1 LOOP IN ERROR

:«CALL

e ERROR N : ;ERROR=EMT AND N=ERROR ITEM NUMBER

;:titttttttttttittttttttttttttttttttttttttttttttttttttttttttttttt

2420 $ERROR:

0N

012420 105237 001003 78: INCB $ERFLG ;SET THE ERROR FLAG

012424 001775 8EQ 7% ;DON'T LET FLAG GO TO ZERO
012626 013777 001002 166406 MOV $TSTNM,aDISPLAY ;DISPLAY TEST NUMBER AND ERROR FLAG
012434 005237 001012 INC S$ERTTL s INCREMENT ERROR COUNT

012440 011637 001016 MOV (SP) ,$ERRP( ;GET ADDRESS OF ERROR INSTRUCTION
0126444 162737 000002 001016 sus #2,$ERRP(

012452 117737 166340 001014 MovB @$ERRP(,$ITEMB ;STRIP AND SAVE THE ERROR ITEM CODE
012460 032777 020000 166352 BIT #BIT13,aSWR ;SKIP TYPEQUT IF SET

012466 001004 BNE 208 ;SKIP TYPEOQUTS

012470 004737 012602 JSR PC,SERRTYP ;GO TO USER ERROR ROUTINE

012474 104401 001075 TYPE .$CRLF

012500 208:

012500 122737 000001 001120 CMPB N#APTENV ,SENV JRUNNING IN APT MODE

012506 001007 BNE 2% :NO, SKIP APT ERRQR REPORT
012510 113737 001014 012522 movBe $ITEMB,21$ :SET ITEM NUMBER AS ERROR NUMBER
012516 004737 013304 JSR PC,$ATY4 :REPORT FATAL ERROR TO APT
012522 000 218: .BYTE

012523 000 .BYTE 0

012524 000777 22%: BR 228 ;APT ERROR LOOP

012526 005777 166306 2$: TST aSWR JHALT ON ERROR

012532 100001 8PL 3$ ;SKIP IF CONTINUE

012534 000000 HALT JHALT ON ERROR!

012536 104407 3s: CKSWR ;TEST FOR CHANGE IN SOFT-SWR
012540 032777 001000 166272 8IT #B1T09,aSWR ;LOOP ON ERROR SWITCH SET?
012546 001402 BEQ 48 ;BR IF NO

012550 013716 001010 MOV SLPERR, (SP) ;FUDGE RETURN FOR LOOPING

012554 005737 001072 43 TST SESCAPE :CHECK FOR AN ESCAPE ADDRESS
012560 001402 BEQ 5$ :BR IF NONE

8}522% 013716 001072 s mov $ESCAPE, (SP) ;FUDGE RETURN ADDRESS FOR ESCAPE
012566 022737 012322 000042 CMP #SENDAD ,a#4?2 ;ACT-11 AUTO-ACCEPT?

012574 001001 BNE 6% :BR IF NO

012576 000000 HALT JYES

012600 6$:

012600 000002 RTI sRETURN
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CIKDIA.P11 ~ 20-0CT-81 16:08 END OF PASS ROUTINE SEC 0062
I 2564
2??§ _SBTTL ERROR MESSAGE TYPEOUT ROUTINE
(2) 122222 222222222323322232X232233 323322233 0222228232232 232222223232]
M) 2THIS ROUTINE USES THE '‘ITEM CONTROL BYTE'' ($I1TEMB) TO DETERMINE WHICH
(1) “«ERROR 1S TO BE REPORTED. IT THEN OBTAINS, FROM THE 'ERROR TABLE'' (SERRTB).
§}’ “«AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.
)
(1) 012602 $ERRTYP:
(1) 012602 104401 001075 TYPE ,$CRLF ::"'CARRIAGE RETURN'' € ‘‘LINE FEED'
(1) 012606 010046 MOV RO, =-(SP) *:SAVE RO
(1) 012610 005000 CLR RO S:PICKUP THE ITEM INDEX
(1) 012612 153700 001014 BISB  a#$I1TEMB.RO
(1) 012616 001004 BNE 18 ;:1F ITEM NUMBER IS 2ERO, JUST
(1) SSTYPE THE PC OF THE ERROR
(2) 012620 013746 001016 MOV $ERRP(C,=(SP) 2;SAVE SERRPC FOR TYPEOUT
(2) S ERROR ADDRESS
(2) 012626 106402 TYPOC 1160 TYPE--OCTAL ASCII(ALL DIGITS)
(1) 012626 000426 BR 63 ..GET ouT
(1) 012630 005300 1%: DEC RO ;ADJUST THE INDEX SO THAT IT WILL
(1) 012632 006300 ASL RO i WORK FOR THE ERROR TABLE
(1) 012634 006300 ASL RO
(1) 012636 006300 ASL RO
(1) 012640 062700 001160 ADD #SERRTB,RO ::FORM TABLE POINTER
(1) 012646 012037 012654 MOV (RO)+,2% :;PICKUP '‘ERROR MESSAGE’' POINTER
(1) 012650 001404 BEQ 3s isKIP TYPEOUT If NO POINTER
(1) 012652 104401 TYPE :TYPE THE "ERROR MESSAGE'"
(1) 012654 000000 28: .WORD 0 :"ERROR MESSAGE'’ POINTER GOES HERE
(1) 012656 104401 001075 TYPE LSCRLF ;,”CARRIAGE RETURN'' & *'LINE FEED''
(1) 012662 012037 012672 38 MOV (RO)+.,48 chxup ‘DATA HEADER'' POINTER
(1) 012666 001404 BEQ 5$ :SKIP TYPEOUT IF 0
(1) 012670 104401 TYPE *TYPE THE ''DATA HEADER''
(1) 012672 000000 48: .WORD O ;,'nArA HEADER'' POINTER GOES HERE
(1) 012674 104401 001075 TYPE L$CRLF :1*'CARRIAGE RETURN'' & "LINE FEED"
(1) 012700 011000 58: MOV (RO) ,RO ‘PICKUP ‘DATA TABLE'' POINTER
(1) 012702 001004 BNE 78 ..GO TYPE THE DATA
(1) 0127064 012600 6$: MOV (SP)+,RO *RESTORE RO
(i) 012706 104401 001075 TYPE L$CRLF . “*'CARRIAGE RETURN'' & "‘LINE FEED"
(1) 012712 000207 RTS pC * *RETURN
(1) 012714 78:
(2) 012714 013046 MOV a(RO) +,~(SP) ::SAVE @(RC)+ FOR TYPEOUT
(2) 012716 104402 TYPOC ,,eo TYPE--OCTAL ASCII(ALL DIGITS)
(1) 012720 005710 ST (RO) *IS THERE ANOTHER NUMBER?
(1) 012722 001770 BEQ 6$ ‘BR IF NO
(1) 012724 104401 012732 TYPE 8$ ,,rvps TWO(2) SPACES
(1) 012730 000771 BR 7$ +L00P
(1) 012732 020040 000 8$: ASCIZ 7/ 1TW0(2) SPACES
2§gé 012736 -EVEN
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CJKDIA.PTY 20-0CT-81 16:08 ERROR MESSAGE TYPEOUT ROUTINE SEQ 0063
2568
2569 .SBTTL POWER DOWN AND UP ROUTINES
2570 IR AANN AN A AN AAT AN NAAAANAAAAAAAAAC IR GO RNAAARONNY
2571 ;*POWER DOWN ROUTINE
2572 A Ly L L LT e T e T T T LA L L
2573 012736 012737 013076 000024 SPHRDN MOV #SILLUP, S#PWRVEC ;SET FOR FAST UP
2574 012744 012737 000340 000026 MOV #340, @FPURVEC+2 ;PRIO:7
2575 012752 010046 MoV RO,=~{SP) :PUSH RO ON STACK
2576 012754 010146 MoV R1.-(SP) :PUSH R1 ON STACK
2577 012756 010246 MOV R2,=(SP) ;PUSH R2 ON STACK
2578 012760 010346 MoV R3,-(SP) ;PUSH R3 ON STACK
2579 012762 010446 MOV R&,~(SP) ;PUSH R4 ON STACK
2580 012764 010546 MOV R5.=(SP) ;PUSH R3S ON STACK
2581 012766 017746 166046 MoV aSwR,-(SP) :PUSH @SWR ON STACK
2582 012772 010637 013102 Mov SP,$SAVR6 ;SAVE SP
2583 012776 012737 013010 000024 MoV #$SPWRUP ,3#PWRVEC ;SET UP VECTOR
2586 013004 000000 HALT
2585 013006 000776 BR =2 ;HANG UP
2586
2587
2588 AR AR AR AR AR AR AR A AR AR AN AR AR RN AR RN AR AR AR
2589 ;*POWER UP ROUTINE
2590 T L L L Lt T T L e
2591 013010 012737 013076 000024 SPURUP MOV #SILLUP ,#PWRVEC ;SET FOR FAST DOWN
2592 013016 013706 013102 MoV $SAVRG, SP ;GET SP
2593 013022 012677 166012 MoV (SP)+,aSwR ;POP STACK INTO aSWR
2594 013026 012605 MoV (SP)+.R5
2595 013030 012604 MoV (SP)+ R4 ;POP STACK INTO R4
2596 013032 012603 Mov (SP)+,R3 ;POP STACK INTO R3
2597 013034 012602 MOV (SP)+,R2 ;POP STACK INTO R2
2598 013036 012601 MOV (SP)+,R1 ;POP STACK INTO R1
2599 013040 012600 Mov (SP)+,RO ;POP STACK INTO RO
2600 013042 012737 012736 000024 MoV #SPWRDN,@¥PWRVEC ;SET UP THE POWER DOWN VECTOR
2601 013050 012737 000340 000026 MOV #340,Q#PURVEC+2 ;PRIO:7
2602 013056 005037 013102 CLR $SAVRG ;WAIT LOOP FOR THE TTY
2603 013062 005237 013102 1$: INC $SAVR6 SWAIT FOR THE INC
2604 013066 001375 BNE 1$ :0F WORD
2605 013070 104401 TYPE ;REPORT THE POWER FAILURE
2606 013072 013104 $PWRMG: .WORD  $POWER ;POWER FAIL MESSAGE POINTER
2607 013074 000002 RTI
2608 013076 000000 SILLUP: HALT : THE POWER UP SEQUENCE WAS STARTED
2609 013100 000776 BR .2 ; BEFORE THE POWER DOWN WAS COMPLETE
2610 013102 000000 $SAVR6: 0 :PUT THE SP HERE
2611 8}%}?; 883?;3 047520 042527 SPOWER: .ASCIZ <15><12>"'POWER™
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CJKDIA.P11 20-0CT-81 16:08 POWER DOWN AND UP ROUTINES SEQ .
2614
2?43 _SBTTL SCOPE HANDLER ROUTINE
(2) tt'tttttttttttttttttttttttttttttttttttttttttttttttttttttttttt't
€)) %THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(1 “«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>
%)) “«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(1N LaTHE suxrcH OPTIONS PROYVIDED BY THIS ROUTINE ARE:
2} Laswi4=1 LOOP ON TEST
(1) L aSW09=1 LOOP ON ERROR
%)) *«CALL
ﬂ; o% SCOPE ;;ScoPC=Ior
(1) 013114 $SCOPE :
(1) 0131146 104407 CKSWR ;;TEST FOR (HANGE IN SOFT-SWR
(1) 013116 032777 040000 165714 18: BIT #81T14,aSWR “:LOOP ON PRESENT TEST?
(1) 013126 001052 BNE $OVER Yi¥eS IF SW14=1
(1 SMRAMASTART OF CODE FOR THE XOR TECTERAMAAN
(1) 013126 000416 $XTSTR: BR é$ ,,If RUNNING ON THE '’XOR'‘ TESTER CHANGE
(1) “THIS INSTRUCTION TO A 'NOP'' (NOP=240)
(1) 013130 013746 000004 MOV S#ERRVEC,-(SP) :;SAVE THE CONTENTS OF THE ERROR VECTOR
(1) 013134 012737 013156 000004 MOV 45$ axsnnvsc ;;ssr FOR TIMEOUT
(1) 013142 005737 177060 ST ar1?70 S:TIME OUT ON XOR?
(1) 013146 012637 000004 MOV (SP)+, acsnnvec **RESTORE THE ERROR VECTOR
(1) 013152 000421 BR $SVLAD 2360 TO THE NEXT TEST
(1) 013154 022626 58 CMP (SP)+,(SP)+ * CLEAR THE STACK AFTER A TIME OUT
(1) 013156 012637 000004 MOV (SP)+ 3#ERRVEC :>RESTORE THE ERROR VECTOR
(1) 013162 000407 BR 78 $:LOOP ON THE PRESENT TEST
(1) 013164 6$::MMMAREND OF CODE FOR THE XOR TESTERANNNX
(1) 0131646 105737 001003 2$: TSTB  SERFLG ::HAS AN ERROR OCCURRED?
(1) 013170 001412 BEQ $SVLAD “:BR IF NO
(1) 013172 032777 001000 165640 BIT #81T09,aSwWR :LOOP ON ERROR?
(1) 013200 001404 BEQ 48 S:BR IF NO
(1) 013202 013737 001010 001006 7$: MOV SLPERR,$LPADR  :-SET LOOP ADDRESS TO LAST SCOPE
(1) 013210 000420 BR $OVER
(1) 013212 105037 001003 4$: CLRB  SERFLG ;:1ERO THE ERROR FLAG
(1) 013216 105237 001002 $SVLAD: INCB  STSTNM : COUNT TEST NUMBERS
(1) 013222 113737 001002 001104 MOVE  STSTNM,STESTN  :-SET TEST NUMBER IN APT MAILBOX
(1) 013230 011637 001006 MOV (SP) , SLPADR *:SAVE SCOPE LOOP ADDRESS
(1) 013236 011637 001010 MOV (SP) . $SLPERR *SAVE ERROR LOOP ADDRESS
(1) 013240 005037 001072 CLR $ESCAPE ;3CLEAR THE ESCAPE FROM ERROR ADDRESS
(1) 013244 112737 000001 001015 MOVBE  #1,SERMAX *ONLY ALLOW ONE(1) ERROR ON NEXT TEST
(1) 013252 013777 001002 165562 S$OVER: MOV $STSTNM,aDSPLAY .,DISPLAY TEST NUMBER
(1) 013260 013716 001006 MOV $LPADR. (SP) ::FUDGE RETURN ADDRESS
gé}é 013264 000002 RTI *FIXES PS
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CIKDIA. P11 20-0CT-81 16:08 SCOPE HANDLER ROUTINE SEQ 0065
2618
2619 ::tttttttttttttttttttttttttttttt.tttttttttttttttttttttttttttttttt
2620 "SBTTL APT COMMUNICATIONS ROUTINE
2621 ""tttttttttttttttttttttttttttttt.tttttttttttttttttt (232222222282
2622
2623 013266 112737 000001 013532 SATY1: MOVB  #1,$FFLG :TO REPORT FATAL ERROR
2624 013274 112737 000001 013530 $ATY3: MOvVB #1,8MFLG :TO TYPE A MESSAGE
2625 013302 000403 BR SATYC
2626 013304 112737 000001 013532 S$ATY4: MOVB #1,8FFLG :TO ONLY REPORT FATAL ERROR
0627 013312 SATYC:
2628 013312 010046 MOV RO,=(SP) :PUSH RO ON STACK
2629 013314 010146 MGV R1.-(SP) *PUSH R1 ON STACK
2630 013316 105737 013530 TSTB  SMFLG *SHOULD TYPE A MESSAGE?
2631 013322 001450 BEQ 5¢ *IF NOT: BR
2632 013324 122737 000001 (001120 CMPB #APTENV ,SENV ;OPERATING UNDER APT?
2633 013332 001031 BNE 3$ “IF NOT: BR
2634 013334 132737 000100 001121 BITB  WAPTSPOOL,SENVM :SHOULD SPOOL MESSAGE?
2635 013342 001425 BEQ 3s :IF NOT: BR
2636 013344 017600 000004 MOV 34 (SP) .RO *GET MESSAGE ADDRESS
2637 013350 062766 000002 000004 ADD #2.4(SP) *BUMP RETURN ADDRESS
2638 013356 005737 001100 1%: ST $MSGTYPE :SEE IF DONE W/ LAST XMISSION?
2639 013362 001375 BNE 1$ :IF NOT: WAIT
2640 013364 010037 001114 MOV RO, SMSGAD *PUT ADDRESS IN MAILBOX
2641 013370 105720 2$: TSTB (RO) + *FIND END OF MESSAGE
2662 013372 001376 BNE 2
2663 013374 163700 001114 SUB $MSGAD RO :SUB START OF MESSAGE
2644 013400 006200 ASR RO *GET MESSAGE LENGTH IN WORDS
2645 013402 010037 001116 MOV RO, SMSGLGT *PUT LENGTH IN MAILBOX
2666 013406 012737 000004 001100 MOV #4.SMSGTYPE STELL APT TO TAKE MESSAGE
2647 013414 000413 BR 5%
2648 013416 017637 000004 013442 3$: MOV 34 (SP) .48 :PUT MSG ADDR IN JSR LINKAGE
26469 0134624 062766 000002 000004 ADD #2.4(SP) “BUMP RETURN ADDRESS
2650 013432 013746 177776 MOV 177776 ,-(SP) *PUSH 177776 ON STACK
2651 013436 004737 013534 JSR PC,STYPE *CALL TYPE MACRO
2652 013442 000000 48: LWORD O
2653 013444 5%
2654 013444 105737 013532 108: ISTB  S$FFLG :SHOULD REPORT FATAL ERROR?
2655 013450 001413 BEQ 128 “IF NOT: BR
2656 013452 005737 001120 TST SENV *RUNNING UNDER APT?
2657 013456 001410 BEQ 12% “IF NOT: BR
2658 013460 005737 001100 118: ST $MSGTYPE “FINISHED LAST MESSAGE?
2659 013464 001375 8NE 118 YIF NOT: WAIT
2660 013466 017637 000006 001102 MOV a4 (SP) ,$FATAL  -GET ERROR #
2661 013474 005237 001100 INC $SMSGTYPE *TELL APT TO TAKE ERROR
2662 013500 062766 000002 000004 128: ADD #2.4(SP) ‘BUMP RETURN ADDRESS
2663 013506 105037 013532 CLRB  SFFLG ‘CLEAR FATAL FLAG
2664 013512 105037 013531 CLRB  SLFLG :CLEAR LOG FLAG
2665 013516 105037 013530 CLRB  $MFLG *CLEAR MESSAGE FLAG
2666 013522 012601 MOV (SP)+,R1 *POP STACK INTO R1
2667 013524 012600 MOV (SP)+.RO ‘POP STACK INTO R1
2668 013526 000207 RTS PC *RETURN
2669 013530 000 $MFLG: .BYTE 0
2670 013531 000 $LFLG: .BYTE 0 :LOG FLAG
2671 013532 000 $FFLG: .BYTE 0 SFATAL FLAG

2673 013534 .EVEN
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SEQ 0066

CJKDIA.PI1 20-0CT~81 16:08 APT COMMUNICATIONS ROUTINE
2674 000200 APTSI1Z2E=200
2675 00C001 APTENV=001
2676 000100 APTSPOOL=100
2677 000040 APT(SUP=040
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AQ 11/238_SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 16
A.P11 20-0CT-81 16:08 APT COMMUNICATIONS ROUTINE SEQ 0067

.SBTTL TY2E ROUTINE

X 2222222222828 2323232322222 232322323232382332232232223230232 2233 2232 22221]

tROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A O BYTE.
J*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.

'NOTE1 SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
'NOTE? SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
'NOTE3 SFILLC CONTAINS THE CHARACTER TO FILL AFTER.
'CA
t1) USING A TRAP INSTRUCTION
OR TYPE .MESADR ;JMESADR IS FIRST ADDRESS OF AN ASCIZ STRING
t
:t TYPE
o * MESADR
:t
013534 105737 001057 $TYPE: TSTB $TPFLG ;:1S THERE A TERMINAL?
013540 100002 B8PL 13 ;:BR IF YES
013542 000000 HALT JsHALT HERE IF NO TERMINAL
0135446 000430 BR 3s ::LEAVE
013546 010046 1$: MOV RO,-(SP) ::SAVE RO
013550 017600 000002 MOV a2 (SP) .RO ;:GET ADDRESS OF ASCIZ STRING
013554 122737 000001 001120 (MPB #APTENV ,SENV ;JRUNNING IN APT MCDE
013562 001011 BNE 62% ;:NO,GO CHECK FOR APT CONSOLE
013564 132737 000100 001121 BITB #APTSPOOL ,$ENVM ; .SPOOL MESSAGE TO APT
013572 001405 BEQ 62% ::NO,GO CHECK FOR CONSOLE
013576 010037 013604 MOV RO,61$ ::SETUP MESSAGE ADDRESS FOR APT
013600 004737 013274 JSR PC,$ATY3 ;2SPOOL MESSAGE TO APT
013604 000000 61%: .WORD 0 : JMESSAGE ADDRESS
013606 132737 000040 001121 62%: BITB #APTCSUP,SENVM ::APT (CONSOLE SUPPRESSED
013614 001003 BNE 60 ;s YES,SKIP TYPE OUT
013616 112046 28: MOVB (RO)+,~(SP) ;;PUSH CHARACTER TO BE TYPED ONTQ STACK
013620 001005 BNE 43 J:BR IF IT ISN'T THE TERMINATOR
013622 005726 TST (SP)+ ;o IF TERMINATOR POP IT OFF THE STACK
013624 012600 608 : MOV (SP)+ RO :JRESTORE RO
013626 062716 000002 3s: ADD #2,(SP) ::ADJUST RETURN PC
013632 000002 RTI ;;RETURN
0136346 122716 000011 48: CMPB #HT, (SP) JsBRANCH IF <HT>
013640 001430 BEQ 8s
013642 122716 000200 (MPB #CRLF, (SP) ;sBRANCH IF NOT <CRLF>
013646 001006 B8NE 5%
013650 005726 IST (SP)+ ;sPOP  <CR><LF> EQUIV
013652 104401 TYPE ;:TYPE A CR AND LF
013656 021075 $CRLF
013656 105037 014064 CLRB $CHARCNT ;;CLEAR CHARACTER COUNT
013662 000755 B8R 23 :2GET NEXT CHARACTER
013664 004737 013746 5%: JSR PC.STYPEC ;260 TYPE THIS (HARACTER
013670 123726 001056 6$: CMPB $FILLC,(SP)+ :;IS IT TIME FOR FILLER (CHARS.?
013674 001350 BNE 2% ;31F NO GO GET NEXT CHAR.
013676 013746 001054 MOV $NULL .- (SP) ;;GET # OF FILLER CHARS. NEEDED
;:AND THE NULL CHAR,
013702 105366 000001 7%: DE(CB 1(SP) ::DOES A NULL NEED TO BE TYPED?
013706 002770 BLT 63 ;:BR IF NO=--GO POP THE NULL OFF OF STACK
013710 004737 013746 JSR PC.STYPEC ::6U TYPE A NULL
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Lu LTC REPR DIAG
-0CT-81 16:08 TYPE ROUTINE
105337 014064 DE(CB $CHARCNT ::DO NOT COUNT AS A COUNT
000770 B8R 7% ;:LO0P
sHOR]ZONTAL TAB PROCESSOR
11271€ 000040 8$: MOVv8 #' ,(SP) ;:REPLACE TAB UITH SPACE
004737 013746 9% : JSR PC,STYPEC ;:TYPE A SPACE
132737 000007 8118 #7 ,$CHARCNT ;sBRANCH IF NOT AT
001372 8NE 93 ;:TAB STOP
005726 TST (SP)+ ;;POP SPACE OFF STA(K
000724 $TYPEC B8R 2% ;sGET NEXT CHARACTER
Y :
105777 165072 TST8B a$TKS :;CHAR IN KYBD BUFFER? ;MJDOOT
100022 8PL 108 ;:BR IF NOT sMJDOO1
017746 165066 MOV as$TKB,~(SP) ;2GET CHAR :MJDO01
042716 177600 8IC 0177660 (SP) ;;STRIP EXTRANEOUS BITS ;MJDO01
122716 000023 CMPB #SXOFF, (SP) ;s WAS CHAR XOFF :MJD00
001012 BNE 102% ;:BR IF NOT MJD001
101%: :MJD001
105777 165046 TSTB as$TkKS ;:WAIT FOR (CHAR :mJDO0T
100375 8PL 1018 JMJDOOT
117716 165042 MOVB a$TkB, (SP) ;:GET CHAR :MJD0OO1
042716 177600 8IC #177600, (SP) J:STRIP IT :MJD001
122716 000021 CMPB #SXON, (SP) J3WAS IT XON? ;MuD001
001366 BNE 1018 ;:BR IF NOT ;MJD00
102$: ;MJDO01
005726 TST (SP)+ JJFIX STACK :MJD001
10%: ;MJDOO
105777 165024 TST8B as$TPS ;:WAIT UNTI. PRINTER IS READY
100375 8PL 108 ;MJDOO0Y
116677 000002 MOVB 2(SP) ,a$TPB ;:LOAD CHAR TO BE TYPED INTO DATA REG.
122766 000015 CMPB #CR,2(SP) ;:1S CHARACTER A CARRIAGE RETURN?
001003 BNE 18 ;;BRANCH IF NO
105037 014064 CLRB $CHARCNT ;:YES-=CLEAR CHARACTER COUNT
000406 B8R $STYPEX S EXIT
122766 000012 (00002 1%: CMPB #LF ,2(SP) ;1S CHARACTER A LINE FEED?
001402 BEQ STYPEX ; :BRANCH IF YES
105227 INCB (PC)+ ;s COUNT THE CHARACTER
000000 $SCHARCNT:.WORD O :;CHARACTER COUNT STORAGE
000207 $TYPEX: RTS PC

.SBTTL BINARY TO OCTAL (ASCII) AND TYPE

R L L T T T T T T T R I T T R Y
'THIS ROUTINE 1S USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT

:*OCTAL (ASCII) NUMBER AND TYPE IT.
:«$TYPOS---ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE

s«CALL:
:' MOV NUM,-(SP) ,.NUHBER TO BE TYPED
. % TYPOS :CALL FOR TYPEOUT
s .BYTE N ;;N=1 TO 6 FOR NUMBER OF DIGITS TO TYPE
o .BYTE M ::M=1 OR 0
. % :1=TYPF LEADING ZEROS
b ..O-SUPPRESS LEADING ZEROS
.
*«$TYPON----ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
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0546
113704

016666
012616

16:08

000000
000001
014315
000002

000001
000006
000005

014315

000006
014314
014313
000012

014314
177770

000060
000040
014310
014310
014312
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BINARY TO OCTAL (ASCI]) AND TYPE

;*$TYPOS OR STYPOC

c«CALL:
* MoV

o TYPON

NUM, - (SP)

:;NUMBER TO BE TYPED
;sCALL FOR TYPEOUT

4
:«S$TYPOC--~ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER

;*CALL:
fe MOV

e TYPOC

$TYPOS: MOV
MOVB
MOVB
ADD
BR
$TYPOC: MOVB
MOVB
$TYPON: MOVB
MOV
MOV
MOV
MOVB
NEG
ADD
MOVB
MOVB
MOV
CLR
1%: ROL
BR
2%: ROL
ROL
ROL
MoV
3s: ROL
DECB
BPL
BIC
BNE
TST
BEQ
A INC
BIS
5%: BIS
MOVB
TYPE
7%: DE(B
B8GT
BLT
INC
BR
6%: MOV
Mov
MOV
MOV
MOV

NUM, - (SP)

a8(SP) ,~(SP)
1(SP) ,$0FILL

(SP)+,$OMODE +1

#2,(SP)
$TYPON
#1,80FILL
#6,$0MODE +1
#5,80CNT
R3,-(SP)
R&,~(SP)
RS,~(SP)
SOMODE+1,Ré
R

¥6,Ré6

R&, SOMODE
SOFILL ,Ré
12(SP) ,RS

(SP)+, (SP)

;:NUMBER TO BE TYPED
;;CALL FOR TYPEOUT

;.PICKUP THE MODE

;:LOAD ZERO FILL SWITCH
:NUMBER OF DIGITS TO TYPE
;;ADJUST RETURN ADDRESS

::SET THE ZERO FILL SWITCH

;:SET FOR SIX(6) DIGITS

;:SET THE ITERATION COUNT

::SAVE R3

::SAVE R4

::SAVE RS

;:GET THE NUMBER OF DIGITS TO TYPE

:.SUBTRACT IT FOR MAX. ALLOWED
;.SAVE IT FOR USE

;;GET THE ZERO FILL SWITCH
;;PICKUP _THE INPUI NUMBER
;;CLEAR THE OUTPUT WORD
;;ROTATE MSB INTO "°C*’

;.60 DO _MSB

;.FORM THIS DIGIT

::GET LSB OF THIS DIGIT
::TYPE THIS DIGIT?

;:BR IF NO

::GET RID OF JUNK

::TEST FOR O

::SUPPRESS THIS 0?

;:BR IF YES

::DON'T SUPPRESS ANYMORE 0°'S
::MAKE THIS DIGIT ASCII
::MAKE ASCII IF NOT ALREADY
::SAVE FOR TYPING

::G0 TYPE THIS DIGIT

;+COUNT BY 1

::BR IF MORE T0 DO

::BR IF DONE

;2 INSURE LAST DIGIT ISN'T A BLANK
;260 DO THE LAST DIGIT
;;RESTORE RS

:;RESTORE R4

::RESTORE R3

::SET THE STACK FOR RETURNING
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20-0C7-81 16:08 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0070
4306 000002 RTI JRETURN
4310 000 8%: .BYTE 0 .,STORAGE FOR ASCII DIGIY
6311 000 .BYTE O JTERMINATOR FOR TYPE ROUTINE
6312 000 $OCNT: .BYTE 0 :OCTAL DIGIT COUNTER
4313 000 $OFILL: .BYTE 0 ,,ZERO FILL SWITCH
4314 000000 SOMODE: .WORD 0 ;NUMBER OF DIGITS TO TYPE

.SBTTL CONVERT BINARY TO DECIMAL AND TYPE ROUTINE

S 2222232232322 2232323328232122 2323383888222 22232222820322300220022dR2 2]
2*THIS ROUTINE IS USED TO CHANGE A 16=BIT BINARY NUMBER TO A 5-DIGIT
;*SIGNED DECIMAL (ASCII) NUMBER AND TYPE IT. DEPENDING ON WHETHER THE
S*NUMBER 1S POSITIVE OR NEGATIVE A SPACE OR A MINUS SIGN WILL BE TYPED
;*BEFORE THE FIRST DIGIT OF THE NUMBER. LEADING ZEROS WILL ALWAYS BE
;*REPLACED WITH SPACES.

.=CALL:
e MOV NUM, = (SP) ::PUT THE BINARY NUMBER ON THE 3TACK
u TYPDS *160 TO THE ROUTINE
4316 $TYPDS:
4316 010046 MOV RO, -(SP) ;;PUSH RO ON STACK
4320 010146 MOV R1.-(SP) *PUSH R1 ON STACK
4322 010246 MOV R2.-(SP) *3PUSH R2 ON STACK
4324 010346 MOV R3.-(SP) “:PUSH R3 ON STACK
4326 010546 MOV RS.=(SP) ::PUSH R5 ON STACK
4330 012746 020200 MOV #20200, - (SP) “:SET BLANK SWITCH AND SIGN
433, 016605 000020 MOV 20(SP) .RS S3GET THE INPUT NUMBER
4340 100004 BPL 18 tiBR IF INPUT IS POS.
4342 005405 NEG RS 1 MAKE THE BINARY NUMBER POS.
4344 112766 000055 000001 MOVB  #°-,1(SP) SIMAKE THE ASCII NUMBER NEG.
4352 005000 18: CLR RO *:ZERO THE CONSTANTS INDEX
4354 012703 014532 MOV #3$DBLK ,R3 *:SETUP THE OUTPUT POINTER
4360 112723 000040 MOVB  #' ,(R$)+ “ISET THE FIRST CHARACTER TO A BLANK
4364 005002 28: CLR R2 S CLEAR THE BCD NUMBER
4366 016001 014522 MOV $DTBL (RO) ,R1 *:GET THE CONSTANT
4372 160105 38 su8 R1,R5 S:FORM THIS BCD DIGIT
43764 002402 BLT 43 1:BR IF DONE
4376 005202 INC R2 *INCREASE THE BCD DIGIT BY 1
4400 000774 BR 3$
4402 060105 48: ADD R1,RS :;ADD BACK THE CONSTANT
4404 005702 ST R2 ::CHECK IF 8CD DIGIT=0
4406 001002 BNE 5% ‘FALL THRCUGH IF 0
4410 105716 TSTB (SP) *STILL DOING LEADING 0'S?
4412 100407 BMI 78 ..BR IF YES
4416 106316 5%: ASLB (SP) . 1MSD?
4416 103003 BCC 63 *iBR IF NO
4420 116663 000001 177777 MOVB 1(sp> -1(R3) ..ves--ser THE SIGN
4426 052702 000060 68: BIS Ré *MAKE THE BCD DIGIT ASCII
4432 052702 000040 78 BIS n' “ MAKE IT A SPACE IF NOT ALREADY A DIGIT
4436 110223 MOVB  R2 (R3)+ *PUT THIS CHARACTER IN THE OUTPUT BUFFER
4440 005720 ST (RO) + ,,JUST INCREMENT ING
4442 020027 000010 CMP RO,#10 1iCHECK THE TABLE INDEX
4446 002746 BLT 28 ;360 DO THE NEXT DIGIT
4450 003002 8GT 8s 160 TO EXIT
4452 010502 MOV RS.R2 ..GET THE LSD
4454 000764 BR 68 *60 CHANGE TO ASCII
4456 105726 8$: TST8 (SP)+ ‘"WAS THE LSD THE FIRST NON-ZERO?
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JXDIAO 1
JIKDIA.P1 20-0CT-81 16:08 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEa Ou7i

(1) 014460 100003 8PL 9 ::BR [F NO
(1) 014462 116663 177777 177776 MOVB  ~1(SP).-2(R3)  ::YES==SET THE SIGN FOR TYPING
(1) 014470 105013 9%: CLRB (R3) “iSET THE TERMINATOR
(3) 014472 012605 MOV (SP)+,RS S:POP STACK INTO RS
13) 0164474 012603 MOV (SP)+.R3 1:POP STACK INTC R3
(3) 014476 012602 MOV (SP)+.R2 “1POP STACK INTO R2
(3) 014500 012601 MOV (SP) +.R1 1IPOP STACK INTO R1
(3) 014502 012600 MOV (SP)+,R0O ::POP STACK INTO RO
(1) 0145046 104401 014532 TYPE $0BLK ::NOW TYPE THE NUMBER
(1) 014510 016666 000002 000004 MOV 2(SP),4(SP) P ADJUST THE STACK
(1) 014516 012616 MOV (SP)+. (SP)
(1) 014520 000002 RTI :;RETURN TO USER
(1) 014522 023420 $DTBL: 10000.
(1) 014526 001750 1000.
(1) 014526 000144 100.
(1) 014530 000012 10.

;é&i 014532 000004 $OBLK: .BLKW 4
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7238 _SLU LTC REPR DIAG DNMAC X26.07-563 02-FEB-82 16:42 PAGE 17

1
P11 20-0CT~81 16:08 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEQ 0072

.SBTTL TTY INPUT ROUTINE

'.'t'l‘t"t't"tttttﬁttttt'tttitttittttttitttttittitttttttttttttttt

"ENABL LSB

R R L bbb LA SRR AL AR LA L L LT
;*SOFTWARE SWITCH REGISTER CHANGE ROUTINE.

:*ROUTINE IS ENTERED FROM THE TRAP HANDLER, AND WILL

;*«SERVICE THE TEST FOR CHANGE IN SOFTWARE SWITCH REGISTER TRAP (ALL
. *WHEN OPERATING IN TTY FLAG MODE.

016542 022737 000176 001040 $CKSWR: CMP #SWREG, SWR :;1S THE SOFT-SWR SELECTED?
014550 001074 BNE 15% ;;BRANCH IF NO

014552 105777 164266 TST8 a$TKS ;. CHAR THERE?

014556 100071 BPL 15% ;;1F NO, DON'T WAIT AROUND
014560 117746 164262 MOovV8 a$Tk8,~(SP) ;s SAVE THE (HAR

014564 062716 177600 8IC #~C177,(SP) ::STRIP-OFF THE ASCI!

014570 022726 000007 CMP #7,(SP)+ ::1S IT A CONTROL G?

014574 001062 BNE 15% ;sNJ, RETURN TO USER

014576 123727 001034 000001 CMPB $SAUTOB, #1 ;;ARE WE RUNNING IN AUTO-MODE?
014604 001456 BEQ 15% :sBRANCH IF YES

014606 104401 015277 TYPE LSCNTLG ;;ECHO THE CONTROL-G (*G)
014612 104401 015304 $GTSWR: TYPE . SMSWR ;s TYPE CURRENT CONTENTS
014616 013746 000176 MoV SWREG,~(SP) ;. SAVE SWREG FOR TYPEOUT
014622 104402 TYPOC ;:GO TYPE--OCTAL ASCII(ALL DIGITS)
014626 104401 015315 TYPE . SMNEW ;PROMPT FOR NEW SWR

014630 005046 19%: CLR -(SP) ;:CLEAR COUNTER

014632 005046 CLR =(SP) ;. THE NEW SWR

0146346 105777 164204 78: TSTB a$TKS ;s CHAR THERE?

014640 100375 8PL 7% ;o IF NOT TRY AGAIN

016642 117746 164200 MovBs a$TkB,~(SP) :sPICK UP CHAR

014646 042716 177600 8IC #4C177, (SP) JoMAKE IT 7-BIT ASCII

014652 021627 000025 9%: CMP (SP) ,#25 ;oIS IT A CONTROL-U?

014656 001005 BNE 108 :BRANCH IF NOT

014660 104401 015272 TYPE SCNTLU ;sYES, ECHO CONTROL-U (*U)
014664 062706 000006 20%: ADD #6,SP ;s IGNORE PREVIOUS INPUT

014670 (00757 BR 19% J:LET'S TRY IT AGAIN

014672 021627 000015 10%: CMP (SP),#15 20IS IT A <CR>?

014676 001022 BNE 16$ ;BRANCH IF NO

014700 005766 000004 TST 4 (SP) ;2YES, IS IT THE FIRST CHAR?
014704 001403 BEQ 11% ;BRANCH IF YES

014706 016677 000002 164124 MOV 2(SP) ,aSWR ;:SAVE NEW SWR

014714 062706 000006 11%: ADD #6,SP ;:CLEAR UP STACK

014720 104401 001075 14%: TYPE . SCRLF ;sECHO <CR> AND <LF>

014724 123727 001035 000001 (MPB SINTAG,#1 ;JRE-ENABLE TTY KBD INTERRUPTS?
014732 001003 BNE 158 : sBRANCH IF NOT

014734 012777 000100 164102 MOV #100,3$TKS ;;RE~ENABLE TTY KBD INTERRUPTS
014742 000002 15%: RTI s :RETURN

014744 004737 013746 16%: JSR PC,$TYPEC ;;ELHO CHAR
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0 11/23B_5LU LTC REPR DIAG DNMAC X264.07-563 02-FEB-82 16:42 PAGE 17-1
P11 7 20-0CT~81 16:08 TTY INPUT ROUTINE SEQ 0073
014750 021627 000060 P (SP) ,#60 ;:CHAR < 0?
016754 002420 BLT 188 ::BRANCH IF YES
014756 021627 000067 c(mpP (SP) ,#67 ;sCHAR > 7?
014762 003015 B8GT 188 ::BRANCH IF YES
0164766 062726 000060 BIC #60, (SP)+ :ISTRIP=OFF ASCII
014770 005766 000002 TST 2(sP) *11S THIS THE FIRST CHAR
014774 001403 BEQ 178 ::BRANCH IF YES
014776 006316 ASL (SP) :IND, SHIFT PRESENT
015000 006316 ASL (SP) *: "CHAR OVER TO MAKE
015002 006316 ASL (SP) i1 ROOM FOR NEW ONE.
015006 005266 000002 178:  INC 2(SP) :KEEP COUNT OF CHAR
015010 056616 177776 BIS =2(SP), (SP) ::SET IN NEW CHAR
015014 000707 BR 7$ ::GET THE NEXT ONE
015016 104401 001074 188:  TYPE  ,SQUES SITYPE 7<CROCLF>
015022 000720 BR 208 : $SIMULATE CONTROL-U
.DSABL _SB
;:ttttttttti!ttttttitttttttitiittttttit!tttttitttttttttttttt!tttt
;+THIS ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY
. % .
e RDCHR :;INPUT A SINGLE CHARACTER FROM THE TTY
P RETURN HERE ::CHARACTER IS ON THE STACK
i ::WITH PARITY BIT STRIPPED OFF
015026 011646 SRDCHR: MOV (SP) = (SP) :;PUSH DOWN THE P(
015026 016666 000004 000002 MOV 4(SP),2(SP) ::SAVE THE PS
015034 105777 164004 18: TSTB  a$TKS :WAIT FOR
015040 100375 BPL 18 ;A CHARACTER
015042 117766 164000 000004 MOVB  @$TKB,4(SP) ::READ THE TTY
015050 042766 177600 000004 BIC #~C<177>,4(SP)  ::GET RID OF JUNK IF ANY
015056 026627 000004 000023 cMp 4(SP) ,#2% ;;IS IT A CONTROL-S?
015064 001013 BNE 33 ::BRANCH IF NO
015066 105777 163752 28: TSTB  a$TKS :WAIT FOR A CHARACTER
015072 100375 BPL 28 ::LOOP UNTIL ITS THERE
015074 117746 163746 MOVB  @STKB, -(SP) :GET_CHARACTER
015100 042716 177600 BIC #4C177,(SP) $IMAKE IT 7-BIT ASCII
015106 022627 000021 CMP (SP)+ 421 ;o1S 1T A CONTROL-Q?
015110 001366 BNE 2% ::IF NOT DISCARD IT
015112 000750 BR 18 :YES, RESUME
015114 026627 000004 000021 38: P 4(SP) ,#$XON $:1S 1T A RANDOM XON? :RANOO1
015122 001744 BEQ 1 :IBRANCH IF YES :RANOO1
015126 026627 000004 000140 CMP 4(SP) ,#140 ;218 IT UPPER CASE?
015132 002407 BLT 4$ ::BRANCH IF YES
015134 026627 000004 000175 cMp 4(SP) 4175 ;;1S IT A SPECIAL CHAR?
015142 003003 86T 43 ::BRANCH IF YES
015144 042766 000040 000004 BIC #40,4(SP) :IMAKE IT UPPER CASE
015152 000002 48: RTI ::G0 BACK TO USER

;:ttttttttttt*ttttttttttittttt.ttttttt‘tttt.ttttttttttttttttttttt

;*THIS ROUTINE WILL INPUT A STRING FROM THE TTY

s«CALL:

o % RDLIN ;2 INPUT A STRING FROM THE TTY

.t RETURN HERE :2ADDRESS OF FIRST CHARACTER WILL BE ON THE STACK
o ::TERMINATOR WILL BE A BYTE OF ALL 0°'S
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7238 SLL LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 17-2

20-0C7-81 16:08 TTY INPUT ROUTINE SEQ 0074
5156 010346 SRDLIN: MOV R3,-(SP) ;s SAVE R3
5156 012703 015262 18: MOV #STTYIN,R3 2:GET ADDRESS
5162 022703 015272 2s: CMp N#STTYIN+8. ,R3 .,BUFFER FULL?
5166 101405 BLOS 3 :BR IF YES
5170 104410 RDCHR ©:G0 READ ONE CHARACTER FROM THE TTY
5172 112613 MovB (SP) +,(R3) :.GET CHARACTER
5174 122713 000177 108: CMP3 #177,(R3) ;:1S 1T A RUBOUT
5200 001003 BNE 3s ;.SKIP IF NOT
5202 104401 001074 68: TYPE SQUES ;;TYPE A '?!
5206 000763 BR *:CLEAR THE BUFFER AND LOOP
5210 111337 015260 3s: mMovB (R3) 9% :;ECHO THE CHARACTER
5214 104401 015260 TYPE .93
5220 122723 000015 CMPB #15, (R3)+ sCHECK FOR RETURN
5226 001356 BNE 2$ ;LOOP IF NOT RETURN
5226 105063 177777 CLRB -1(R3) ;CLEAR RETURN (THE 15)
5232 104401 001076 TYPE SLF JTYPE A LINE FEED
5236 072603 MOV (SP) + ,R3 ..RESTORE R3
52640 011646 MOV (SP) ,-(SP) ; JADJUST THE STACK AND PUT ADDRESS OFf THE
5242 016666 000004 000002 MOV 4&(SP) ,2(SP) 1 FIRST ASCII CHARACTER ON [T
5250 012766 015262 000006 MOV #STTYIN,6(SP)
5256 000002 RTI . s sRETURN
5260 000 9%: .BYTE 0 ;s STORAGE FOR ASCII CHAR. TO TYPE
5261 000 BYTE 0 :; TERMINATOR
5262 000010 STTYIN: .BLKB_ 8. :;RESERVE 8 BYTES FOR TTY INPUT
5272 052536 005015 000 SCNTLU: .ASCIZ /*U/<15><12> ;:CONTROL 'V
5277 136 006507 000012 SCNTLG: .ASCIZ /%G/<15><12> ,.CONTROL 6"’
5304 005015 053523 020122 SMSWR: .ASCIZ <15><12>/SWR =
5312 020075 000
5315 040 0647040 053505 SMNEW: .ASCIZ / NEW =
5322 036440 000040
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/7238 SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 18
20-0CT-81 16:08 TTY INPUT ROUTINE SEQ 0075

.SBTTL TRAP DECODER

AR NN A RN AN A AN E TR A RN AN AN AN NN NN NS NANANANRNRAE TR AN RN RE T AR ORS
'TH]S ROUTINE WILL PICKUP THE LOWER BYTE OF THE '‘TRAP'' INSTRUCTION
S«AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
*«0F THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT wiILL
;*GO TO THAT ROUTINE.

015326 010046 $TRAP: MOV RO,=-(SP) ::SAVE RO
015330 016600 000002 MOV 2(SP) RO *iGET TRAP ADDRESS
015334 005740 TST -(R0) --BACKUP 8Y 2
015336 111000 MUVB (RO) RO “GET RIGHT BYTE OF TRAP
015340 006300 ASL RO *POSITION FOR INDEXING
015342 016000 015362 MOV $TRPAD (RQ) ,RO ,,INDEX TO TABLE
015346 000200 RTS RO “GO TO ROUTINE
::THIS IS USE TO HANDLE THE '‘GETPRI'* MACRO
015350 011646 $TRAP2: MOV (SP) ,=(SP) ::MOVE THE PC DOWN
015352 016666 000004 000002 MOV 4(SP) ,2(SP) SiMOVE THE PSW DOWN
015360 000002 RT] *SRESTORE THE PSW
.SBTTL TRAP TABLE
:«THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
S«BY THE "‘TRAP'' INSTRUCTION.
; ROUT INE
5362 015350 $TRPAD: .WORD  $TRAP2
5364 013534 $TYPE  ;.:CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
5366 014114 $,7POC ,.CALL=TYPOC( TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
5370 014070 $TYPOS ::CALL=TYPOS  TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
5372 014130 STYPON ::CALL=TYPON  TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
5374 014316 $TYPDS -:CALL=TYPDS  TRAP+5(104405) TYPE DECIMAL NUMBER (WITH SIGN)
5376 014612 $GTSWR ::CALL=GTSWR  TRAP+6(104406) GET SOFT-SWR SETTING
5400 014542 $CKSWR ::CALL=CKSWR  TRAP+7(104407) TEST FOR CHANGE IN SOF T-SWR
5402 015024 $SRDCHR  :-CALL=RDCHR  TRAP+10(104410) TTY TYPEIN CHARACTER ROUTINE
5404 015154 SRDLIN --CALL=RDLIN  TRAP+11(104411) TTY TYPEIN STRING ROUTINE




“JKDIAC 11/238_SLU LTC REPR DIAG
rJKDIA.P11 20-0CT7-81 16:08

2695

2696

2697

2698

2699

2700

2701

2702 015406 012737 000176

2703 015414 012737 000174

2704 015422 032777 000020

2705 015430 001403

2706 015632 012703 002750

2707 015436 000402

2708 015440 012703 002760

2709 015444 000005

2710 015446 112773 000052

2711 015454 105773 000000

2712 015460 100375

2713 015462 117373 000002

2714 015470 017300 000002

2715 015474 100023

2716 015476 052701 010000

2717 015502 030100

2718 015504 001403

2719 015506 004737 015570

2720 015512 015616

2721 015514 006301

2722 015516 030100

2723 015520 001403

2726 015522 004737 015570

2725 015526 015627

2726 015530 006301

2727 015532 030100

2728 015534 001403

2729 015536 004737 015570

2730 015542 015641

2731 015544 042700 000200

2732 015550 022700 000003

2733 015554 001337

2736 015556 004737 015570

2735 015562 015654

2736 015564 000000

2737 015566 000707

2738

2739

2740 015570 013600

27641 015572 062746 000002

2742 015576 105773 000004

27643 015602 100375

2744 015604 112073 000006

2745 015610 105710

272646 (15612 001371

5;2; 015614 000207

2749 015616 005015 040520
015624 054524 000

L 6
DNMAC X24.07-563 02-FEB-82 16:42 PAGE 19
ECHO TEST

.SBTTL ECHO TEST
L L L i D bbbt bbb bbb LR LR L L
;*THIS ROUTINE WILL ECHO ANY CHARACTER TYPED
;*ON EITHER SLUT OR SLU2. DEFAULT IS TO THE CONSOLE DEVICE SLU1.
s«THE TEST IS HALTED BY TYPING A CONTROL-C
:«TEST CAN BE RESTARTED AFTER HALTING BY JUST CONTINUING

T2 EsT22222222 232232288223 220 00 R332 220220022220 2228 2002000820

001040 ECHO: MOV #SWREG, SWR :SET UP FOR SOF TWARE SWITCH REGISTER
001042 MOV #DISPREG,DISPLAY *AND DISPLAY REGISTER
163410 BIT #BIT4, asSWR ‘CHECK IF BIT4 SET IN SWITCH REG
BEQ 18 “IF NOT THEN SELECT SLU
ggv 5§csn. R3 ‘IF BIT4 SET THEN SELECT SLU2
1$: MOV #CRCSR, R3 ;SELECT SLUY (THIS IS DEFAULT DEVICE)
28: RESET ;CLEAR EVERYTHING
200006 MOVE  #'+ a6(R3) "TRANSMIT PROMPT ''s*'
38: égle §§R3) “WAIT FOR INPUT
000006 MOVB  32(R3).a6(R3)  ;ECHO INPUT
MOV 32(R3) .RO *STORE INPUT
BPL 6$ *BR IF "ERROR'NOT SET
8IS #B8IT12.R1 “SET PARITY ERROR TEST MASK
BIT R1,RO ‘CHECK FOR PARITY ERROR FLAG
BEQ X ‘BR IF NOT SET
ggﬁR PC,MSG ‘REPORT PARITY ERROR
48: ASL R1 sSHIFT MASK TO TEST '‘FR"’ FLAG
BIT R1.RO STEST FOR FRAMING ERROR FLAG
BEQ 5% *BR IF NOT SET
gg: PC,MSG "REPSORT FRAMING ERROR
5% ASL R1 SSHIFT MASK TO TEST "OR'' FLAG
BIT R1,RO *TEST FOR OVERFLOW ERROR
BEQ 6$ *BR IF NOT SET
ggz PC,MSG *REPORT OVERFLOW ERROR
68: BIC #81T7,RO :CLEAR ANY PARITY BIT
CMP #3,R0 ‘WAS INPUT CONTROL=C
BNE 33 :BR IF IS NOT
JSR PC,MSG *REPORT PROGRAM STOP
MSTOP
HALT SEND OF TEST HALT
BR ECHO *AFTER END OF TEST HALT
*" PRESS CONTINUE TO RESTART ECHO TEST
MSG: MOV 3(SP)+,RO :PICK UP MESSAGE POINTER
ADD #2.-(SP) *ADJUST RETURN PC
WAIT: TSTB  @4(R3) ‘WAIT FOR XMIT DONE
8PL WAIT
MOVB (RO)+,36(R3) :SEND CHARACTER
TSTB (RO) ‘1S THIS END OF MESSAGE?
BNE WAIT ‘BR IF NOT

RTS PC JRETURN
044522 MPAR: LASCIZ  <CR><LF>/PARITY/

SEQ 0076
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CJKDIAD 11/238_SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 19-1
CJKDIA.P1T 20-0C7-81 16:08 ECHO TEST SEQ 0077

2750 015627 015 063012 040522 MFR: LASCIZ <CR><XLF>/FRAMING/
015634 044515 043516 000

2751 015641 015 047412 042526 MOR: LASCIZ <CR><LF>/OVERFLOW/
015646 043122 047514 000127

2752 8}2223 005868 052123 050117 MSTOP: .ASCIZ <CR><LF>/STOP/
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(JKDIAQ *1/238_SLU LTC REPR DIAG DNMAC X24.07-563 02-+EB-B2 16:42 PAGE 20

CIKDIA.P*1 ~ 20-0CT-81 16:08 ECHO TEST SEu 0078
2754
2755
2756 015664 .EVEN
2757
ors8 .SBTTL TERMINAL OUTPUT TEST
2760 ttttttttttttt'tttttttttttttttttttttttttt'tttttttttttttt'tttttt'
2761 ;«THIS ROUTINE WILL OUTPUT ALL WRITABLE CHARACTERS FOR THE
2762 :«THE OCTAL CODE 040 ==> 377
2763 :«32 CHARACTERS ARE PRINTED ON EACH LINE
2764 tTHE PATTERN 1S REPEATED EVERY THREE LINES
2766 b ttttttttttt’ttttttt'tttttttttt'tttttttt'ttttttttttttttttttttttt
2767
2768 015664 012737 000176 001040 OUTTST: MOV #SWREG, SWR ;SET UP FOR SOFTWARE SWITCH REGISTER
2769 015672 012737 000174 001042 MOV #DISPREG,DISPLAY ZAND DISPLAY REGISTER
2770 015700 032777 000020 163132 BIT #8174, aSWwR *CHECK_IF BIT4 SET IN SWITCH REG
2771 015706 001403 BEQ 18 *IF NOT THEN SELECT SLUI
2772 015710 012703 002750 MOV #RCSR, R3 “IF BIT4 SET THEN SELECT SLU2
2773 015714 000402 BR 28
2774 015716 012703 002760 18: MOV #CRCSR, R3 ;SELECT SLU1 (THIS IS DEFAULT DEVICE)
2775 015722 000005 2s: RESET ;CLEAR THE WORLD
2776 015724 012701 000040 38: MOV #40,R1 *LOAD FIRST WRITABLE CHARACTER
2777 015730 012700 000040 1$: MOV #40,RO :LOAD CHAR COUNT PER LINE
2778 015734 105773 000004 58 TSTB @4 (R3) ‘WAIl FOR DONE
2779 015740 100375 BPL 58
2780 015742 010173 000006 MOV R1,36(R3) ;TRANSMIT A CHARACTER
2781 015746 105201 INGB  R1 * INCREMENT CHARACTER CODE
2782 015750 005300 DEC RO DECREMENT CHAR COUNT
2783 015752 001370 BNE 58 *BR IF LINE NOT COMPLETF
2784 015754 004737 015570 JSR PC,MSG SSUE CR,LINE FEED
2786 015760 001075 $CRLF
2787 015762 105773 000000 1STB  a(R3) :ANY CHARACTER RECEIVED?
2788 015766 100404 BM] 6$ BR IF YES
2789 015770 032701 000200 BIT #BIT7 R *FINISHED ONE PASS OF WRITABLE CHARACTERS?
2790 015774 001353 BNE 38 :BR IF YES
1) 015776 000754 BR 48 *IF NOT WRITE NEXT LINE
2793 015000 005073 000002 6$: (LR 32(R3) ;CLEAR RECEIVER
2794 016004 000000 HALT *STOP TEST
2795 016006 000726 BR ouTTST RESTART TEST IF CONTINUED
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“.KDJAC 11/23B SLU LTC REFR DIAG DNMAL X24.07-563 02-FEB-82 16:42 PAGE 21

044502 033124 047440 EM14: .ASCIZ /BIT6 OF SLU1 TCSR NOT CLEAR AFTER RESET/
020106 046123 838?%3

2804

~
o
N
~nN
o
&
o
o
N
—
N
o
(V]

“JKDIA.PTT 20-07T-81 16:08 TERMINAL OUTPUT TEST SEQ 0079
5798
2799 6010 046123 030525 052040 EMS: LASCIZ /SLUY TCSR DONE NOT SET WITH RESET/
6016 051503 020122 047504
6024 042516 047040 052117
6032 051440 052105 053440
6040 052111 020110 042522
6046 042523 000124
2800 6052 046123 030525 051040 EM6: .ASCIZ /SLUT RCSR DID NOT RETURN SSYNC/
6060 051503 020122 0445064
066 020104 047516 020124
074 042522 052524 047122
}?5 051888 054523 041516
2801 11 123 052514 020061 EM7: LASCIZ /SLUT RBUF DID NOT RETURN SSYNC/
116 041122 043125 042040
126 042111 047040 052117
132 051040 052105 051125
140 020116 051523 047131
146 000103
2802 150 040503 020116 047516 EM11:  _ASCIZ /CAN NOT SET BIT2 OF SLU1 TCSR/
156 020126 042523 020124
166 064502 031124 047440
172 020106 046123 030525
200 052040 051503 000122
2803 206 042522 042523 020124 EM13:  _ASCIZ /RESET DID NOT CLEAR BIT2 OF SLU1 T(SR/
214 044504 020104 047516
222 020124 046103 040505
230 020122 044502 031124
236 047440 020106 046123
244 030525 052040 051503
252
254
262
270
2
3
g
2805 326 046123 030525 054040 EM15:  _ASCIZ /SLUT XMIT INTERRUPTED WITH PRIORITY 7/
332 044515 020124 047111
340 042524 051122 050125
346 042526 020104 044527
354 044124 050040 044522
362 051117 052111 020131
370 000067
2806 372 040503 020116 047516 EM16:  .ASCIZ /CAN NOT SET BIT6 OF SLU1 TCSR/
400 020124 042523 020124
406 044502 033124 047440
414 020106 046123 030525
422 052040 051503 000122
807 430 040503 020116 047516 EM17:  _ASCIZ /CAN NOT CLEAR BIT6 OF SLU1 TCSR/
436 020124 046103 040505

&
&H
&»

0
020122 044502 033124
047440 020106 046123
460 030525 (52040 051503

[elolelelelalalalslelololalelololalolololelelolololololololalelelolalslelolololelolslololelolelolololelolole]
»
v
no
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"JKDIAO 11/23B SLU LTC REPR DIAG DNMAC X264.07-563 02-FEB-82 16:42 PAGE 21-1
CJKDIA.P1Y 20-0CT-81 16:08 TERMINAL OUTPUT TEST Seq 0080

466 000122
062522 062523 020124 EM20:  .ASCIZ /RESET DID NOT CLEAR BIT6 OF SLU1 TCSR/
064504 020104 047516
020124 046103 040505
020122 064502 033124
047440 020106 046123
030525 052040 051503

044502 033124 0474640 EM21: LASCIZ /BIT6 OF SLUT RCSR NOT CLEAR AFTER RESET/
020106 046123 030525
051503 020122
046103
043101
042522

82;??? EM22: LASCIZ /SLUY RCVR INTERRUPT WITH PRIORITY 7/
050125

044124

051117

000067

047516 EM23: LASCIZ /CAN NOT SET BIT6 OF SLU1 RCSR/
020124

047440

030525

000122

047516 EM24: .ASCIZ /CAN NOT CLEAR BIT6 OF SLUT RCSR/
040505

033124

066123

051503

6750 040503 020116 047516 EM25:  .ASCIZ /CAN NOT CLEAR BIT6 OF SLUT RCSR WITH RESET/
6756 020124 046103 040505
6764 020122 044502 033124
6772 047440 020106 046123
7000 030525 051040 051503
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052514 020061 EM26:  .ASCIZ /SLU1 RECEIVER DONE NEVER SET/
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2815 EM27: .ASCIZ /RESET DID NOT CLEAR SLU1 RCVR DONE/
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2816 EM30: .ASCIZ /READING SLUY RBUF DID NOT CLEAR RCVR DONE/
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SEC 0081

7
16:42 PAGE 21-2

DNMAC X24.07-563 02-FEB-82

TERMINAL OUTPUT TEST

20-0(7-81 16:08

"JXDIAQ 11/238 SLU LTC REPR DIAG

"JKDIA.P11

LASCIZ  /SLU2 TCSR DONE NOT CLEARED WITH TBUF FULL/
/SLU2 TCSR DONE NOT SET AFTER TRANSMIT/
LASCIZ /BITO OF SLU2 TCSR NOT CLEAR AFTER RESET/

LASCIZ /SLU2 TCSR DID NOT RETURN SSYNC/
LASCIZ /SLUZ TBUF DID NOT RETURN SSYNC/
LASCIZ /SLU2 TCSR DONE NOT SET WITH RESET/
LASCIZ /SLU2 RCSR DID NOT RETURN SSYNC/
LASCIZ /SLUZ RBUF DID NOT RETURN SSYN(/

LASCIZ /CAN NOT SET BITO OF SLU2 TCSR/
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E 7
“JKDIAQ 117238 Stu LTC REPR DIAG DNMAC X24.07-563 Q2-FEB~82 16:42 PAGE 21-3

CJKDIALPI 20-0CT-81 16:08 TERMINAL OUTPUT TEST SEC 008¢
017630 052117 051440 052105
017636 041040 052111 020060
017644 043117 (051440 052514
017652 020062 041524 051123
017660 000
2826 017661 103 047101 0470640 EM42:  .ASCIZ /CAN NOT CLEAR BITO OF stu2 TCSR/
017666 052117 041440 042514
017674 051101 041040 052111
017702 020060 043117 051440
017710 052514 020062 041524
017716 051123 000
2827 017721 122 051505 052105 EM&3:  _ASCIZ /RESET DID NOT CLEAR BITO OF SLUZ2 TCSR/
017726 042040 042111 047040
017734 052117 061440 042514
017742 051101 041040 052111
017750 020060 043117 051440
017756 052514 020062 041524
017764 051123 000
2828 017767 102 052111 020066 EM44:  _ASCIZ /BIT6 OF SLU2 TCSR NOT CLEAR AFTER RESET/
017776 043117 051440 052514
020002 020062 041524 051123
020010 047040 052117 041440
020016 042514 051101 040440
020024 052106 051105 051040
020032 051505 052105 000
2829 020037 123 052514 020062 EM4S:  _ASCIZ /SLU2 XMIT INTERRUPTED WITH PRIORITY 7/
020044 046530 052111 044440
020052 052116 051105 052522
020060 052120 042105 053440
020066 052111 020110 051120
020074 047511 044522 054526
020102 033440 000
2830 020105 103 047101 047040 EM46:  .ASCIZ /CAN NOT SET BIT6 OF SLU2 TCSR/
020112 052117 051440 052105
020120 041040 052111 020066
020126 043117 051440 052514
020134 020062 041526 051123
020142 000
2831 020143 103 0647101 047040 EM47:  _ASCIZ /CAN NOT CLEAR BIT6é OF SLU2 TCSR/
020150 052117 041440 042514
020156 051101 041040 052111
020164 020066 043117 051440
020172 052514 020062 041524
020200 051123 000
2832 020203 122 051505 052105 EMS0:  .ASCIZ /RESET DID NOT CLEAR BIT6 OF SLUZ2 TCSR/
020210 0420640 042111 047040
020216 052117 041440 042514
020224 051101 041040 052111
020232 020066 043117 051440
020240 052514 020062 041524
020246 051123 000
2833 020251 102 052111 020066 EM51:  .ASCIZ /BIT6 OF SLUZ2 RCSR NOT CLEAR AFTER RESET/
020256 043117 051440 052514
020264 020062 041522 051123
020272 047040 052117 041440
020300 042514 051101 040440




F 7
“JKDIAC 11/238 SLU LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 21-4

tJKDIA.P1T 20~-0(T-81 16:08 TERMINAL OUTPUT TEST SEQ 0083

020306 052106 051105 051040
020314 051505 052105 000

2834 020321 123 052514 020062 EMS2:  .ASCIZ /SLUZ RCVR INTERRUPT WITH PRIORITY 7/
020326 041522 031126 044440
020334 052116 031105 052522
020342 052120 053440 052111
020350 020110 051120 047511
020356 044522 054524 033440
020364 000

2835 020365 103 047101 047040 EMS53:  .ASCIZ /CAN NOT SET BITé OF SLU2 RCSR/
020372 052117 051440 052105
020400 041040 052111 020066

020406 043117 051440 052514
020414 020082 0641522 051123

2836 020423 103 047101 047040 EMS4:  _ASCIZ /CAN NOT CLEAR BIT6é OF SLU2 RCSR/
117 0461440 042514

01 041040 05211

043117 051440

020885 041522

047101 047040 EMS55:  ,ASCIZ /CAN NOT CLEAR BIT6 OF SLU2 RCSR WITH RESET/
041440 042514

041040 052111

043117 051440

020062 041522

053440 052111

042522 042523

031125 051040 EMS5S6: LASCIZ /SLUZ2 RECEIVER DONE NEVER SET/
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2839 020573 122 051505 052
020600 042040 042111 047

EMS7: LASCIZ /RESET DID NOT CLEAR SLUZ2 RCVR DONE/

2840 020636 042522 04 EM60: .ASCIZ /READING SLU2 RBUF DID NOT CLEAR RCVR DONE/
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2841 020710 0455 EM61 : .ASCIZ /LKS DID NOT RETURN SSYNC/
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8%???% EM62: .ASCIZ /BIT6 OF LKS NOT CLEAR AFTER RESET/
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040440
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6 7
1AG ONMAC X24.07-563 02-FEB-82 16:42 PAGE 21-5

cJKDIAQ 11/238 SLuU _T1C REPR D
cJKDIA.P1 20-0CT-81 16:08 TERMINAL OUTPUT TEST SEQ 0084

020770 052106 051105 051040
020776 051505 052105 000

2843 021003 114 051513 044440 EM63:  .ASCIZ /'KS INTERRUPT WITH PRIORITY 7/
021010 052116 051105 052522
021016 052120 053440 052111
021024 020110 051120 047511
021032 0464522 054524 033440
021040 000

2844 021041 103 047101 047040 EM64:  .ASCIZ /CAN NOT SET BIT6é OF LKS/
021046 052117 051440 052105
021054 041040 052111 020066
021062 063117 046040 0571513
021070 000

2845 021071 103 047101 047040 EM65>:  .ASCIZ /CAN NOT CLEAR BIT6 OF LKS/
021076 052117 041440 042514
021104 051101 041040 052111
021112 020066 043117 0466040
021120 051513 000

2846 021123 122 051505 052105 EM66:  .ASCIZ /RESET DID NOT CLEAR BIT6 OF LKS/
021130 042040 042111 047040
021136 052117 041440 042514
021144 051101 041040 05211
021152 020066 043117 046040
021160 051513 000

2847 021163 102 052111 020067 EM67:  .ASCIZ /BIT? OF LKS NOT SET AFTER RESET/
021170 043117 046040 051513
021176 047040 0527117 051440
021204 052105 040440 052106
021212 051105 051040 051505
021220 052105 000

2848 021223 103 047101 047040 EM70:  .ASCIZ /CAN NOT CLEAR BIT7 OF LKS/
021230 052117 041440 042514
021236 051101 0461040 052111
021244 020067 043117 046040
021252 051513 000

2849 021255 102 052111 020067 EM?1:  .ASCIZ /BIT7 OF LKS DOES NOT SET/
021262 043117 046040 051513
021270 042040 042517 020123
021276 047516 020124 042523
021304 000124

2850 021306 051127 052111 047111 EM72:  .ASCIZ /WRITING TO ONE INTERNAL APDRESS MODIFIED ANOTHER/
021314 020107 047524 047440
021322 042516 044440 052116
021330 051105 040516 020114
n21336 042101 051104 051505
021344 020123 047515 044504
021352 044506 042105 040440
021360 047516 044124 051105
021366 000

2851 (C21367 123 052514 020061 EM?74:  .ASCIZ /SLUY XMIT INTERRUPTS WHEN DISABLED/
021374 046530 052111 044440
021402 052116 051105 052522
021410 052120 020123 044127
021416 047105 042040 051511
021424 061101 042514 000104

2852 021432 046123 030525 §S54040 EM?75:  _ASCIZ /SLU1 XMIT DID NOT INTERRUPT/




“JKDIAQ 117238 SLu _TC REPR DIAG
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DNMAC X24.07-563 02-FEB-82 16:42 PAGE 21-6
TERMINAL OUTPUT TEST

EM76:

EM?7:

EM100:

EM101:

EM102:

EM103:

EM104:

EM105:

EM106:

.ASCIZ

LASCIZ

LASCIZ

.ASCIZ

.ASCIZ

LASCIZ

.ASCIZ

LASCIZ

LASCIZ

/SLUY XMIT INTERRUPT AT PRIORITY 7/

/SLUT XMIT INTERRUPTS WITH ENABLE CLEAR/

/SLUT XMIT DID NOT INTERRUPT/

/SLUT XMIT RE-INTERRUPTED/

/LOADING SLUT TBUF DID NOT CLEAR INTERRUPT/

/SLUT RCVR INTERRUPTS WITH ENABLE CLEAR/

/SLUT RCVR DID NOT INTERRUPT/

/SLUT RCVR INTERRUPTS AT PRIORITY 7/

/SLUY RCVR INTERRUPTS WITH INTERRUPT ENABLE CLEAR/

SEQ 0085



" kDIAD 17238 SLU LTC REPR DIAG

"IxDIA.P11

2862

2863

2864

2865

2866

2867

2868

2869

2870

NN =2 OO OO\
[e SR oY e NS TNV, F Yo N ol S ¥ N

022614

20-0CT-81 16:08

o

ONN—=OMNNNI 2NNV O S ON) =
NN = WP WWNIN O 2 R WO O W

®
QOON—=N NS
N= = 2 N A N =0

(=]
OO =NIN) — &
WO~ JYWNWN=O

(=]
F 3
W
— ek O\SY b —d =D

020116
046102

123
046530
062111
044440
052522

COOOO0OOOOOO OO
Y SV VvV Qv v <
NNVERO SN = R = —=Or—
S EOWNSOOOOS &~3na

OO0 OO0
SV v

051122

023440
046106
0421M
051440

040

[ eTe]
(VL IV, P o)
—rnonN
O OOOWVINI—= O WNi—=—  \nh

QO=H OO N=H NOO O
QWNNONOWOWN=O0 o 29N

1 7
DNMAC X24.07-563 02-FEB-82 16:42 PAGE 21-7
TERMINAL OUTPUT TEST

EM107:

EM110:

EM111:

EM112:

EM113:

EM114:

EM115:

EM116:

EM117:

LASCIZ

.ASCIZ

LASCIZ

LASCIZ

LASCIZ

.ASCIZ

LASCIZ

.ASCIZ

.ASCI2

/SLUT RCVR DID NOT INTERRUPT/

/SLUT RECEIVER RE=-INTERRUPTED/

/SLUT READING RBUF DID NOT CLEAR INTERRUPT/

/RESET DID NOT CLEAR SLUT RCVR INTERRUPT/

/SLUT 'OR' FLAG DID NOT SET/

/SLUT ‘ERROR' NOT SET WITH °'OR' FLAG/

/DATA COMPARE ERROR/

/SLU2 XMIT INTERRUPTS WHEN DISABLED/

/SLU2 XMIT DID NOT INTERRUPT/

SEQ 0086



J 7
“,KDIAQ 11/23B_StU LTC REPR DIAG DNMAC Xx24.07-563 02-FEB-82 16:42 PAGE 21-8

TUKDIA.P1Y 20-0¢T7-81 16:08 TERMINAL OUTPUT TEST SEQ 0087
2871 022621 123 052514 020062 EM120: .ASCIZ /SLUZ2 XMIT INTERRUPT AT PRIORITY 7/
022626 046530 052111 044440
022634 052116 051105 052522
022642 052120 0640440 020124
022650 051120 047511 044522
022656 054524 033440 000
2872 022663 123 052514 020062 EM121: ,ASCIZ /SLUZ2 XMIT INTERRUPTS WITH ENABLE CLEAR/
022670 046530 052111 044440
022676 052116 051105 052522
022704 052120 020123 044527
022712 044124 042440 040516
022720 046102 020105 046103
022726 040505 000122
2873 022732 046123 031125 054040 EM122: .ASCIZ /SLUZ2 XMIT DID NOT INTERRUPT/
022740 044515 020124 044504
022746 020106 047516 020124
022754 047111 042524 051122
022762 050125 000124
2874 022766 0646123 031125 054040 EM123: ASCIZ /SLUZ XMIT RE~INTERRUPTED/
022774 044515 020124 042522
023002 044455 052116 051105
023010 052522 052120 042105
023016 000
2875 023017 116 040517 044504 EMI24: _ASCIZ /LOADING SLUZ TBUF DID NOT CLEAR INTERRUPT/
023024 043516 051440 052514
023032 020062 041124 063125
023040 042040 042111 047040
023046 052117 041440 042514
023054 051101 044440 052116
023062 051105 052522 052120
023070 000
2876 023071 123 052514 020062 EM125: .ASCIZ /SLU2 RCVR INTERRUPTS WITH ENABLE CLEAR/
023076 041522 051126 044440
023104 052116 051105 052522
023112 052120 020123 044527
023120 044124 042440 040516
023126 046102 020105 046103
023134 040505 000122
2877 023140 046123 031125 051040 EM126: .ASCIZ /SLUZ RCVR DID NOT INTERRUPT/

023162 047111 042524 051122
023170 050125 000124
2878 023174 046123 031125 051040 EM127: _.ASCIZ /SLU2 RCVR INTERRUPTS AT PRIORITY 7/
023202 053103 020122 047111
023210 042524 051122 050125
023216 051524 040440 020124
023224 051120 047511 044522
023232 054524 033440 000
2879 023237 123 052514 020062 EM130: .ASCIZ /SLUZ RCVR INTERRUPTS WITH INTERRUPT ENABLE CLEAR/
023244 041522 051126 044440
023252 052116 051105 052522
023260 052120 020123 044527
023266 044124 044440 052116
023274 051105 052522 052120
023302 042440 040516 046102




K 7
REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 21-9
16:08 TERMINAL OUTPUT TEST SEQ 0088

046103 040505
031125 051040 EM131: ,ASCIZ /SLU2 RCVR DID NOT INTERRUPT/
020122 044504
0647516 020124
042524 051122

031125 051040 EM132: .ASCIZ /SLU2 RECEIVER RE-INTERRUPTED/
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[ N1 V10T, NT.N1 V] N1 T N1 4], ¥T .Y

5
2
:
2882 ? 020062 EM133: _ASCIZ /SLU2 READING RBUF DID NOT CLEAR INTERRUPT/
2
1
0

==2ONON) O —=ORO NOWOOO

O OO udO—= N AN bbb b b b
NSO NOOCO2H0ONNN =SNONIN SOOMNNOD

0
4
6
0
2883 023463 8 EM134: .ASCIZ /RESET DID NOT CLEAR SLUZ2 RCVR INTERRUPT/
4
4
6
5

NNON = NONOWN = NONNIWOO NI NN = S wWWhOWT o
o
N
=NNON) =

2884 023533 123 020062 EM135: .ASCIZ /SLUZ2 'OR' FLAG DID NOT SET/

2885 023566 066123 023440 EM136: .ASCIZ /SLU2 "ERROR' NOT SET WITH 'OR' FLAG/

o
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2886 023632 046123 031125 EM137: _ASCIZ /SLUZ BREAK DID NOT TRANSMIT ALL ZEROES/

023676 051505 000
2887 023701 102 042522 045 EM140: .ASCIZ /BREAK DID NOT SET FRAMING ERROR/
023706 042040 042111 0470
023714 052117 051440 052105
023722 043040 040522 044515
023730 043516 0424 051122
023736 051117
2888 023741 123 052 020062 EM141: _ASCIZ /SLU2 'ERROR' NOT SET WITH 'FR' FLAG/
3746 042447 05

020124
044527

40
14
22 051117
16
24
40 051106




L 7
CJKDIAC 11/238_SLU LTC REPR DIAG DNMAC X24.07-563 (02-FEB-82 16:42 PAGE 21-10
JKDIA,PY? 20-0C7-81 16:08 TERMINAL OUTPUT TEST SEQ 0089

023776 020847 0646706 063501

024004 00
2889 024005 106 052101 020101 EM142: _ASCIZ /DATA (COMPARE ERROR WITH CABLE/
024012 047503 050115 051101
024020 020105 051105 047522
024026 020122 044527 044124
02403 041440 047101 062514
024042 000
2890 024043 122 0641524 044440 EM143: _ASCIZ /RTC INTERRUPT AT PRIORITY 7/
024050 052116 051105 052522
0264056 052120 040440 020124
024064 051120 047511 044522
024072 054524 033440 000
2891 024077 122 061524 044440 EM144:  _ASCIZ  /RTC INTERRUPTS WHEN DISABLED/
024104 052116 051105 052522
024112 052120 020123 0441
024120 047105 042040 051
024126 061101 042514 000

5
1
2892 026134 052122 020103 0471 EM145: _ASCIZ /RTC INTERRUPT DID NOT OCCUR/
024142 042524 051122 0501
024150 020124 044504 0201
024156 047516 020124 0415
0264164 052503 000122 :

1

1

2893 0264170 052122 020103 047 EM146: .ASCIZ /RTC INTERRUPT DID NOT OCCUR/

on—

024220 052503 000122
2894 026226 052122 020103 047504 EM147: _ASCIZ /RTC DOUBLE INTERRUPT/
024232 041125 042514 044640
026240 052116 051105 052522
0242646 052120 000
2895 024251 122 051505 052105 EM150: .ASCIZ /RESET DID NOT CLEAR RTC INTERRUPT/
024256 0420640 042111 067040
024264 052117 041440 0425146
024272 051101 051040 041526
024300 044440 052115 051105
024306 052522 052120 000
2896 024313 122 041524 044440 EM151: _ASCIZ /RTC INTERRUPT DID NOT CLEAR WITH BIT7 OF LKS/
024320 052116 051105 052522
024326 052120 042040 042111
0264334 047040 052117 041640
024342 042514 051101 (53440
0264350 052111 020110 044502
024356 033524 047440 020106
024364 045514 000123
2897 024370 046103 041517 020113 EM152: .ASCIZ /CLOCK REPEATABILITY ERROR/
024376 042522 042520 052101
024404 041101 046111 052111
024412 020131 051105 047522
026420 000122
2898 024422 046123 030525 051040 EM153: _ASCIZ /SLUT RECEIVER STATUS ERROR/
024430 041505 044505 042526
024436 020122 052123 052101
024444 051525 042440 051122
026452 051117 000
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JKDIA.P11
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2900

2901

2902

2903

<904

2905

2906

2907

2908

2909

2910

29N

024455
024462
024470
024476
024504
024510
024516
0246524
024532
024540
024545
024552
024560
024566
024574
024602
024610
024612
024620
024626
024634
024642
024647
024654
024662
024670
024676
024704
024712
026714
024722
024730

024731
024736
024744
024752
024756
024764
024772
025000
025003
025010
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050101
044103

051505
042440
020103
000122
052123
051105
020040

000
051505
042440
020103
000106
052123
051105
020040

000
051505
042440
020103

000
051505
042440
020103

041
042
051
054
042

0414
051

n 7
DNMA( X24.07-563 02-FEB-82 16:42 PAGE 21-11
TERMINAL OUTPUT TEST

LASCIZ /SLU2 RECEIVER STATUS ERRCR/

EM154:

EM155:

EM156:

EM157:

EM160:

EM161:

DHS:

DH6:

DH?7:

DH32:

DH61:

DH72:

.ASCIZ

.ASC1Z

LASCI1Z

.ASCIZ

LASCIZ

LASCI1Z

LASCIZ

.ASCIZ

LASCIZ

LASCIZ

LASCIZ

/INCORRECT RECEIVE COUNT SLU1/

/SLUT DATA COMPARE ERROR IN EXERCISER/

/INCORRECT RECEIVE COUNT SLUZ/

/SLU2 DATA COMPARE ERROR IN EXERCISER/

/TRAP CATCHER/

/TESTH

/TESTH

/VESTA

/TESTA

/TESTA

/TESTA

ERR PC

ERR PC

ERR PC

ERR PC

ERR P(

ERR PC

TCSR/

RCSR/

RBUF/

TBUF/

LKS/

GDADR

BDADR  GDDAT

BDDAT/

SEC 0090
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“JKDIA.PI? 20-0CT-8 16:08 TERMINAL OUTPUT TEST SEQ 0091

025122 040506 051104 020040
025130 041040 040506 051104
025136 020040 (43440 062104
025144 052101 020040 041040
025152 062104 052101 000
2912 025157 126 051505 021524 DHi15: L.ASCIZ /TESTH# ERR PC RCSR GOO0D BAD/
0251646 020040 042440 051122
025172 050040 020103 051040
025200 051503 020122 020040
025206 043440 047517 020106
025214 020040 0410640 062101
025222 000
2913 025223 126 051505 021524 DKH137: L.ASCIZ /TEST#  ERR PC RCSR DATA/
025230 020040 042440 051122
025236 0500640 020103 051040
025244 051503 020122 02004
025252 042040 052101 000101
2974 025260 042524 052123 020043 DH142: .ASCIZ /TESTH  ERR PC GOOD BAD/
025266 020040 051105 020122
025274 041520 020040 047507
025302 042117 020040 020040
02,310 040502 000104
2915 025314 042524 052123 020043 DH152: .ASCIZ /TEST#  ERR PC LKS CNT? CNT2/
025322 020040 051105 020122
025330 041520 020040 045514
025336 020123 020040 020040
025344 047103 030524 020040
025352 020040 047103 031124
025360 00
2916 025361 124 051505 021524 DH155: _ASCIZ /TEST# ERR PC R(SR TRANS  RCV/
025366 020040 042440 051122
025374 050040 020103 051040

025402 051503 020122 020040
025410 052040 040522 051516
025416 020040 051040 053103

2917 025425 126 051505 021524 DH161: L.ASCIZ /TEST# ERR PC R(CSR OLDPC  TRAP ADR/
025432 020040 042440 051122
025440 050040 020103 051040
025446 051503 020122 020040
025456 047440 (42114 041520

025462 020040 052040 040522
025470 020120 042101 000122

2918 025476 005015 045103 042113 M1: LASCIZ  <CR><LF>/CJKDI-A/
025504 026511 000107

2919 025510 200 M2: LASCII  <CRLF>

2921 025512 .EVEN

2922 025512 001104 001016 002764 DTS:  .WORD  STESTN,SERRPC,CTCSR,0
025520 000000

2923 025522 001104 001016 002760 DT6:  .WORD  STESTN,SERRPC,CRCSR,0
025530 000000

2924 025532 001104 001016 002762 DT7:  .WORD  $TESTN,SERRPC,CRBUF,0
025540 000000

2925 025542 001106 001016 002754 DT31:  .WORD  STESTN,SERRPC,TCSR,0
025550 000000 .




CJKDJAQ 11/238_SLU LTC REPR DIAG
CJKDIA.PTY

2926
2927
2928
2929
2930

2931
2932
2933
2934
2935

025552
025560
025562
025570
025572
025600
025602
025610

026320

20-0CT1-81
001104

000001

16:08

001016
001016
001016
001016

001016
001024

001016

002756
002750
002752
002770

001020
001026

002760
000000
002750

001024

002750
000000
002750
000000

B &
CMAL X24.07-563 02-FEB-82 16:42 PAGE 21-13
TERMINAL OUTPUI TEST

DT32:
DT36:
DT37:
DT61:
DT172:

T115:
DT137:
DT142:
DT157:
DT161:

BUF1:
BUFZ:

.WORD
.WORD
.WORD
.WORD
.WORD

. WORD
.WORD
.WORD
.WORD
. WORD
.BLKW

.BLKW
.END

S$STESTN,SERRPC,TBUF,0
$TESTN,SERRPC,RCSR,0
STESTN,SERRPC,RBUF,0
S$TESTN,SERRPC,LKS,0
STESTN,SERRPC,$GDADR, $BDADR,$GDDAT, $BDDAT,0

$TESTN,$ERRPC,CRCSR,$GDDAT,$BDDAT .0
$TESTN,SERRPC,RCSR,$BDDAT, O
$TESTN,SERRPC,$GDDAT,$BDDAT,0
$TESTN,SERRPC,RCSR,XMT(T2,RECCT2,0
S$TESTN,SERRPC,RCSR,OLDPC ,BDVECT,O

200 ;SLUT INPUT BUFFER FOR BLAST TEST
200 2SLU2 INPIT BUFFER FOR BLAST TEST

SEQ 0092



CJKDIAQ *1/238 SuJ L7C KREPR DIAG
JJKDiIALP™Y

ABASE
ACDW)
ACDW?
ACPUOP=
ADDWO
ADDW!
ADDW1
ADDW1
ADDW1
ADDW1
ADDW1
ADDW1
ADDW?
ADDW3
ADDW
ADDW5
ADDW6
ADDW?
ADDWS
ADDW9
ADEV(CT
ADEVM
AENV

"

[ T T A T I TR TR 1]

VB W —=O

L T I O T I O T T [

176590

000000
012416

20-0(7-81 16:08

ODOODODODODODOHDOOODOOOOOD
Bt Ot Bt By B Bt Bt B it Bt Bt Bt Bt Bt Bt it et et

e = —
VW —=O VONOWVIAWND—~O

LTI T T T T T O T O T T T T T O T I T IO { O T T §

N2 =2 2 2 2 L OO OO OOOO

000001
000001

DH161
DH3?2
DHS

O = NON = OV
[0 N N1 ST N1 T N1 VT T ST N )

000030
0

023237

C 8
DNMAC X24.07-563 02-FEB-82 16:42 PAGE 22
SYMBOL TABLE

EM131
EM132
EM133
EM134
EM135
EM136
EM137
EM14
EM1490
EM141
EM142
EM143
EM144
EM145
EM146
EM147
EM15
EM150
EM151
EM152
EM153
EM154
EM155
EM156
EM157
EM16
EM160
EM161
EM17
EM20
EM21
EM22
EM23
EM24
EM25

[elelolelololelololelslele o]
Jar Qs Qs Ghnr Gty G G G P G Qi Guur Ghor ¢

020143

0HHHHEHNT

025476
025510
012414
015664
177772
000240

000140
000200

St
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CkDIAQ 1}/238 L. LTC REPR DIAG DNMAC X24.07-563 02-FEB-82 16:42 PAGE 22-1

CJKDIA.PI 20-0C7-81 16:08 SYMBOL TABLE SEC GUYs
PRS = 000240 TBITVE= 000014 TVECT 002776 SESCAP 001072 SRDCHR 015024
PR6 = 000300 TBLEND 006076 TYPDS = 104405 SETABL 001120 S$RDLIN 015154
FR? = 000340 TBUF 002756 TYPE = 104401 SETEND 001160 $RDSZ = 000010
PS = 177776 TCSR 002754 TYPOC = 104402 SFATAL 001102 SRTNAD 012334
PSW = 177776 TICKER 011716 TYPON = 104404 $FFLG 013532 $SAVR6 013102
PWRVEC= 000024 TKVEC = 000060 TYPOS = 104403 $FILLC 001056 $SCCPE 013114
RBUF 002752 TPSW 003000 UNIQUE 006100 $FILLS 001055 $SETuUP= 000137
RCSR 002750 TPVEC = 000064 WAIT 015576 $GDADR 001020 $STUP = 177777
ROCHR = 104410 TRAPVE= 000034 WAITER 012074 $GDDAT 001024 $SVLAD 013216
ROLIN = 104411 TRTVEC= 000014 WAITIO 011712 $GET42 012312 $SVPC = 000500
RECCT2 012234 TST1 003430 WDONE 005514 $GTSWR 014612 $SWR = 161000
REC2 011762 TST10 004236 WRPSW 012356 $HD = 000003 $SWREG 001122
RESVEC= 000010 TST11 004402 XMIT2 011726 $HIBTS 000500 $SWRMk= 000000
RPSW 002774 TST12 006456 XMTCT2 012232 $ICNT 001004 STESTN 001104
RTCPSW 003014 TST13 004516 XXX 011110 $SILLUP 013076 $7kB 001046
RTCVT 003012 TST14 004610 SAPTHD 000500 $INTAG 001035 $TKS 001044
RVECT 002772 TST15 004670 $SATYC 013312 SITEMB 001014 $STMPO 001060
R6 =2000006 TST16 004730 SATY1 013266 SLF 001076 $TMP1 001062
R7 =%000007 TST17 004770 $SATY3 013274 SLFLG 013531 $TMP2 001064
SLUTIT 006262 TST2 003476 $SATY4 013304 $SLPADR 001006 $TMP3 001066
SLU2IT 007016 TST20 005126 SAUTO8 001034 SLPERR 001010 $TMP4 001070
SLU2RT 004402 1ST21 005310 $BASE 001154 SMADR1 001132 $TN = 000054
STACK = 001100 TST22 005472 $8DADR 001022 SMADRZ 001136 $TP8 001052
START 003016 TST23 005564 $B8DDAT 001026 $MADR3 001142 $TPFLG 001057
STKLMT= 177774 TST24 005626 $CHARC 014064 $MADRS4 001146 $TPS 001050
SWR 001040 TST25 005702 $CKSWR 0145642 SMAIL 001100 STRAP 015326
SWREG 000176 TST26 006100 $CMTAG 001000 SMAMS1 001130 $TRAP2 015350
sw0 = 000001 TST27 006262 $CM3 = 000000 SMAMS?2 001134 $TRP = 000012
sw00 = 000001 TST3 003544 $CM4é = 000005 SMAMS3 001140 $TRPAD 015362
sw01 = 000002 TST30 006430 $CNTLG 015277 SMAMSSL 001144 $TSTM 000504
sw02 = 000004 TST31 006550 $CNTLU 015272 SMBADR 000502 $STSTNM 001002
Sw03 = 000010 TST32 006704 SCPUOP 001126 SMFLG 013530 STTYIN 015262
Sw04 = 000020 TST33 007016 $CRLF 001075 SMNEW 015315 $TYPDS 014316
SWw05 = 000040 TST34 007140 $DBLK 014532 $MSGAD 001114 STYPE 013534
sw06 = 000100 TST35 007260 $DEVCT 001110 $MSGLG 001116 STYPEC 013746
sw07 = 000200 TST3€ 007414 $DEVM 001156 $MSGTY 001100 STYPEX 014066
Sw08 = 000400 TST37 007556 SDOAGN 012332 SMSWR 015304 $TYPOC 014114
Sw09 = 0010090 TST4 003714 $DTBL 014522 sMTYP1 001131 STYPON 014130
swl = 000002 TST40 007676 SENDAD 012322 $MTYP2 001135 $TYPOS 014070
swi0 = 102000 TST41 010014 SENDCT 012270 SMTYP3 001141 SUNIT 001112
sw1il = 004000 TST42 010146 SGNDMG  01234° SMTYP4 001145 SUNITM 000510
swiZ2 = 010000 TST43 010252 SENULL 012335 SNULL 001054 SUSWR 001124
swi3 = 020000 TST44 010376 SENV 001120 SNWTST= 000001 SVECT1 001150
swi4 = 040000 TST4S 010464 SENVM 001121 SOCNT 014312 SVECT2 001152
sSwi5 = 100000 IST46 010572 $EOP 012240 SOMODE 014314 $XOFF = 000023
sw2 = 000004 TST47 010664 SEOPCT 012262 SOVER 013252 $XON = 000021
sw3 = 000010 TSTS 003772 SERFLG 001003 $PASS 001106 $XTSTR 013126
Swé = 000020 TST50 010762 SERMAX 001015 SPASTM 000506 $SGET4= 000000
swS = 000040 T5751 011210 SERROR 012420 SPOWER 013104 SOFILL 014313
sw6 = 000100 TST52 011356 $ERRPC 001016 SPWRDN 012736 . = 026720
sw/7 = 000200 TST53 011474 $ERRTB 001160 SPWRMG 013072 .SERRT 001160
sw8 = 000400 TST6 004032 SERRTY 012602 SPWRUP 013010 .$X = 000500
w9 = 001000 TST7 004072 $ERTTL 001012 $QUES 001074

. ABS. 026720 000 CON RO ABS GBL D
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SEQ 0095

CJKDIAQ 11/238_SLU LTC REPR DIAG
(JKDIA,P11 20~0CT-81 16:08 SYMBOL TABLE

ERRORS DETECTED: O

(JKDIA,CIKDIA=CIKDIA.P11
RUN-TIME: 20 12 .5 SECONDS
RUN-TIME RAT]O: 66/33=1.9
(ORE USED: 22K (43 PAGES)
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